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LuiSo o £h> b Lidly dslisl Joac & claiid veny 8131 Ssle axiuu . diassd dumoyll lyaill

09l i S35 1AL oy einly
:ob bo LSy venv Jpasd ¢liSeisd Debian of Ubuntu Ggwls of pals Lle s 3)
sudo apt install -y python3-venv

L] doglss plasiwl 3932 Ao cliily 08 ol 48 Josll &y us) chgul> Lle pam0 Anel Jis!
‘b LS cd alswa) Jasidl dagdes plasiwl dJ Jawul @ mkdir slse

mkdir environments

cd environments
ob Lo Sy wlldg d edaisl SAI sl ousd Josdl dip clin] 31 elisod
python3.6 -m venv my_env

S HlacoBl 08y (o Jo3l pewddl S ddasNo g 0 033 (S3II Jodl Lsp puwl 9 My_env Cu>
Lo cuif o) .(Python 3.6.3 jlacodl pxiiuy odel JLiall) python -V alaxiwl Bl dde clia>
LS eldes Python 3.7.3 )lao3l pasuiwi

python3.7 -m venv my_env
o Lo &Sy LS )laodl 08) Jalai jesivg <l moun
python -m venv my_env

LI Olghasdl 8 Hlroiwdl ddosll pladl (o ST Sl «Joo)l diu slind Canliall 108l 34815 s,
ol alasiwl la)lghb] (Sl Lillg (91gall el L9 LgiLish venv alB Ll wlakall disles laJol (o wilg

i1 Ao (sgizo Loyl
1s my_env
255l oS
bin include lib 1ib64 pyvenv.cfg share

b 1300 g wls Wlale LB e clegyine wlala) JolSIl Jioll (o Sl Lle chlaloll 03a Joss
dLaliall OhlaooBl @Souidl 8 83l dwylaall 030 Zows 1Ml Jusiidl allas wlalo go ilale laliss
agl] Zlisy Gl dumopdl ppdl pasniwn leg pino O o Sl € g pinal

18



oelibodl Sl (e dlac goylire Bpise 0ol go )lirel) Jesll &y slac]

Olsoydl pebi ddac &)y Zouwd Ll Python Wheels 830l dusoydl dojadl plasiuwl (Sl
€30 J8 d oyl 0ie Jueai Coug Ubuntu 18.04 (8 share sdswll 8 839->g0llg § g )inall 3uaiig
:activate cuySudl cleaiwl pgy SMlg GILI jo3l LUSH Lgolasiuwl

source my_env/bin/activate

ey ol 5500 Ses .(my_env Lialiel b dgcaall) Joasll & @l yolol Iawiw J3clad o3I oo
& oz 189 i 3] Debian Linux oluws GuSiyd (o pasiuallHlawl cuns g Calise JSuiy Gl

1oswsd Geud Jall & eul Wpolgl s O ey «Jls>Yl
(my_env) sammy@sammy:~/environments$

Lis Zolyny 5uinid Loaic dil Gisy Lo dlsdl dadiidl &l o my_env Josll & b &l ode 3353

Al 03 OliSeg Wlslae] pasviuwiwd

oc Ldge pip g python3 e Ldse python alasiwl dshisdl Joaell iy aud cliSa) «i ba>d
plasiwl elde Jo @llin aluall elisal 16 dohiddl Joall i z)Ls Lol Lawlio ll3 azg o) pip3
.pip3 ¢ python3

G30l> o aSWL el zuawy Loo "Hello, World" Jo3l uusyidl Sadail oyl lisi) o3l eliSol
Jesdl i

1303 Lo &4l NAN0 Loguaill oo dio sl
(my_env) sammy@sammy:~/environments$ nano hello.py
1082L 6 by olin Jol d>giaall ) ymall 8390 (8 Sl @3
print("Hello, World!")

O dej boasic Y e CL_)L>‘2L» calall Jaas uis dg Ctrl+X Hbaixdl Lle bhaalb nano jyswell Lgl_ci
aloll ha>

:hello.py (gl Zolyul 3uais ¢liSes (alladl shell ddsual 8392)lg NANO (§3l¢] a2y

(my_env) sammy@sammy:~/environments$ python hello.py
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@8yl dhasoll Lle yglaiw Sl
Hello, World!
2031 385 cuwlw3l slxall 83g2llg Jasll d5 (o Zoysl)

deactivate

s dmardl gLl SLisizd 0Lr 9ials dp e Al lshinll clipdss dngss ol 3
lJWl Jguad)l (8 dusoydl 2)linall (Guddad o9 (§Maidl (3 liSedg clbgwl>

QUS Gl g9zl WliSaud (ool Lle yisl Cayeill o)l o]
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Scikit-learn duSe alasiwl Python (sl dal 381 eled dam duejyles Juadll 1 (6 i
39U 0858 Lle s aiall Caliadll pxiiwiw oS . Hehl daly I3 el Gubail 3151 3] o Lo &Sl 030
Lo 13) Lok 53Jlg sl Olbpas pyg iloglae) duigas olily 83cld 2o -NB L] juaing- Naive Bayes
cla) ey ol 55 3905 elii] 444,55 gl Syt Juadll 156 g 59 13pes ol e ppsll 018
09l dab 3

ggnunll aulhin 2.1
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oo fubaiw G dlelas dayylay A plah dolodl dio¥l Jusiisis dyaid 13> suo g [NOTEDOOKS
bl )Ll Uile Jgmpms Lao ey @il dxbyg Lmmordl Ohardll 0o 80 S Jusuds alsls
Lg>uaiy dumopdll

009 ey an a2l ead Cagll Lle JUPYTEr Gawsyll jall gbsal il (o)l Ziuate zid wliSal
= J3100 a00s calel laoey Jaiiiwg "Try Classic Notebook sadail ) ysell Li>" (§g9 483l @3
Ogiall daly dusopdl 8yanill LS el >3 g «Lleladl Jupyter Notebooks

it slac] d7a.Sq Jupyter Notebooks duswydl Wlyawill jymw Jo> Dloglaall (o 2oy ) 13]
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https://jupyter.org/try
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http://scikit-learn.org/stable/modules/naive_bayes.html
http://scikit-learn.org/stable/
https://wiki.hsoub.com/Python

oelibodl Sl (e dlac goylire Bpise dudyo Al> byghs (a0 ity Laiao sl

Licg ey duolal bl 81338 duslyiddl 3.8 (el din pxiiumiwg guall Lle el Zolip pghi

1380 adl J5 3wy licgmirer LS 1335 13loe &eidi

mkdir cancer-demo

cd cancer-demo
1ol ddl slac I o3 aiiuw
python -m venv cancer-demo
:UnuxLyﬁQgg?éiybuéilagghjguaﬂ%Juﬂ)pﬂl&upu
source cancer-demo/bin/activate
:Windows jgaisg 9 Lol
"cancer-demo/Scripts/activate.bat"

Moo o requirements. txt cale el JM> o «OLuSell 030 (o 83330 Olylaus] pasuiwiuw

el Zlimiww Ll Ohluols llazall Calall 138 33oduwg (& g el

g A Il dmoydl ylawll Caywdiwg «yogaaill jymo 8 requirements. txt caloll Zuigiuw
Lailylauolg sy Ll OluSell spasd

jupyter==1.0.0

scikit-learn==1.0

OlLiSall 0300 Cudiaw @ «posail yyme o Zyiaws Cadall Lle i il Olpuaill Basiaw
W 8L

(cancer-demo) $ pip install -r requirements.txt

138 .cudidl ddoc JlaiSl 3y Jupyter Notebook duoydl colyauid] jyme Joub

(cancer-demo) $ jupyter notebook
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dowg python 3 (ipykernal) ,Luislg new ,3Jl Lle Jag sl 5y sall Jos1s o8 130> Lale ¢l
auSall of 83 >gll st ol ddac ca Lall LBl dylall (16 HoSiww o> o ML Tutorial ewly
LiSoy ol A8 (8 dumop 83 >g slyuiwl dayyb Jo> Ologleall (o ajal) scikit-learn dowoyl

(Juuaanlly 8)Sall 030 a6 Ll Ol (Gaw Lle g3l
import sklearn
:Jl Calally et cly Goladl Caloll 9w ol e

Jupyter ML Tutorial Last Chackpoint: a few saconds ano (autosavad) Logout

In [l]: import sklearn

Ly Golsdl 3 alei 3505 sli) ULl degame go Josll bawiww (i duSal) Lokl 32 3lg

oo Juadll 130 9 g2 Jolsiiw Ll lill degaze

ws3 il Olbyww abygl Jo> dalizne Wloglao ULl (o degomall 030 (Houaiy .
569 Liky 485l gl) dJl> 569 Lle (Sgizi LaS 83p0> Al dis CilS £lgw alyg3l lasiuad L) d5LoRL
di>buog diogeig daguig mygll Hhad Cauai 1o «pyg JSJ 8jue 30 (e Wleglao (yousis LeS «(Lo)g

LS 13 Lagd §aiill Jnid ayell loglas alsimiuwl diludl lilul degame (ro Ul plat) 53505 Giviaw
AKWESPA STVERPI |

Lo lio zusad) slyiwl LiSads Lshisl daline olily Wlegamo SCikit-learn d&use go cubl
el Jead Byblo liky b alasaw)

from sklearn.datasets import load_breast_cancer

data = load_breast_cancer()

NCRV SRV S PE PRSI Joos Jto Jaspw $3lly (osbly 8 (1SS data Jiozw

J9Jtﬂ|dAdﬂi9&9'LW9°LM|34L3A‘Jh—wonibéiustgbﬁ5ﬁ+hLJﬁfaﬁeaéhhnkvxeCAFv;anb

&ﬁdgdlpyﬂb.feature_namescubggﬂgbu»b.targetuﬂ&ggdlﬁyﬂb‘target_names&dtazﬂ
.data Wliwall 03g)
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https://scikit-learn.org/stable/modules/generated/sklearn.datasets.load_breast_cancer.html
https://scikit-learn.org/stable/modules/generated/sklearn.datasets.load_breast_cancer.html
https://scikit-learn.org/stable/modules/generated/sklearn.datasets.load_breast_cancer.html
https://academy.hsoub.com/programming/python/%D9%83%D9%8A%D9%81%D9%8A%D8%A9-%D8%A7%D8%B3%D8%AA%D9%8A%D8%B1%D8%A7%D8%AF-%D8%A7%D9%84%D9%88%D8%AD%D8%AF%D8%A7%D8%AA-%D9%81%D9%8A-%D8%A8%D8%A7%D9%8A%D8%AB%D9%88%D9%86-3-r744/
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dudyo Al> byghs s Luy Caias clo

LS ULl b Cauns dage paslas Wil 030 Jied 31 «atuas S oo Lage 1532 wiizell 385

o9 «(benign tumor s> ayg of Malignant tumor sl a)9) ayell dlsy sl ddoc 6 Lacluiuw

doauaiig 038 Cauaig aysll po> b 030 Lslly dcgane b8 dlaioall 534:28)l Oiljzoll

sicwly loglaall 03 (yo dage dcgame (S Bamns Wlpsio b 3oy dowds Caloll (6 ¢l

# bl PAZSY

label_names = data['target_names']

labels = data['target']

feature_names = data['feature_names']

features = data['data']

oo LAgd Ly duolsdl lilul degame 0gdly «iloglaall (o degamo JJS)

=Ll L)

L) Camsol (y3lg

Lailyze slasaly WUl 00 dise gl delb Jio hiuall Jsio delib Jo (0 Laels Bl ol LBy

# Wl Jle gy
print(label_names)

print(labels[0])

print(feature_names[0])

print(features[0])

In [3]:  # Look at our data
print(label_names)
print(labels[0])

1352 lgasdy

AL 2Ll (s piund dovsuo diyybay 8rapill 030 CHhas o)

print(feature names[0])

print(features[0])

[ 'malignant’ 'benign']

0

mean radius

[ .79900000e+01
.18400000e-01
.41900000e-01
.58900000e+00
.37300000e-02
.53800000e+01
.62200000e-01
.60100000e-01

W@ R e

O e w B

.03800000e+01
.77600000e-01
.87100000e~-02
+33400000e+02
.58700000e-02
.73300000e+01
.65600000e~-01
.18900000e-01)

L O e L

-22800000e+02
-00100000e-01
.09500000e+00
.39500000e-03
-00300000e-02
-84600000e+02
.11900000e-01

L O N

.00100000e+03
.47100000e-01
.05300000e-01
.30400000e-02
.19300000e-03
.01900000e+03
.65400000e-01

a0l Ol 1) benign swe>g Malignant Caus GeSiuw by dwoladl CBluodl clowl ol 8)guall (ro a>N
1 @81 Jiedg dies Lol O @8))1 Jial 3] 1 91 0 Lo (g &5 iy dbaipally (13405 of Uis> Lo] (pgSums
.1.79900000+01 6ykaé Caai Csss pyg ot Lina) 535>gall ilil) JUo Jol 08 13 8age> Lol
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oelibodl Sl (e dlac goylire Bpise dudyo Al> byghs (a0 ity Laiao sl

iliao el Ll go Joall I 1 pbiall &g 8 oo a5 Wil Jpao 00 LasTs smy 039

A ales G5B Alaiwl

13_g) ccatadll £lol 835> (3o parit) cldg b pall yué UL Lle Z3gaill Hlas! LSl elde Gau
Lo deganog il degamo s (985 Camy g90ill sl Jid aliz Gl &l Lol ULl e

ol dd>ye st T390l e b9 Lyss J_>i oo wydil) duaraoll degazell plasuiwl gudniws

3}59;&ﬁéyﬂLH_i)LgbﬂJ&_zuabuﬂ|i&gnquﬂlLAsg93A1U|Cbg&d”)btlﬂégja*aeu>deuuuuCL+>
WGgdg z3gail slol oye disd)

ﬁduﬁn»%ng.train_test_split()L;AjéLHAScikit—learn&41QJI6AJ‘£L1H¢Fuud

: L] o) Lgodiuiaws &5 (pog Bl DIl 038 3ygiui Ol az ;g Oleganall 03g) Wil

from sklearn.model_selection import train_test_split
# bl R}

train, test, train_labels, test_labels = train_test_split(features,
labels, test _size=0.33, random_state=42)

O3l Lo Lillie 6 .test_size b wgll alaniwl ddlgire d iyl UL I 03 A b
oo wisiall ej sl JEidws o3l UL dcgamo (o %33 Jied test ,LusN daumie dcgomo
bl clow Ol 2iall o L)SJ me :Jg_n.> Load WS .train u)ad) duasaswll degoxall OLLI

Jo3l liz3gas (31 Ljad) .test_labelsg train_labels (i .yaill o )las Y

130 (8 .can b9 858 bl b Lgio z3g05 JSg .43 pISLaJ auasall Zi3ledl (o sasll Jlin
&yﬁﬂgb(gﬁg:aﬁguﬂlgiy_ulﬂlpLep(?éIi_g?;big)L£(§);jékq_uqa_yﬁﬂ9>LA£}§ﬁ4wxLLMmﬂl
»b

lasy (GaussianNB() dlal alasiwl Zigeidl ¢,185 @3 GaussianB duowopll 83>l 3)gimiw .igi
ignb . Fit() Al alasiwl OLLl go dioeds JY> (o Z3g0ill )25

from sklearn.naive_bayes import GaussianNB
# Liolds iadl dogs
gnb = GaussianNB()

# Gilodl oy
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http://scikit-learn.org/stable/modules/naive_bayes.html

oelibodl <3l (e didac gy)line Byine dudyo Al> byghs s Luy Caias clo

model = gnb.fit(train, train_labels)

I e U3 ddiiwg lusN dawamall dcgomall Lo §uil) doasiwiw Z3g-aill )35 ol asy
olisN &aazall degozall G OBy du JS) Olgudl (o dcgommo 3u2iw willg predict () A3
Zigaill 132 033> Lo 0gd) Lilgus guai @

bl giblg test )lusN duanasall Ol degoxo go predict () dlal pasiwl

# oledgdl ely
preds = gnb.predict(test)
print(preds)

A B 5yt o 134835 izmopll Byaial) Wil sie

# IniTlallFe our ciassirier
gnb = GaussianNB()

# Train our classifier
model = gnb.fit(train, train labels)

In [6]: # Make predictions
preds = gnb.predict(test)
print|preds

[LO0D1100011101010111011011111101111110
1011011111111001111100110011100110010
1111110110000011111111001001001110110
1100011100110100110001110110010110100
11111110061211111111111100110211011111100
011

Caia) dedgiall pudll Jiod Caus o1 of 0 Lol eudll &S ddgaune predict () @lall wolel . gy Loss

(3> Al i) iyl

aLadll 130 <ol 839> (530 pial) [Liledel Lle il ol asy (y3lg

il BloM a3l Olas il d9ga o alasiwl Lisdges) d_2bgiall qudll d_bs o}

dldl plasi_wb predsg test_labels ;uidge wanll dSjlge JN5> o el Jdg Loo—J I
alaall ddy sasad elldg Scikit-learn duSell deyldl accuracy score()

from sklearn.metrics import accuracy_score
# Bl sy

print(accuracy_score(test_labels, preds))

Wl Ll sy
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In [7]: from sklearn.metrics import accuracy_score

# Evaluate accuracy
print (accuracy score(test_labels, preds)

0.94148%9361702

5l Ll 3308 Cataadll ) iy 13ng %9415 duuiy (3485 NB Catuadll lé Ldouiidl 16 5y LeS

O O 2Ll 03 yuid LaS 428 coBLadl (o %94.15 dunis 13uo> of L ayll HS 13] Layd gusuall

2ol Canal baus Olubge b 8o 30 (o digSall Wiliiell degoxo

abass 22 3lg A3 el Byl Gl aloc (8 aazny Al g8l ilian slis] 8 uonnd 38 0585 e
Sxapiadl (o Algill Al 925 O ez 3] ccalall Llel 6 shuiwdl ldac fuaz udgy duzmoydl 8yaill

from
from
from

from

sklearn.
sklearn.
sklearn.

sklearn.

# oUll Jeass

data

yiciall 03g) A liols dusoydl

datasets import load_breast_cancer
model_selection import train_test_split
naive_bayes import GaussianNB

metrics import accuracy_score

= load_breast_cancer()

# olldl @das

label_names

data[ 'target_names']

labels = data['target']

feature_names

= data['feature_names']

features = data['data']

# olll e gyl

print(label_names)

print('Class label = ', labels[0])

print(feature_names)

print(features[0])

# oL

o

train, test, train_labels, test_labels = train_test_split(features,
labels, test_size=0.33, random_state=42)

# ol 26

gnb = GaussianNB()
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# Giodl oy

model = gnb.fit(train, train_labels)

preds = gnb.predict(test)
print(preds)

# a8l (Q.A_A.QJ
print(accuracy_score(test_labels, preds))

3.0 d0)23 13Sg 2 woiy Caiuadll Joc (umig cduzopdl 8rauidl Lle Jasgll JloS] elilSaly ;3o
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https://research.google/teams/brain/
https://www.tensorflow.org/
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Semmilly BluoYly Oliwally slas g Caysill Jio A3l alss esdlaog ildbans clolall Lo yibiw
daylialy TensorFlow d4uSey of i tatll §pasll latll Jlaoe 6 d8)luw ) Zlind o) lag) asélly
role £33 3ol louais 13wz Juadll 130 wgdo
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Licgpuinay duolsdl ol 8153 dushiddl 3.8 Hebl dip pasiuuiuwg awall Lle Coyaill Zoliy ok
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mkdir tensorflow-demo

cd tensorflow-demo
1ol dll clisd AW yolodl Aaiiuw
python -m venv tensorflow-demo
rdpsl o3l il bdnisd Linux GuSow o8 QW1 o3l @5 (o9
source tensorflow-demo/bin/activate
il yol (9Sud WINdOWs joaing 9 Lol
"tensorflow-demo/Scripts/activate.bat"
Lgoasiinn Gl WluSell Eudiw el ag)

Mo o requirements. txt cale L] JY5 o «OLuSall 032 (o 83330 Oblauwo| pasuiuwiuw
ol y oo b Calall zuias 13 lgd] Zlisviw il WhlawBly ldhiall Calall 130 335w & g pinall
Laihlausly oy Ll coluSall sy ey Al jawdl Canalg

keras==2.6.0
numpy==1.19.5
Pillow==8.4.0
scikit-learn==1.0
scipy==1.7.1
sklearn==0.0

tensorflow==2.6.0
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(tensorflow-demo) $ pip install -r requirements.txt
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oM LSl slyuiwd dusord] yaw3l 030 Canatwg VS code Jio

import tensorflow as tf
import numpy as np
from sklearn.preprocessing import OneHotEncoder

from PIL import Image

tf.compat.v1.disable_v2_behavior()
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http://yann.lecun.com/exdb/mnist/

oelibodl Sl (e dlac goylire Bpise sl by 938 )l e Coy2ill dunac dSud sliy

@39 MNIST ULy dcgamo sluiwd elalo) dumoyl lyinill (o sawil 030 Lasl Condiwg

oyl Jo3l 1> Ll lagowidig Lglyd @3 (g Tensorflow o d>liall cuya il jo o )Lzl

#Howydl obly sLas

mnist = tf.keras.datasets.mnist

#ylasdly oyl wlbly 3o

(x_train, y_train), (x_test, y_test) = mnist.load_data()
#iylasdlg eyl obly sae dclb

print (len(x_train))

print (len(x_test))

#1 9 0 o olldl e

x_train, x_test = x_train / 255.0, x_test / 255.0
#lozdl oY1 30yl

y_train = [[1] for 1 in y_train]

y_test = [[1] for 1 in y_test]

enc = OneHotEncoder(sparse=True)

enc.fit(y_train)

y_train = enc.transform(y_train)

y_test = enc.transform(y_test)

60000) u)ys-dl 8a>lg (uicgoxos L lgowwndig OULI Jopw mnist. load data dJlal pgas

29—all wlevaidl Juiod il $331 oyl pxswins LU bely aicg
o)l Juiosd dOLS eud (o GHeSs vector lg=io One-Hot Encoding kil o3l juoyidl pasiuw) Cus
Audiuall ol duod)ll

08y IS 8aslg oud 10 Lle Sgimmw dxiall Hl8 19 10 &0 alE)31 Jutod) duowaine Libluol ;3 [iasg

)l AL audan LaS dnzall dgall 130 6 @8yl Jetad) wldg .1 dagill Rudg) esdll 030 (s3] siaady .00
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3 @d)l Jiagen daiell 16 W3 3 Guradll o6 1 dagdll 3929
784 o0 1D dxiiall 9 lgingans bude caz i «JunSy 28X28 paxou ()9S5 Lidlg dulall )guall Juiaidg
Zohiss aud b Wdg > Y yguall JSuinkw Gilly oMl 03 (y3siang .28 X28 Uiy 75U g« Juwo
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https://machinelearningmastery.com/why-one-hot-encode-data-in-machine-learning/
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n_input = 784 # input layer (28x28 pixels)
n_hidden1
n_hidden2
n_hidden3
n_output = 10 # output layer (0-9 digits)

512 # 1st hidden layer
256 # 2nd hidden layer
128 # 3rd hidden layer

I)T.olS ;Luog.)
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Lo Z.)l_CQ (daxall wladall 3oy Deep Neural Network dérasll dusas)l dSuidl zdlauas badyg
GolS yit Lot §a>lg e G 3929 ) dunbdl dupaall a1l gllain (9 denbudll dalS 52
DUl (30 i) Lo demb ol duaall Al Colac 13] Gybaig 33250 dsinn ol 3929 LIl diges
Lol o 089 L3583 o) ol duas)l dSinl) GSey Lagbg (ST Josted Gle 5285 Ol aud )il
?u@Lwthﬁﬁw&oob@wﬁwxﬁwﬂhmwmogM&MLQMﬂ@MM
dogall Guail eguali sic elldg bl Olasgll o xSl saall Ol dodawdl duasll &Sl lgudas

LIt 59y 3] Overfitting Laywaxil by 8 A 4>lgi bo B dusdawdl dnas)l lSuidl ol LS
ole LSl il ddyzall pros g () lgiSlg (gisalis Gl gyadl ULy hes g Guwlwll dSuill
o Lgil 3] (g yi ST ddon)l duam)l OSidl Alasiwl 99 8 amll 52 1309 B9l UL
ole Olall pleiy AWl daiad)l ULl dde3l ds 280l UL Gu 83 >all 833 2iall ladal)
8)Sall puasig pleidl Gl dSuinl )33 3323 Lo degisio Olbgiumo

.Hyperparameters dsjlall cla_wgll o Lo lgayyei oy ol duwasl dSuill ()53 ol (og
Gl b daSlall clawoll eud Jiuwduw w2l ddac bl lgoud oo il olall clawgll LuSe led
Aulosll Jlgb Lginiiuwg

:elalo 6 4Ll erdlly Colyzgioll siwl
learning_rate = 1e-4
n_iterations = 1000

batch_size = 128
dropout = 0.5
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03 255 3] «aladll Ailoc (o Bgdas LS 6 slawgll Jyaei sae Learning Rate aledl Jass Jio)

3 & g00% Nl ladall Gligl i Sl puc y950 delac JS 3048 vnyail) Laanshy BgSo coslaasl

sela O Q3S oSy S «depuny By Ol gaiyell el Jazal (Soy s Blusll Julst) dglono (o9
B0 JS 28 lginasd sue Sliell euall

2ing syl dghas Lle bygro Wihe sac JI Number Of Iterations o))<l sac zdlaas juin
dropout yusiall Jtesg LaS bgdas JS 8 Lgosiiws Gl )il dlisl 5a2) Batch Size dedsll oo
LSlgill ddall 6 dropout sy siell pasiwiwg Wlgiic Olasgll (o Lasy oxic L3 S gusgall
Aelapan 139 iy Bghas IS (56 Lgio Galontl) %50 iy Ilais| lasgll o 839 JS clac) dsasuall
.Overfitting yauaxil b)s dSuiw joab v Ll

cLiy o0 AW B9 banllg elasll dlac Lle yi5hn (il daSlall clawglly dmas)l LS &y 531 Lsas
TensorFlow duSe Jd> (o il labe Jie dSuuill

0305 TensorFlow dusSe Js> o (bl Gily hlase Jio dSuidl slac] o W 23 LuSuds <l
ol LArray ddgéa_.anll iy dgyliine ULy 4y g0 tensor ga TensorFlow duse) uwlwdl aggaally
(Jsu_ll ddec ye dSwid) Gl blasall yuc 0)9)0 Jic ajlsz_jg Gguw yusioll I3 .List daslall

La>3 diosd 3w tensor €9 gdg placeholders gg¢ oo tensors Olusio SN da=n T.x,.,u.ug

e Joi Sl calodl ] ddldl dusoydl o] Candion H3lg

X
Y
keep_prob = tf.compat.vi1.placeholder(tf.float32)

tf.compat.vl.placeholder("float", [None, n_input])

tf.compat.v1.placeholder("float", [None, n_output])

L8>3 Wiwdw il O e a0 Cayeill siic 030356 Livde gy 31 ausgll bagwgll &)
Mcaang (83350 € dunS None doudll Jioiw 3] [None, 7847 JSub paduiminw X pustiol) duuilby
[None, 107 g Y ysiall JSLid gusay sy . JeuusSo 784 aa> 13 youall (40 83350 st dsoS
> pxswiwg A laixe Bliol 10 3>g 8o A silll Wlagaill o 335w yut 133 None Jioiwg
€95 O dexiwg (dropout Jaswe 9 pS>ill placeholders gg5 oo keep_prob tensor yusiel
Sl ,J_»Lo 2L &9 o Dusio digS (1o 2.» cJrasil) ,J;Lra €95 Vo Dusio dex) ell3g placeholders
0.5 d oyl dropout sbuw] axe cgyadl tensor Luas alasviwl sy WY cllyg .immutable variable
1.0 douslb dropout sliw] aic )lus3l tensor yuaig
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A2l 048 (o Fo0 Aol ey eoaliwd Zlisiw U Wbias values joull audy dedll (e uad Gillg

aSaidl Jlgd Jsdi (56 pxduiudian 3| (Lgro L8Nl pladl dloy dSuidl Tasiw S o3l o exdll 030g
lasgll G 3Lail b9d J1d Gilly csmasll

Ldo3l oyl )l a>d .0 dagdlly B> lghus LSy wgyaidl dplac il @udll Guansd )lraiwd [laig
ghiiall o bl GIlaisdl g jgill pasiwing Z3goill dilgill 4831 e 34 3505 Ll g 8ol (9
2l (o Guiyd HeeSy Cusy woladall (g dlguine oub adei) Truncated normal distribution
A alize 2UnsT lgnig) llg ald (piline (939 oS imsben of Galzal ool o] Jaasill o lgiSaty i
13st0 G z 390l elaiy Ol (audiun déylall 03

aule Joss s3I Lialo) &l dxmopdl slaw8l 030 Caudivw oy3lg

weights = {
'w1': tf.Variable(tf.random.truncated_normal([n_input,
n_hidden1], stddev=0.1)),
'w2': tf.Variable(tf.random.truncated_normal([n_hidden1,
n_hidden2], stddev=0.1)),
'w3': tf.Variable(tf.random.truncated_normal([n_hidden2,
n_hidden3], stddev=0.1)),
'out': tf.Variable(tf.random.truncated_normal([n_hidden3,

n_output], stddev=0.1)),
}

Aol Jsluall tensors gues b olomd) sy il dasd prsiuiuw (Bias juill duuidl
ousolg 8 0bjects oo Wl sl tensors & wozg Oyl Hidiwg Hliidl (8 dasl ol GILilg
daidy puoidl Canyad) g adde Jas sl Calal) &l 8pamill ol .lgd] Jowosll dggud Dictionary

biases = {
'b1"': tf.Variable(tf.constant(0.1, shape=[n_hidden1])),
'b2': tf.Variable(tf.constant(0.1, shape=[n_hidden2])),
'b3': tf.Variable(tf.constant(0.1, shape=[n_hidden3])),
'out': tf.Variable(tf.constant(0.1, shape=[n_output]))

dsyall tensors go Joleiiw oidl ldasgll Cayyes Jds> (o dusasll 4 ill wlab 3a> (3lg
‘e Josi Sl Caloll dymoydl 8apiall 030 Casdly Al
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layer_1 = tf.add(tf.matmul(X, weights['w1']), biases['b1'])
layer_2 = tf.add(tf.matmul(layer_1, weights['w2']), biases['b2'])
layer_3 = tf.add(tf.matmul(layer_2, weights['w3']), biases['b3'])

layer_drop = tf.nn.dropout(layer_3, keep_prob)
output_layer = tf.matmul(layer_3, weights['out']) + biases['out']

Al dagall Olyl Gleg Lt il dadall @5 Gle dgiuanll o didac drbdo diib JS daitu
0.5 dauslly dropout oy widl ddac gilbiw by >3l dyasall dadall 8 .audll 03 g) 3ol Lladwg
Lo yoJl Keep_prob yusiel

A1) Bl ) LasBlg g 2y Ll 8)lusdl Al 33355 Lo ikl bzl cly 8 8353 selasl
e—wb S g)=0lly Joint Antropy o9& TensorFlow dow ydl duSall 8 &)Ll
aisaily Oli sl o JSI Gedloisdl Gumyje il u §yall 3353 Sl g ag J0g-10SS Jouull Hlads
alasil 2o g Jliall Capuaill sic Jlg>31 Juadl 6 clig 0 ¢yiiall gyl dowd HeSs ol Saug
Lolod &)Lzl
8yl Ay o Wl Juléi) lgoasiumios il cduwlioll Guuusil duoj)les HLasl (I lAS g lisiw
o Il Lis3l sl Gle g tall dailis disyb g omyaidll Hlass 3l Guusd dulass didasll 030 Gomds
Ll Gkl oladdl 6 zHadl Jsb Lle dy)lySs wlghas 3lssl Jés

Lzmopdl duSall 6 & ddndll Gyl Hlaso Bl Guwsd Olwyylasd Ll o a2l Wliag
Lle aaiey Al 1 Gl duojylgs Juadll 130 (58 pasuuuiuw Ll 3] . TensorFlow
el & dac gy W39 Momentum &Syl duaS ol @il plaziwly Gz)yadl Hlass 3l Guuwss duloc
& sl L) (538 Lao oty aill (8 ¢ls alaiwly «wolz o) 8)iS) 2504 bawgio Olws S5 (10
e Joi Sl calal $rauill 030 Candiumg

cross_entropy = tf.reduce_mean(
tf.nn.softmax_cross_entropy_with_logits(
labels=Y, logits=output_layer
))

train_step = tf.compat.vl.train.AdamOptimizer(1e-
4).minimize(cross_entropy)

Jluw)) oo &l g dasllg TensorFlow &z ydl duiSall Alasiiwl Laluig dSuwill o3l Lis Lisie
3 al Joally Bud Cualed CilS o) Lowd Gasall by lis| &5 (o «lgw)yai) Gilull babhsell e bl
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https://www.tensorflow.org/api_docs/python/tf/train/AdamOptimizer
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correct_pred = tf.equal(tf.argmax(output_layer, 1), tf.argmax(Y, 1))

accuracy = tf.reduce_mean(tf.cast(correct_pred, tf.float32))
Mad ellsg Lgsz.;y o il yoall o djlgall right pred ydsiell (8 arg max dlsl pssdwiw
Aol Jie gl 03 85le) equal dJIdl assciwiuwg Y Wlawuailg output _layer olgudl doys)
Jo—axl) lowgiadl Oluwsd ¢lldg Float g el dedlall ode Jrgad ¢l sy liSayg .duildgy oud (o dalgo
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‘e Jasi Sl Caloll 8yauill 0an Causl

init tf.compat.vl.global_variables_initializer()

sess tf.compat.v1.Session()

sess.run(init)
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# Sk olkis Lle coyadl
for i in range(n_iterations):
startbatch = (i*batch_size) % len(x_train)

endbatch = ((i+1)*batch_size) % len(x_train)

batch_x = np.array(x_train[startbatch:endbatch])
batch_x = batch_x.reshape(batch_size, -1)
batch_y = y_train[startbatch:endbatch].toarray()

if batch_x.shape != (128, 784):
continue
sess.run(train_step, feed_dict={
X: batch_x, Y: (batch_y), keep_prob: dropout
})
# bys0o deds IS0 @Bully dylusdl dcld
if 1 % 100 == 0:
minibatch_loss, minibatch_accuracy = sess.run(
[cross_entropy, accuracyl],
feed_dict={X: batch_x, Y: batch_y, keep_prob: 1.0}
)
print(
"Iteration",
str(i),
"\t| Loss =",
str(minibatch_loss),
"\t| Accuracy =",
str(minibatch_accuracy)

)

i Al e yguall (0 Bysiio degane lgsd Loyl Gl a3 Bgkas JS) y900 delac 100 sy
el 53 831 83L59 8)Lunl Ja2o (olasil lis g8g5 31 iuig .ded sl el d8llg &) lusdl Al gl
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oelibodl 53l e dulas gyl byine sl basny dygiSo aldT Ll Coyaill dsnc e £l
J—8 dalisoll dlioBl (o 2ac dygy Al Zlowndly il ddac puusd Wlldg (loyae G900 JS Jlw)l
gl Egimd

b dla_ini Olasgll guox Ol (o 35Ul wllsg Keep_prob siziell dropout s Jaes Jio 1.0 desdll
Slas 3l dloc

‘el Josi Sl Calol dmoydl 8raill 030 Casl

# 28%28 g JS Job dnlsl olgmusS slasdl joo slacl
x_test = x_test.reshape(-1,784)

test_accuracy = sess.run(accuracy, feed_dict={X: x_test, Y:
y_test.toarray(), keep_prob: 1.0})

print("\nAccuracy on test set:", test_accuracy)

Al sy dugiSall ALY Ll Loy ol (8 duwnel LuSuis 485 (gaw 8y Lol J2uiiw 3o
Ade Jo2i 3l main.py calall 8 Wlyueil Jhasiwg

Anopdl bpiniil Suiit) diylall o9l (23 I poYl 365
(tensorflow-demo) $ python main.py
rdy3yall @81y 8yl 255 b Calisg o) (Sans «oly Lol dgiline dais (syian

Iteration 0 | Loss = 3.67079 | Accuracy = 0.140625

Iteration 100 | Loss = 0.492122 | Accuracy = 0.84375
Iteration 200 | Loss = 0.421595 | Accuracy = 0.882812
Iteration 300 | Loss = 0.307726 | Accuracy = 0.921875
Iteration 400 | Loss = 0.392948 | Accuracy = 0.882812
Iteration 500 | Loss = 0.371461 | Accuracy = 0.90625
Iteration 600 | Loss = 0.378425 | Accuracy = 0.882812
Iteration 700 | Loss = 0.338605 | Accuracy = 0.914062
Iteration 800 | Loss = 0.379697 | Accuracy = 0.875

Iteration 900 | Loss = 0.444303 | Accuracy = 0.90625

Accuracy on test set: 0.9206

shyperparameters &5l sl wgll s 15U Jo> 2jpall d9y20) ol lizgai 483 (s dglxolg

x> 1359 .Dropout Threshold o ywill dicg pleil Jigo Lle GuSeioll oyl )Las3 W yuss LS
o9 Olasgl sace yu i3 S LSy WS abasall e joxall Wl 33cg Alio¥l oS o6 Houall (o dadall
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oelibodl Sl (e dlac goylire Bpise sl by 938 )l e Coy2ill dunac dSud sliy

ol duaall Al diy )35iw oS (5] g lgundi dpaxall Wlddall sac iy didsall Wil
lgsduasiy of dibs 83Uy clow Z3gaill

1518 Ly duols 890 e puisimd ol Jazy &giSoll youall Lle 13y Loy2i dSuill ol (o aSlillg
Dlog ) )30 Sl plasiwl AiSay «ilez o youo plasiwl b éyis Glxall Uilgz Lle Jass s
o .05y @8y 53 JuuSs 28x28 slayhy 8ygu0 <linip

Ao ) Lalisly (dadpall colalall (s oz of cusll zauaie (o lghid lgsle bhausl) 8yguall J3i
main.py ca_lall ,lg 8 o sl @f (8rauidl 6 lgawl it of test_image.png auwl il 35T) & g puivoll
Ll s OgiSell @8l ) L3l 8y 900 Juesid GIWI ooyl Hlawdl 132

img = np.array(Image.open("test_image.png").convert('L"')).ravel()

Cau> 4D sleyll dycly dégann Jio )luindl 890 JR3 Image yguall diSe (o open dlal o)

S Jatodll Gans Ganad 13 5SJg cdudlaidl LIl d8Ls3l RGB duwussyll sl lo)81 Olgid e (Sgins
Zlisiww U3 TensorFlow d eyl diSall alaiwl OUlul degane (o belyill Ak Lyl olio bl

Agoplgadl 6 oliraiely Gauw SN Grasid] 2o rguall 030 Gpuaid asnling) 49U plgall Gaszy plial
lgiians 8359 doloy (g 85 | 4D RGBA Jyied Julét) L bapawgll 2o convert Al pxiiuiun

d9gaa0ll dyguui) ravel ediwiuwg NUMPY ddgaran dud e

Byoll 030 Sy «ddsludl ddyplall i duadadl Jutins LiSas (8yguall loglae dui Likous of Ay o3I
Wl Casiaill dcldog 8yguall L3 Calal) AWl byauil] Capdiuwg lisN) baad 63519 8)gu0 Juwyiw

prediction = sess.run(tf.argmax(output_layer, 1), feed_dict={X:
[imgl})

print ("Prediction for test image:", np.squeeze(prediction))

4998 a0l L) 1303580 Busows 133 ayed) prediction ysiall Lle np. squeeze Al eiuwds

14 03)S yguall Lo cadyei 48 dunasll duidl Ol Wl o Zusimwg
Prediction for test image: 4

AL5)31 2o dgyLiniall AL8)BI Jto 13 4ins i ST y9 0 plasiwly Al ) Lasl duloc a3 31 lisoy

Lg=120 (530 Gwlidg d8y20) Wlldg (dibols Li> gl Guw asg DgiSe plé)l ol (5> Yl
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https://academy.hsoub.com/uploads/monthly_2021_11/test_image.png.b6afabca73b1b24bfb655dc677d5c0b9.png
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lix 3905 Jutad (po Jucadl Yaias colgimall Jutad 8yamall sty &l dyiy olSuidl ells pasiunds .dyardds
oo aiall 8ely 8 eliSayg 839 784 (po )5S0 3>lg dnio (28 NSl JS (S5ud L3908 Of 31« galuadl
ole @il @t JBaS Gl &l Bhodl e g3l i Sall (rawyll @ Bgal
&9g0
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https://github.com/drbasselALKHATIB/Recognize-Handwritten-Numbers-MNIST
https://github.com/drbasselALKHATIB/Recognize-Handwritten-Numbers-MNIST
https://academy.hsoub.com/applications/core/interface/file/attachment.php?id=81957
http://www.cs.utoronto.ca/~kriz/cifar.html
http://ufldl.stanford.edu/housenumbers/
http://ufldl.stanford.edu/housenumbers/
http://yann.lecun.com/exdb/mnist/
https://www.tensorflow.org/api_docs/python/tf/nn/convolution
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https://en.wikipedia.org/wiki/Atari_Games
https://ar.wikipedia.org/wiki/%D8%A2%D8%AA%D8%A7%D8%B1%D9%8A
https://ar.wikipedia.org/wiki/%D9%86%D8%B8%D8%B1%D9%8A%D8%A9_%D8%A7%D9%84%D8%AA%D8%AD%D9%83%D9%85
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https://academy.hsoub.com/devops/linux/%D9%83%D9%8A%D9%81%D9%8A%D8%A9-%D8%AA%D9%87%D9%8A%D8%A6%D8%A9-%D8%AA%D8%B7%D8%A8%D9%8A%D9%82-%D8%A7%D9%84%D9%85%D9%81%D9%83%D8%B1%D8%A9-jupyter-notebook-%D9%84%D9%84%D8%B9%D9%85%D9%84-%D9%85%D8%B9-%D9%84%D8%BA%D8%A9-%D8%A7%D9%84%D8%A8%D8%B1%D9%85%D8%AC%D8%A9-python-3-r388/
https://docs.python.org/3/library/venv.html
https://pypi.org/project/pip/
http://www.numpy.org/
https://www.tensorflow.org/
https://openai.com/
https://gym.openai.com/

oelibodl Sl (e dlac goylire Bpise Ol Caall gag) clio

09 1Ay Jasll ead gl Lle o)l yyouall @890) Olailly o)l Fhuato i wliSal
= J3100 a00s calel laoey Jauiuwg "Try Classic Notebook adail ) ysell Li>" (599 483l @3
OenWl daly dusoydl 8pandll LUSI cluwdi jg=>5 g «leladll Jupyter Notebooks

it slac] drasSq Jupyter Notebooks duswoydl colhyauill jxe Jo=> Dlogloall (3o 2ies ug) 13]
toke £33 liSasd (gl braud LLSI dwoll

o OSets Of Jib Lislaley BlaioM Joac dolue sLinid wldg wnlyasdl pan contt) dof zliniu
Licg pinay duoladl bl 8153 dpslyiddl 3.8 Honl diy paiumimwg esall Lle Cay2ill ol ok

1380 dd] J3aiwg Liegyinay LA 13935 13 ¢ i

mkdir glearning-demo

cd glearning-demo
1oyl didl clisd I o3l Adiiw
python -m venv glearning-demo
:duslyied] &l i Linux GuSid o8 LI xo3l @3 (yog
source glearning-demo/bin/activate
saiuill yol (59Sad Windows joaig d Lol
"glearning-demo/Scripts/activate.bat"

Mo Lo requirements. txt cale L] JM> o «OlLuSell 030 (o 83330 Olylaus] pasuiwiuw
Lad) Zlisiuw Gl OhlawBly ldhiall Caloll 138 33xiwg & g inall
guL;Sdegganeﬂbg.igun)kuuglgﬁyzﬁg‘u09¢uﬂ))>p(?érequirements.txt._ihﬂlaib
‘lgihlauols oy il
tensorflow==2.6.0
numpy==1.19.5

cmake==3.21.4
tf-slim==1.1.0
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https://academy.hsoub.com/devops/linux/%D9%83%D9%8A%D9%81%D9%8A%D8%A9-%D8%AA%D9%87%D9%8A%D8%A6%D8%A9-%D8%AA%D8%B7%D8%A8%D9%8A%D9%82-%D8%A7%D9%84%D9%85%D9%81%D9%83%D8%B1%D8%A9-jupyter-notebook-%D9%84%D9%84%D8%B9%D9%85%D9%84-%D9%85%D8%B9-%D9%84%D8%BA%D8%A9-%D8%A7%D9%84%D8%A8%D8%B1%D9%85%D8%AC%D8%A9-python-3-r388/
https://academy.hsoub.com/devops/linux/%D9%83%D9%8A%D9%81%D9%8A%D8%A9-%D8%AA%D9%87%D9%8A%D8%A6%D8%A9-%D8%AA%D8%B7%D8%A8%D9%8A%D9%82-%D8%A7%D9%84%D9%85%D9%81%D9%83%D8%B1%D8%A9-jupyter-notebook-%D9%84%D9%84%D8%B9%D9%85%D9%84-%D9%85%D8%B9-%D9%84%D8%BA%D8%A9-%D8%A7%D9%84%D8%A8%D8%B1%D9%85%D8%AC%D8%A9-python-3-r388/
https://jupyter.org/try

oelbaodl slS3l (e duloc gl By Ol Caall gag) clio

atari-py==0.2.6
gym==0.19.0
matplotlib==3.5.0
PyVirtualDisplay==2.2
jupyter

keras==2.6.%*

gym[all]
PyVirtualDisplay

3hiy OluSall 036 Calas 03 s pogaaill 1y o Zatiang Calall Gle b (all Wil Ladnin
RN VS
(glearning-demo) $ pip install -r requirements.txt

lisgyiio Gl Josll £ (230l Bnalis (el 03g) Liaets a2

138 il ddoac JWouSl 3y Jupyter Notebook dusoydl colybiill ) oo Joui

(qlearning-demo) $ jupyter notebook

da_ws python 3 (ipykernal) ,Luislg new ;3| Lle ag ally 5y sall Jo>1s 8 130 Lale ¢l
(ol uSoll ol) Ol gl shuiwl & dac caLall o3l &l 6 HoSiw Cus i main —wb

ojMl ool

e gl Sy Hgial 42 8 duzoy 839 Shuswl déyb Jo> Wloglaall o )0l
Juasilly 5,Sall 03s 448 Luidl iy (Guw

5Ll OlSyadl o dei 8 baclue diSe ity Fgl pgis

il Bl dyoa o #

lcurl https://mujoco.org/download/mujoco210-1inux-x86_64.tar.gz --
output mujoco210-1inux-x86_64.tar.gz

Itar -xf mujoco210-1linux-x86_64.tar.gz

import os

dyoall sl le Jay ssbie @LoJH

os.environ[ '"MUJOCO_PY_MUJOCO_PATH'] = "/content/mujoco210"

1oyl WliSall guos Slyuiwly pgés @3
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https://academy.hsoub.com/programming/python/%D9%83%D9%8A%D9%81%D9%8A%D8%A9-%D8%A7%D8%B3%D8%AA%D9%8A%D8%B1%D8%A7%D8%AF-%D8%A7%D9%84%D9%88%D8%AD%D8%AF%D8%A7%D8%AA-%D9%81%D9%8A-%D8%A8%D8%A7%D9%8A%D8%AB%D9%88%D9%86-3-r744/
https://academy.hsoub.com/programming/python/%D9%83%D9%8A%D9%81%D9%8A%D8%A9-%D8%A7%D8%B3%D8%AA%D9%8A%D8%B1%D8%A7%D8%AF-%D8%A7%D9%84%D9%88%D8%AD%D8%AF%D8%A7%D8%AA-%D9%81%D9%8A-%D8%A8%D8%A7%D9%8A%D8%AB%D9%88%D9%86-3-r744/

oelbaodl slS3l (e duloc gl By Ol el Ogig) sl

# Lol oldeall 405

import numpy as np

# oyl olese

import gym

from gym import logger as gymlogger
from gym.wrappers import Monitor

# Gensll @ledl oliss

import tensorflow as tf

import tf_slim

# ologuwyll 456

import matplotlib.pyplot as plt
%matplotlib inline

# Gesll gladl doSe pus 4y Ll
tf.compat.v1.disable_eager_execution()
# bl dsguba @@l alaseiwd dese

from collections import deque, Counter
# olluall 45a

import glob

# ozos-Jss 4

import io

# 64 3wy dSe

import base64

# oy 4Se HTML

from IPython.display import HTML

a3l paziaws .gym. make Al alaxiwl Spacelnvaders-v0 claall e de) &y ¢
Il pasi g Aol 9 dSwell L2831 sa_cddy0aldollld_s ) action_space.n
:ASaall 3l 03a clowl Lle Jouaxll get_action_meanings

# ol Joe dg ang

env = gym.make("SpaceInvaders-v0")
# wSadl Je8Y sac dyles

n_outputs = env.action_space.n
print(n_outputs)

# wSaall 083 clowl dyles

print(env.get_action_meanings())
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eliodl <83l (e dlac gy)line Bpise ol Call gy <l
lgSlowlg duolll 6 &iSonll Jledl sac duaidl Z5U G

6
['NOOP', 'FIRE', 'RIGHT', 'LEFT', 'RIGHTFIRE', 'LEFTFIRE']

reset dealll &) ado¥l digill Al slesiwl Ao cldg ddodl dxalll Aol dclb (ySod

state = env.reset()

plt.imshow(state)

:dJUl delll dislid 8yguo o) Loo
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AWl puid)l su2d Gillg cenv. step duolwdl DIl Gl Losd pxsdiuws
e J2b b asy duell sasdl Al o istate Al o

e asizall OLalBl baod (99 .m0 Jo28 Ge diiyiall d2)al 6 83L3)l o ireward slolSell
S d2y3 (uadd bladl £ gams 5303 dullos Bl 5181S0)l aibasi oo el Load 35Sy <olail

A dsliall oyall geas g acsl i lodic true dosdll 355 :done dalll clgnl dl>

L Lg>pi 59louiing «uslall Ologlaall oy HiNfO loglaall — *
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oelbaodl slS3l (e duloc gl By Ol Caall gag) clio

e 3z Ol Wl Sraiwe dualll Gad dal> (o Jsa05 Gidls AW 8xauid] jue dualll g 2 s
Alasiwly Joeall 3,815 (S35 .Gilaie JSin diSaall diwdl JLed%l 3 >i sample Il )Lins .4 5ga
Oy d el g 3Ll Gagy Lo diSas LKL 2o 833> A L] JLansdl Ll step 41l

.done=true Ml

env.reset()
# ddaxyl 3K
episode_reward = 0
while True:
# Jleae JSag Jeb Hlus
action = env.action_space.sample()
# Jeall ian
# s Al syl
state, reward, done, info = env.step(action)
if (reward>0):
# ja0ll ge 381 BB b 3 el dlb

print(env.get_action_meanings()[action]," ==> ", reward, " ,
(",episode_reward,")" )

# syl sBKal Jeall 3lKa d5Ls)
episode_reward += reward
# dall Ll slas
if done:
# sl B deld
print('Reward: %s' % episode_reward)
break
# dall Sl godll dgles
plt.imshow(state)

plt.show()

i z )5l sSy
FIRE ==> 5.0 ,( 0.0 )
NOOP ==> 5.0 ,( 5.0 )

RIGHTFIRE ==> 10.0 ,( 10.0 )
RIGHT 15.0 ,( 20.0 )
RIGHT 20.0 ,( 35.0)
FIRE ==> 25.0 ,( 55.0 )

1l
1l
\%

1l
1l
\%
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RIGHT ==> 10.0 ,( 80.0 )
RIGHTFIRE ==> 15.0 ,( 90.0 )
Reward: 105.0

:dealll dg>lg s LoS

25
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0 50 100 150

83} 13 g (dumasll el O Yo a3 (yeSiuw willg) dxlll ygua) ddgl dallao clyz] Ll zlio
lgade dadlaall Oldac Gas 3iide dxalll 8ygu0 (o algll £jadl glaxis Gallg dll Al

def preprocess_state(state):

img state[25:201:2, ::2]

img

color = np.array([210, 164, 74]).mean()

img.mean(axis=2)

img[img==color] = 0

img = (img - 128) / 128 - 1
return img.reshape(88,80)

rdlzall 25U (led dxalll &l 8yguo e Mo bl DI e Niaws
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# oI dngdl

state = env.reset()

# dngdl oldae a9y 3y5all dnles

state_preprocessed = preprocess_state(state).reshape(88,80)
print(state.shape)

print(state_preprocessed.shape)

plt.imshow(state_preprocessed)

plt.show()
2ol 0
(210, 160, 3)
(88, 80)
rdxlenll 8)guallg

0 20 40 60

Somid 338l 9330 (ko 4) brsac yeuall (o deild jg25 Lillg stack frames Al ol Lagd Co3e]
J=S Ulay ssic 8yo stack _size aws saell 8))Se ol §)guo Gudi dailall Sg=i .stack _size ysioll
.= episode dal>

L Sad sidlg (oudydall 5180 d.0518) deque dacaall oty (o duwolidl duidl pasiws Lsl Ja>3
Lasdyb (o Hl3g lgin LO32lg lgule 4oL
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# @Syl disMal d8leta ygo 4 paseiud
stack_size = 4
# 0 o8 ol oo dayl goxd

stacked_frames = deque([np.zeros((88,80), dtype=np.int) for i in
range(stack_size)], maxlen=stack_size)

def stack_frames(stacked_frames, state, is_new_episode):
# 5y00l ddgYl dodlaall
frame = preprocess_state(state)
# sagas ddls
if is_new_episode:
# dwiSel daldl yooll s

stacked_frames = deque([np.zeros((88,80), dtype=np.int) for 1
in range(stack_size)], maxlen=stack_size)

# odall e dags dl> JS B dadleall Sysall SIS

for i in range(stack_size):

stacked_frames.append(frame)

# ol uysSs

stacked_state = np.stack(stacked_frames, axis=2)
else:

# oopadl LBl e aedd udyhll dsguds Al ol L

# puadl o8l Bysall yasd

frame=stacked_frames[-1]

# 500 @Bl

stacked_frames.append(frame)

# AL elas)

stacked_state = np.stack(stacked_frames, axis=2)

return stacked _state, stacked_frames

@5 g (flatten dsda e dids lguli «duadd Ol &35 1liads Cuw (o dalbo duac dSud 93

2ol e g fully connected JolS JSuin dguogo diub

def g_network(X, name_scope):
# ol digs

initializer =
tf.compat.vl.keras.initializers.VarianceScaling(scale=2.0)

with tf.compat.vl.variable_scope(name_scope) as scope:

#aasl clibl i
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ol Call cggy sl

layer_1 = tf_slim.conv2d(X, num_outputs=32, kernel_size=(8,8),
stride=4, padding='SAME', weights_initializer=initializer)

tf.compat.vl.summary.histogram('layer_1",layer_1)

layer_2 = tf_slim.conv2d(layer_1, num_outputs=64,

kernel_size=(4,4), stride=2, padding='SAME",
weights_initializer=initializer)

tf.compat.v1.summary.histogram('layer_2',6layer_2)

layer_3 = tf_slim.conv2d(layer_2, num_outputs=64,

kernel_size=(3,3), stride=1, padding='SAME",
weights_initializer=initializer)

tf.compat.v1.summary.histogram('layer_3',6 layer_3)
# dadall Jl layad L8 AU &l dond mdaud

# oS iy @gogdl AU

flat = tf_slim.flatten(layer_3)

# oS iy dgogdl @l zlyl

fc = tf_slim.fully_connected(flat, num_outputs=128,

weights_initializer=initializer)

tf.compat.vl.summary.histogram('fc', fc)

# ol zysdl asd Lol

output = tf_slim.fully connected(fc, num_outputs=n_outputs,
activation_fn=None, weights_initializer=initializer)

tf.compat.v1.summary.histogram( 'output', output)
# olols aall odales s

vars = {v.name[len(scope.name):]: v for v in

tf.compat.vl.get_collection(key=tf.compat.v1.GraphKeys.TRAINABLE_VARIA
BLES, scope=scope.name)}

# ozl wlysull o IS ¢yl
#Return both variables and outputs together

return vars, output

epsilon greedy day_idl el dwluw dgcaall dwluull 301 epsilon_greedy dJlall (35<5
okl Jlaizly Gllgaie 5T J28 T gl "Golun] - 1" Jlaimb Jo2b Juasdl )l lg policy

JL28%1 Luolyundl 03 pxiiaws S (Wlahasdl 3ac 6303) Cabdgll yoro 8o Holunl dad Lasss Ll kasd

epsilon
eps_min

eps_max

0.5
0.05
1.0

eps_decay_steps = 500000
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def epsilon_greedy(action, step):
p = np.random.random(1).squeeze() # il dgocin

epsilon = max(eps_min, eps_max - (eps_max-eps_min) *
step/eps_decay_steps)

if p < epsilon:
return np.random.randint(n_outputs)
else:

return action

il 5 ogleo Lgsd guai) deque Gubyhll dgian dadld ol (o Cdbo (ajad xS15 Gl Lasd Eugd
SARSA JSuidl (o

bg didsall 5,)S13Jl L6 state, action, rewards (311Sall . J=all (A1) ST cogigyl 8y JS 550
y- Laio wliue 350 >3 ag-8ig experience replay buffer celll ssle| sic sausoll duwiSall 8yl
lgale Al yaduw Ll @udll aulgd) values

buffer_len = 20000
# byl dsgudn a8 cB8all pisadl B)SI aaseiud

exp_buffer = deque(maxlen=buffer_len)

)il L)l o ddlgaine degoe s Gl sample_memories dlall ey

# ool oyld e Lilsse degane slas

# ooyl dsds @ Joku

def sample_memories(batch_size):
perm_batch = np.random.permutation(len(exp_buffer))[:batch_size]
mem = np.array(exp_buffer)[perm_batch]

return mem[:,0], mem[:,1], mem[:,2], mem[:,3], mem[:,4]

a2y pudll 03ce Uiyisl . Lgosd o dSuinl) hyperparameters dss,iall codoleall guo> Gl Loud oS
)l o a9l dg duvasll OISl B9 Sl Lle el

num_episodes = 2000

batch_size = 48

input_shape = (None, 88, 80, 1)
learning_rate = 0.001

# 4wiSall joall daidal Jyael

X_shape = (None, 88, 80, 4)
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discount_factor = 0.97
global_step = 0
copy_steps = 100

4

2000

steps_train

start_steps
X Jsal dygl> L83

tf.compat.vl.reset_default_graph()

#odalll A o Gl Saldl J5s dols iy

X = tf.compat.vil.placeholder(tf.float32, shape=X_shape)
# ool A ) Jley e ey

in_training_mode = tf.compat.v1.placeholder(tf.bool)

a3l ULl 3 Joiy zrouwy Loo Co3_gll dSuiillg d_Jo3l dSu il i yuiSuid Ly Lasd i
toelyie JSin

# Al 3 =8l gan) aledl @b g Mg Al aSadl ely
mainQ, mainQ_outputs = g_network(X, 'mainQ"')

# pledl @l Bagll @l s dgilia ISy
targetQ, targetQ_outputs = g_network(X, 'targetQ')

# =8l o d dgls cayyei

X_action tf.compat.vl.placeholder(tf.int32, shape=(None,))

Q_action tf.reduce_sum(input_tensor=targetQ_outputs *
tf.one_hot(X_action, n_outputs), axis=-1, keepdims=True)

# oGagl Sl )l il edlales @b s

copy_op = [tf.compat.vi.assign(main_name, targetQ[var_name]) for
var_name, main_name in mainQ.items()]

copy_target_to_main = tf.group(*copy_op)

Byl Olusy pgdip ZaxJl b Lesd L83

# ozl dgl> s
y = tf.compat.vil.placeholder(tf.float32, shape=(None,1))

loss = tf.reduce_mean(input_tensor=tf.square(y - Q_action))
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#bylusdl s

optimizer = tf.compat.vil.train.AdamOptimizer(learning_rate)

training_op = optimizer.minimize(loss)
:model z3g0il Jsuide Tensorflow dwl> ;31 1
danll &l Q) (s ) Ll 5yed @5 (og sl dblid bygal dg8l dadlaall 3ol 5p2d .1
.Q-values aleill asd geox 3425 Lillg DQN
Al Oolun] dwluw plasiwl a Jeo3l sl )l .2
82333l A 9S5) 8L Lle Wlguas 2o SNEW s3> dl> Ll Jaiisg s Al e a Jeall 345 .3
(AW el dilin) dxdlaall 8yguall b
.<s,a,rsnew> JSuill Lle didgall 551301 (8 Jidl e (i .4
Byl Causig dlgianll 8)SI1 (o Bad LAy Gais .5
Bylwsdl Gauesi dSuill doles Jiei .6
Agloall il G| oyl e Olyol a7
.(num_episodes) whall (yo 13ac dasbudl wlghsll ), .8
with tf.compat.v1.Session() as sess:

init = tf.compat.vl.global_variables_initializer()

init.run()

4

(&

# 5500 JS Ul

history = []

for i in range(num_episodes):
done = False

obs = env.reset()

epoch = 0
episodic_reward = 0
actions_counter = Counter()

episodic_loss = []

# JoYl gl 2 sl ugass

obs,stacked_frames= stack_frames(stacked_frames,obs,True)
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# il Al Los @ Wl ol
while not done:
# dyaall e @all alGawl ol aJg
# pladl @8 e Joanlly dall S50 5o
# Jes s a0 e
actions = mainQ_outputs.eval(feed_dict={X:[obs],
in_training_mode:False})

# Jeall Las
action = np.argmax(actions, axis=-1)

actions_counter[str(action)] += 1

# deall 5Ly dayadl olul dwlews alascwl

action = epsilon_greedy(action, global_step)

# Jedl 345

# 3B Dlusg QLI ALY Jasdlg

next_obs, reward, done, _ = env.step(action)
# ol gule LSS

next_obs, stacked_frames = stack_frames(stacked_frames,
next_obs, False)

# 5 ayesS Jamdl 3ss
# el ssley dBsdl 3,514l

exp_buffer.append([obs, action, next_obs, reward, done])

# oines olghs sac am call doley @Bgall 5510 o dSadl ey

if global_step % steps_train == 0 and global_step >
start_steps:

# calll ssley @Bgall 51 o
# awaShy andlee cad b S
# mem[:,0], mem[:,1], mem[:,2], mem[:,3], mem[:,4]

o_obs, o_act, o_next_obs, o_rew, o_done =
sample_memories(batch_size)

# ol

o_obs = [x for x in o_obs]
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# oI ol
o_next_obs = [x for x in o_next_obs]

# oI syl

J

next_act = mainQ_outputs.eval(feed_dict={X:o_next_obs,
in_training_mode:False})

# b

y_batch = o_rew + discount_factor * np.max(next_act,
axis=-1) * (1-o_done)

train_loss, _ = sess.run([loss, training_op],
feed_dict={X:0_obs, y:np.expand_dims(y_batch, axis=-1),
X_action:o_act, in_training_mode:True})

episodic_loss.append(train_loss)

# Oug wSeall I Gdyll &l l3el g

if (global_step+1) % copy_steps == 0 and global_step >
start_steps:

copy_target_to_main.run()

obs = next_obs

epoch += 1

global_step += 1

episodic_reward += reward
next_obs=np.zeros(obs.shape)
exp_buffer.append([obs, action, next_obs, reward, done])
obs= env.reset()
obs,stacked_frames= stack_frames(stacked_frames,obs,True)
history.append(episodic_reward)

print('Epochs per episode:', epoch, 'Episode Reward:"',
episodic_reward, "Episode number:", len(history))

:olalal 585 ISl @y

plt.plot(history)
plt.show()
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# el Bagy saud Jeonud
gymlogger.set_level(40)

def show_video():

# gl e lwe

mp4list = glob.glob('video/*.mp4")

# ool sgmg oo Sl

if len(mp4list) > 0:
mp4 = mp4list[0]
# sl e
video = io.open(mp4, 'r+b').read()
# 64 5o Jugodl
encoded = baseb64.b64encode(video)
# e Cowl> Al b gl pye
# HTML Jou
ipythondisplay.display(HTML(data="""'<video alt="test" autoplay

loop controls style="height: 400px;">

<source src="data:video/mp4;base64,{0}"
type="video/mp4" />

</video>'"'"'.format(encoded.decode('ascii'))))

else:
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print("Could not find video")
def wrap_env(env):
env = Monitor(env, './video',6 force=True)

return env

# zisadl @i
environment = wrap_env(gym.make('Spacelnvaders-v0'))
done = False
observation = environment.reset()
new_observation = observation
prev_input = None
with tf.compat.vl1.Session() as sess:
init.run()

observation, stacked_frames = stack frames(stacked frames,
observation, True)

while True:
# el 03 Lo Joosl

actions = mainQ_outputs.eval(feed_dict={X:[observation],
in_training_mode:False})

# Jeall e Jsasl
action = np.argmax(actions, axis=-1)

actions_counter[str(action)] += 1

# dayadl oluw] dwlew plaseiwl Jeall jles

action = epsilon_greedy(action, global_step)
# e cowl> e dJUl daded! @Blo| oy

# environment.render()

new_observation, stacked_frames = stack frames(stacked frames,
new_observation, False)

observation = new_observation
# oAU sglasl) syl o Jeall a5
new_observation, reward, done, _ = environment.step(action)
if done:
break

environment.close()
eyl Zavaio 9 Lol lgde hswsl) AUl dSymiall 8)guall duin sl graud &L Lle Juasiw
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Z390l (3-89 (5a2ll 5320l @ledl alasuiwl ll3g sLaall 93¢ dual (2ly Bgrg) Juadll 130 (6 Lisiy
.Deep Q-learning ,3JI
o 13aed 3 ST oLt ligng) sliy LiiSay J—b b Lilly jhasgw 3]l g bl Jl5wll
O (3o yamanll d>giss lgals Agcaog (Bloo Lz Jlbw 13 o (L) zuail LS SStarCraft 2 .
lagi JSlinall 0ia cSlS 1318 .Blizzard s)lydy dSyuisg DeepMind sislo u39 Google Jegc Jio 8pusS
Lle £ b3l sliSagd (e

uo Google Colab g3g0 (10 olS Jltall dypad ¢ySel
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pip install "tensorflow-hub[make_image_classifier]~=0.6"
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<html>
<head>
<title>Face-API Example</title>
</head>

<body>

</body>
</html>
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<div class="container">

<video id="webcam" height="360" width="360" autoplay
muted></video>

</div>
:age oge N poll Jawaxe 1nput Js| Jé> cauas @3
Age (years): <input id="age" size="3"><br />

male 53 laa il nylisl Lasd gender lagess radio ggi (o )l )il degamo Cawas ¢lls s

female Lilg

<input id="male" type="radio" name="gender" value="male">Male<br />

<input id="female" type="radio" name="gender" value="female">Female<br
/>
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<script src="js/face-api.min.js"></script>

<script src="js/main.js"></script>
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const video = document.getElementById("webcam");
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Promise.all([
faceapi.nets.tinyFaceDetector.loadFromUri("models"),

faceapi.nets.ageGenderNet.loadFromUri("models")
1) .then(startVideo);

Q0 Uns o> oLé wideo BSI os lgusyeg huolSIl (o gyouall 8)Li] (59 bclhsy gLl 130 pgdy
:uopiall GO console.error (ouws Uasl dllw) HUS
function startVideo() {
navigator.getUserMedia(
{ video: {} },

stream => (video.srcObject = stream),
err => console.error(err)

)
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tuizlly peall Gle (a0 Gall ()53 dpasll il Gl (890l 5 Lgale Coyaill
video.addEventListener("playing", () => {
setInterval(async () => {
const detections = await faceapi

.detectAllFaces(video, new faceapi.TinyFaceDetectorOptions())
.withAgeAndGender();
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if (detections && Object.keys(detections).length > 0) {
document.getElementById(detections[0].gender).checked = true;

document.getElementById("age").value =
Math.round(detections[0].age);

}

}, 1000);
.
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Face-APl Bxample

& C @ localhost

Age (years):
@ Male
() Female
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» TensorFlow.js library
» Age and Gender Recognition Model

* TensorFlow Model Optimization
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mkdir sa

cd sa
‘&l dll slisyd Gl w0l Aaid
python -m venv sa
s3] &5l Jagiud LinuX GuSiw 8 GIWI 103l @5 (oo
source sa/bin/activate
soiuill yol (59849 WiIindows jgaig b Lol

"sa/Scripts/activate.bat"
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https://docs.python.org/3/library/venv.html
https://pypi.org/project/pip/
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M=o o requirements. txt calo cldsl Jd> o doydMl LSl (o 83350 Olylauwol pasuiuws

L]zl Gl Ohluoly ldhiall Caloll 130 33duws < g iroll

guL+ﬁQdL»3>aJeU39.&gun)kuuglggyzﬁg‘uogguﬂ))zp(?9requirements.txt._ihﬂlaxﬁ

‘lgihlauols gy il

jupyter==1.0.0
keras==2.6.0
Keras-Preprocessing==1.1.2
matplotlib==3.5.1
nltk==3.6.5
numpy==1.19.5
pandas==1.3.5
scikit-learn==1.0.1
seaborn==0.11.2
sklearn==0.0
snowballstemmer==2.2.0
tensorflow==2.6.0
wordcloud==1.8.1
python-bidi==0.4.2

arabic-reshaper==2.1.3
:%JUH)ASQcuhﬂbﬂlo&mgggﬁpS.009¢uﬂ))zo¢y:a)i@g4ﬂaﬂLgscuhb(?ﬂluubﬁﬁﬂlkﬁud
(sa) $ pip install -r requirements.txt

Licg e Lo Joodl cod (pjels C-“aj Ol 03g) Lo asy

1388 it ddac JLasSl 3yoy Jupyter Notebook duwoydl colyaill yyme Jid
(sa) $ jupyter notebook
Sio 358 qul aiudy pmall Jo13 8 sz o £ o
€ opainall Ao (5 &I Olalall o JS uog ol
tweets.csv iwlayeidl calo @

lexicon_negative.csv g lexicon_positive.csv :juuolgsll o
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oelibodl <83l e dlac @y)line Spinc doyall Goguaill (3 yelinall Jul
DroidSansMono.ttf :oujell bl cale o

alilwll Jinai 7.5.1

i;dﬁkboDataFrame;;AJQJIGa)Lb!¢yL#btweets.csvLJLLJIng;mg)iﬂlhgnaagiﬁigp
gy yo)e @3 oo Pandas
import pandas as pd
# bl o bl fao lghasdy olagyedl 3oy

tweets_data = pd.read_csv('tweets.csv',encoding = "utf-8")

tweets = tweets_data[['tweet']]

# obll sl e Sl ciadl lgb]
tweets.head()

:olagyadl ol L) gbay

tweet
0 oleadl dayas (ol Jl digaey dayiddl Slhls ool
o JLisSlg jliee Jgoo ymwg Jlabl dies dayis...

—

2 Obhisllg Slazlall jasy jw saic bz jles\nl...
3 Slilgazdl o S wae lgig dedbin dayaz\neazll...
4 el vwlio ymwg Jues Beg dgl> Dlagazi aws ..

:negative.csv d&Jlull lalS)l Lugoldg positive.csv dxgoll HlalSIl Gugold Jbd

# dogdl ol ugels Belys

positive_data = pd.read_csv('positive.csv' ,encoding = "utf-8")
positive = positive_data[['word', 'polarity']]

# Al bl Lugals Belyd

negative_data = pd.read_csv('negative.csv' ,encoding = "utf-8")
negative = negative_data[['word', 'polarity']]

positive.head()

Lgbliig dmgall colalSIl Jlgl Mo gl
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word polarity

0 jlies 3
1 &l 3
2 g 3
3 Jies 3
4 olw 3

Jagnill dugill dallenll 7.5.2

doil8 ju8giS dnuall Clalll dadlees) N1tk duuSall Laydgi il loasdl asy Gl Loud pasviuws
A LaS . yogaill (o tokens ilasgll ghaiwlg (delS 700 Llg>) dwyell delll cadgil clalS
.snowballstemmer&gép(gnig)dlgpudﬁlgiai

# ol Judludl  dese

import string

# aoladl yoledl doSa

import re

# el ol il dLcSa

import nltk

nltk.download( 'punkt")
nltk.download('stopwords")

# wigdl ol dsse

from nltk.corpus import stopwords

# ologl zlysel d5s

from nltk.tokenize import word_tokenize
# el gloul dcSa

from snowballstemmer import stemmer

ar_stemmer = stemmer("arabic")

# ol e Byl Bis Al
def remove_chars(text, del_chars):
translator = str.maketrans('', '', del_chars)

return text.translate(translator)
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# 5y,Sall Gyloall Bis Al
def remove_repeating_char(text):

return re.sub(r'(.)\1{2,}', r'\1', text)

# ool @b dls
def cleaningText(text):
# oA Bis
text = re.sub(r'[0-9]+', '', text)
# doyWl y& Oylsall i
# dgyell adydl ol
arabic_punctuations = """ TEx U H I ~{3, L9 /L] [RAF() <>t
# L3OV @byl olade
english_punctuations = string.punctuation
# Q3dodlls dall @Byl oladle zas
punctuations_list = arabic_punctuations + english_punctuations
text = remove_chars(text, punctuations_list)
# 5y)Sall Gyloall Bis
text = remove_repeating_char(text)
# okl suedl ghadl ol
text = text.replace('\n', ' ")
# ludly cpadl e BN wlelall Bis
text = text.strip(' ')

return text

def tokenizingText(text):
tokens_list = word_tokenize(text)

return tokens_list

# gl oldsS Bis Wl
def filteringText(tokens_list):
# dgye)l W@Bgdl olalS dals
listStopwords = set(stopwords.words('arabic'))
filtered = []
for txt in tokens_list:

if txt not in listStopwords:

89



oelbaodl slS3l (e duloc gl By )l Gogaill L3 yelindl Julss

filtered.append(txt)
tokens_list = filtered

return tokens_list

# il dls
def stemmingText(tokens_list):
tokens_list = [ar_stemmer.stemWord(word) for word in tokens_list]

return tokens_list

#@guuﬁlwm@ygmu
def toSentence(words_list):
sentence = ' '.join(word for word in words_list)

return sentence
ol B9 Lol Gl Jlgall - jui
waidl (o 353 lg du sl eud)il Wledeg pl_'é)‘il Wi cleaningText o
B30yl SIS Lgoasuuw 38 Lillg 8))Sell Lo)lall LOixS iremove_repeating char e
tokens Wlasgll (o dd8 | yadl &35 Lle Josi itokenizingText e
WOl gl dedld (yo Ladgill lelS LOixs ifilteringText o
Audiiall Olasgll dadld WlelS 35 e Josi istemmingText o
:&gbﬁzﬂlcuk&ﬁluagg&qu%JUHLﬂbdlu+§
# )l
stem = ar_stemmer.stemWord(u"gl,")
print (stem)
stem = ar_stemmer.stemWord(u"gl,")
print (stem)
stem = ar_stemmer.stemWord(u" s=ly")
print (stem)

stem = ar_stemmer.stemWord(u" . =il;")

print (stem)

sl @U HeS

90



oelbaodl slS3l (e duloc gl By )l Gogaill L3 yelindl Julss

2l
2l

:ddyledl Jlgall o dls JS slesiwl dagss I Jliadl e

# o

text= "lodsa 8Ly g0 lo 9 posssy JS sl ) oldl cof Ui "
print(text)

text=cleaningText(text)

print(text)

tokens_list=tokenizingText(text)

print(tokens_list)
tokens_list=filteringText(tokens_list)
print(tokens_list)

tokens_list=stemmingText(tokens_list)

print(tokens_list)

il g o

ledga By g0 [blo 9 posssy JS sl | wladll col U
cdgn BBy ge blo por JS dmusdl ) olbdll ool Ul

[l ,Ik_.y.él_é_)' 'I&Al ,"L>L...o' ,'69%' 'IJSI ,'ﬁﬁ_g.\:x”' 'lk-’]!l ,I;.JLQ.:\.HI ’lwil ,IUi
o' ']

['38)" ko' et tamasdl' okl el ]

[léLé)l ,ltLyO' 'lesrll ,Ié%_\}I ,'L.JLQ.SI ,lk_.o|l]

w9 Ll g @ oy Wlayeidl Goguai Lle ddgdl dadleoll Jlgs guox> duais dJUl syaill Lo yes
Lz goll OLalSIl Gugold le ddodl dadlaall Jlgs 385 diyyall Guaing .tweet _clean.csv ass cale
pOSitive_Clean.CSVZLE}B|gobbddu35A4A?CJLﬂw(eéagLﬁﬂ.thﬂg&JLuﬂlcbuﬂﬁlbwgo@g

.negative_clean.csvg
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# olayed) gyl dodleall
tweets['tweet_clean'] = tweets['tweet'].apply(cleaningText)

tweets['tweet_preprocessed'] =
tweets['tweet_clean'].apply(tokenizingText)

tweets['tweet_preprocessed'] =
tweets[ 'tweet_preprocessed'].apply(filteringText)

tweets['tweet_preprocessed'] =
tweets['tweet_preprocessed'].apply(stemmingText)

# 5,50l oluyadl Bis
tweets.drop_duplicates(subset = 'tweet_clean', inplace = True)
# ule ) sseadl

tweets.to_csv(r'tweet_clean.csv',encoding="utf-8", index = False,
header = True,index_label=None)

# ool Luseldll ddlea
positive['word_clean'] = positive['word'].apply(cleaningText)
positive.drop(['word'], axis = 1, inplace = True)

positive[ 'word_preprocessed'] =
positive[ 'word_clean'].apply(tokenizingText)

positive[ 'word_preprocessed'] =
positive[ 'word_preprocessed'].apply(filteringText)

positive[ 'word_preprocessed'] =
positive[ 'word_preprocessed'].apply(stemmingText)

# lasdly LSl Bias

positive.drop_duplicates(subset = 'word_clean', inplace = True)
nan_value = float("NaN")

positive.replace("", nan_value, inplace=True)

positive.dropna(subset= ['word_clean'], inplace=True)

# ale | ssiadl

positive.to_csv(r'positive_clean.csv',encoding="utf-8", index = False,
header = True,index_label=None)

# Il Legaldll dadlas

negative[ 'word_clean'] = negative['word'].apply(cleaningText)

negative.drop(['word'], axis = 1, inplace = True)
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negative[ 'word_preprocessed'] =
negative[ '‘word_clean'].apply(tokenizingText)

negative[ 'word_preprocessed'] =
negative[ 'word_preprocessed'].apply(filteringText)

negative[ 'word_preprocessed'] =
negative[ 'word_preprocessed'].apply(stemmingText)

# lasdly LISl Bis
negative.drop_duplicates(subset = 'word_clean', inplace = True)
negative.replace("", nan_value, inplace=True)

negative.dropna(subset= ['word_clean'], inplace=True)

# ol )l ssadl
negative.to_csv(r'negative_clean.csv', encoding="utf-8", index =
False, header = True,index_label=None)
0953 Camug ddludl OlelSl Gildlg dumgall colalSl Jo3l dict (puuwgold cly AUl dramidl Lo y0i
13480 Oouly o dict Lugolall dy alasiwl 39y .dalSIl blss Lo value dosdlly dalsll g key zLiaoll
o dilos (b pldll 993 dolS ST blas L] pblell Jouogl 13>

Olale) L o8l dslaall 5L 5amsadl lalall (o dllawlly dsmgall LalSI a5 Lt k>3
Aol olalsil

dict_positive = dict()

# dogdl Sl Legeld cly

myfile = 'positive_clean.csv'

positive_data = pd.read_csv(myfile, encoding='utf-8")
positive = positive_data[['word_clean', 'polarity']]
for i in range(len(positive)):

dict_positive[positive_data[ 'word_clean'][i].strip()] =
int(positive_data[ 'polarity'][1i])

# Al ol jugeld e el

dict_negative = dict()

# A ol egals cly
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myfile = 'negative_clean.csv'

negative_data = pd.read_csv(myfile, encoding='utf-8")
negative = negative_data[['word_clean', 'polarity']]
for i in range(len(negative)):

dict_negative[negative_data[ 'word_clean'][i].strip()] =
int(negative_data[ 'polarity'][i])

oo deild score bl g g oo Olwsy sentiment_analysis_dict_arabic dJul dlsll agas
dpuhn 3e3 dylgill 99 ddludlg Az gall OLalSIl Guwgold 9 83)lgdl DlalSIl blés foasu cllsg WlalsI
I3l negative ddlw 32Sg iuall (o ST Lgblas € goxo OIS I3l positive dixgo OlalSIl 48 polarity

neutral sl ossi gils Mg il Go yol lgblis £ game ol

# ol o dalB duhad Olus Al
def sentiment_analysis_dict_arabic(words_list):
score = 0
for word in words_list:
if (word in dict_positive):
score = score + dict_positive[word]
for word in words_list:
if (word in dict_negative):
score = score + dict_negative[word]
polarity=""
if (score > 0):
polarity = 'positive'

elif (score < 0):

polarity 'negative’

else:
polarity = 'neutral'

return score, polarity

o> ool eolalSIl dodls le Al b g 830)%5 JS dubad Olws 9 diylul A1l pasiws
Olgs 6 830)85 JSJ HoSuw &l Sl .tweet_preprocessed syl Gad &gl dslleall sy lgdde
polarity_score lgde duoll bladl § gaxo (§9g 3o ol dllw ol d>g0 polarity dulnd Csllaall

fweets_clean_polarity.csv amas cale 8 Olwadl 256 Lo
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# oluyedl ddad olus

results =
tweets['tweet_preprocessed'].apply(sentiment_analysis_dict_arabic)

results = list(zip(*results))
tweets['polarity_score'] = results[0]

tweets['polarity'] = results[1]

# dle 3 il gls
tweets.to_csv(r'tweets_clean_polarity.csv', encoding='utf-8', index =
False, header = True,index_label=None)
plasiwl @3 Gog (83l ddluw dzgo) dyudad JS (o Wlaysill sae Olus 4 88,0l o)
1Ol dudad cuws yoy pie gl (o il blhase ewy) matplotlib dusell

import matplotlib.pyplot as plt
fig, ax = plt.subplots(figsize = (6, 6))

#oadd IS g0 wluyddl sae olus

X = [count for count in tweets['polarity'].value_counts()]

labels = list(tweets['polarity'].value_counts().index)

explode = (0.1, 0, 0)

ax.pie(x = x, labels = labels, autopct = '"%1.1f%%', explode = explode,
textprops={'fontsize': 14})

# eyl yloie

ax.set_title('Tweets Polarities ', fontsize = 16, pad = 20)

# sl
plt.show()

95



oelbaodl slS3l (e duloc gl By dpall Goguaill 9 bl Julos

bRl 0o

Tweets Polarities

positive

neutral

negative

A Brapitll planiuly dulal S8 lsgyaal )l o3I (Sl

# odglal olyyedl sl delb
pd.set_option('display.max_colwidth', 3000)
positive_tweets = tweets[tweets['polarity'] == 'positive']

positive_tweets = positive_tweets[['tweet_clean', 'polarity_score'’
'polarity']].sort_values(by = 'polarity_score'
ascending=False).reset_index(drop = True)

positive_tweets.index += 1

positive_tweets[0:10]

Hlgb3l OeSy

degiiog duc Ularailly 8jlies yoy=ll da b sus JUatwlly pU=iwll jlies sabbiill (3lyg Jraz axis
caxillg Llagl allil aus szes dasis jSI! el dliledl l)ll e cuwlis 4 rac SlyaSys 13> 31z
dyaxlly degrall jaasll s dogzull duyell @Slaally duy=ll 5y320] £, Jiazg JolS 5w e Jaiiy
@)l el

Baclus e palolsll Jis o 1S plaidl 2o jlacll caline) Iz dninsg Sellall o d2)ls Biuio &y
oo w8 lbis il g 5l pasy Al Ggmall g aisll ¢ dniall go )36 ST e Jouanll i3I
Sl Slgmall 03a osi e selud yile pidll g pois WUl Slbualill ol V] loadl g &2l g Sl -6

27  positive

)05 iy 83055 & yls 2Vl ekl Cuo 11z Biame 20 L y25 Jnz (il pulil daxe siwlo adll positive
8)13 W 2l g seme Sl i Alolad s e 5331 0 Wyjz 1S g 3l @6y¢ dyyzdd Gysl Bp0 oSl
Jalall il i oSl

1 jezeg p2yall €005 AiSe plubll gsile dash & glos ByusS dass A U i) dlazs Il olSe 25 positive
G ailly Goluull Dllleally yo)lzall o S ws plays DLBLYI e

Dlgsll Jiez oBeg 1z duwlio jlawily (el (b aiall Juez cgiglly sclodl go dlaaz dy0 (il gl
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gl 51591 Olayadl lgbs] Sed LeS
#odgle olaygdl S alb
pd.set_option('display.max_colwidth', 3000)
negative_tweets = tweets[tweets['polarity'] == 'negative']

negative_tweets = negative_tweets[['tweet_clean', 'polarity_score',
"polarity']].sort_values(by = 'polarity_score', ascending=True)
[0:10].reset_index(drop = True)

negative_tweets.index += 1

negative_tweets[0:10]

Hlgb3l OsSy

el oy cbiusidl pamy ol e Santiile sl parmy lgioy &yls 8)36 dalS Taz Taz 8,35 cluaill 8l S0
2t asllgio Slolasll age polo Ulisly Fuwsll pu u2)UL Lulihlly dilils dljlly yo) Ul lellabl dlljg -4 negative

digis > oo Golhell duiy agiiell ) Sile el gt (W) 8138l hogl S Gyale iy 1a2dg Wilko

wall Gz dipdi ite Dlilgsdl pSlel alo o5y cilljle fLogVl oS otiw V (pe aiSyile 55 &1, el allg
peiols @l lgiping &S lgan Joii aliall (B Go sl Lgss (piime Bz oSlol b iz Goug agis> -14  negative

seii )l Jagb )Lkl lSs Lz j3lie lss 015 Gsbg siol

2l i glite Ll pgu; g8l b abgo puues alils agilsl 4 x| dibiall (b eyl Cawll

clalas 131,381 gl G5 1o by yuilSllg 1381 gl aclw yoi jglb guy yacd Te clolas 131,381 gl aclw Zlig -13  negative
Uai 3ol bl ez g polail 0 gl €
iz diw & y25 oS dighyll 8 zo youw el 2ull gaze 90 188 iz ole playgal Jush )l B e

ablgog S Aclio o9y cawlic RBgos dmwsl (| zling LA Cibgg a2 laz a>350 slinallS Giall oIS
Aals dniiye jlaawdl Sl

oorall i Gl Slgll e o IS (o5 JLadl i gubi o35 gl 255 Jolissy ot rile 1o sl

-12 negative

-12  negative

O LS icd JSiin lalSIl (o dcgane oy WordCloud cilalSIl dlbwe dxiSo alasiwl Sol
AW Byl

# oblSI Dl

from wordcloud import WordCloud

# gyl el duse
import arabic_reshaper

from bidi.algorithm import get_display

# ddledl ol jany clasl

list _words=""

1=0

for tweet in tweets['tweet_preprocessed']:

for word in tweet:
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i=i+1
if 1i>100:
break

list words += ' "+(word)

reshaped_text = arabic_reshaper.reshape(list_words)

artext = get_display(reshaped_text)

wordcloud = WordCloud(font_path='DroidSansMono.ttf', width = 600,
height = 400, background_color = 'black', min_font_size =
10).generate(artext)

fig, ax = plt.subplots(figsize = (8, 6))

ax.set_title('Word Cloud of Tweets', fontsize = 18)
ax.grid(False)

ax.imshow((wordcloud))

fig.tight_layout(pad=0)

ax.axis('off")

plt.show()

Hlgb3l HeS
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(3a&?;x;uudliJLudl¢AJJSH9&4?9aHguLAhUIWords_with_sentiment&4ﬂﬂI&Jbﬂgﬁq3

OLalSl d&ilillg dxmgall lalSl g8l Guilatio (uiasld L6 1ist words dllal & pedll olelSIl doils

sl dlully dmgall OlalSIl Gungold DI axiiuws .dudlull

# Wl oldsly dogall Ol gians

def words_with_sentiment(list_words):

positive_words=[]
negative_words=[]

for word in list_words:

0
0

score_pos

score_neg
if (word in dict_positive):

score_pos = dict_positive[word]
if (word in dict_negative):

score_neg = dict_negative[word]

if (score_pos + score_neg > 0):
positive_words.append(word)
elif (score_pos + score_neg < 0):

negative_words.append(word)

return positive_words, negative_words

oo AWl OLalSIl doilég dusgall HlelSIl doils Z 1wy dJll 8pauill 6 dasludl Al passuws
oad S ddludl OlelSllg disgoll OlalSIl Lo ye) lagio JSI OlelS Givluw clins] @3 (pog wlagyeill

# d.JJL_qug wsA.” Ol dloes
# ldly dogall Sl 548

sentiment_words =

tweets['tweet_preprocessed'].apply(words_with_sentiment)

sentiment_words = list(zip(*sentiment_words))

# odsgdl ol sl

positive_words = sentiment_words[0]

# ol ol s

negative_words = sentiment_words[1]
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# dogal ol s
fig, ax = plt.subplots(1, 2,figsize = (12, 10))
list_words_postive=""
for row_word in positive_words:
for word in row_word:
list_words_postive += ' '+(word)
reshaped_text = arabic_reshaper.reshape(list_words_postive)

artext = get_display(reshaped_text)

wordcloud_positive = WordCloud(font_path='DroidSansMono.ttf',width =
800, height = 600, background_color = 'black', colormap = 'Greens'

, min_font_size = 10).generate(artext)
ax[0].set_title(' Positive Words', fontsize = 14)
ax[0].grid(False)
ax[0].imshow((wordcloud_positive))
fig.tight_layout(pad=0)
ax[0].axis('off")

# AU ol dlows
list_words_negative=""
for row_word in negative_words:
for word in row_word:
list_words_negative += ' '+(word)
reshaped_text = arabic_reshaper.reshape(list_words_negative)

artext = get_display(reshaped_text)

wordcloud_negative = WordCloud(font_path='DroidSansMono.ttf',width =
800, height = 600, background_color = 'black', colormap = 'Reds'

, min_font_size = 10).generate(artext)
ax[1].set_title('Negative Words', fontsize = 14)
ax[1].grid(False)
ax[1].imshow((wordcloud_negative))
fig.tight_layout(pad=0)

ax[1].axis('off")

plt.show()
Hleb3l Hesy
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Positive Words Negative Words

100 4 :
ﬂq*fLﬂMESHIJUgéﬂgd

Sypiin)] pasiwws 13 (M5 08 dod) daidl L)l Zliss o «la) cods 0S8 Logaill A3l alei iy Judi 3
o9y e Ll tweet_preprocessed oagye’ JSI Guadl & leddl Jog=id dJll

# 48y deal JI olussdl g
from keras.preprocessing.text import Tokenizer

from keras.preprocessing.sequence import pad_sequences

# ol olssaall o olugssdl Jas Sy

sentences = tweets['tweet_preprocessed'].apply(toSentence)
print(sentences.values[25])

max_words = 5000

max_len = 50

# oo sl

# G Al oldSl sae a2
#  layly e slaxedl

tokenizer = Tokenizer(num_words=max_words )

# olayedl wesad izall daida

tokenizer.fit_on_texts(sentences.values)

S = tokenizer.texts_to_sequences(sentences.values)

print(S[0])
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# dxa¥l Jlgbl aog

X = pad_sequences(S, maxlen=max_len)
print(X[0])

X.shape

lg> i) dayluwdl dpaidl 9 blas

JS lgs sy Cus Lgy blaisdl pinw ol polacll lelSIl sac max_words jusioll 3355
Jaghaw (1531 gl 15 dalSl Llo¥l dsipall) yiles (s )5 @ (o ossaill JS b dals
Max_words o Sl ddyell @l lalsll

J81 sai §9lgall Ledyl & leidl Job oS 13] .oilail sadyl & leddl Job max_len ysioll 3355 o
St ddgb LS 13] Lol .max_len )l Geluwe dlgb gual Lis £ leuil) )lawl Calas max_len go
max_len Ll Goluo dgb zuad] dis I)> glhid)

Joaz Logail tokenizer i =all doiday fit_on_texts(sentences.values) dlla)l pgds o
max_words Soluy ol xSt yilall il lalSIl blais3lg HlalSIl lgs Olws (ST lay il

Iiﬂtuﬂl)g92554»§U|&Bub§iolbibLihvn(JS@ﬁb.aybgﬂlgéig.ibbuﬂépgﬁdlgﬁégkﬂ
[Jo3s powy s} mail Juwa lSo]
2831 o glais Gl uaidl Giludl g leidl Jagad douis oSS

[246, 1401, 467, 19, 87, 17, 74, 515, 2602, 330, 218, 579, 507, 465,
270, 45, 54, 343, 587, 7, 33, 58, 434, 30, 74, 144, 233, 451, 468]

! Gl byl £ laill 9%y Jolall augs daloc ssg

[ 0 0 0 0 0 0 0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 246 1401 467 19 87 17 74

515 2602 330 218 579 507 465 270 45 54 343 587 7 33
58 434 30 74 144 233 451 468]

19 dJluwd) 0 Ll il ludasll juo)iy pg 85 G gl Zr> g lei Ol A JUl §jauill o5

du>gall 29 s3loull

%209 )3l ddos) Lgio %80 LIl d>ladl OLLl puwssd train_test _split dlsdl aosciws

153 Guwlie Olusg )Lis3l dlas]
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# ol sy

polarity_encode = {'negative' : 0, 'neutral' : 1, 'positive' : 2}

# 23l glas sl

y = tweets['polarity'].map(polarity_encode).values

# ojlkesly coyd J obldl e 46K

from sklearn.model_selection import train_test_split

#oslasly capas I OBl o

X_train, X_test, y_train, y_test = train_test_split(X, y, test_size =
0.2, random_state = 0)

print(X_train.shape, y_train.shape)

print(X_test.shape, y_test.shape)
HlasMg Cgyail Zysdlg Joall dedl gz daylud] syauill 6 guba

(16428, 50) (16428,)

(4107, 50) (4107,)
pleioll auncll asunll 22gni 7.8
I3 aleil Jilune) dumac OlSub <l 495 Gill el SliSe eal (e Keras duSoll 33

Mol 2all gsez cllnc] g s create_model alesl z3g0i sl Al e Zpmail A Byapidl Lo ye5
51l Lasd dadyiell

# L)l zigadl e

from keras.models import Sequential

# dayWl ol add

from keras.layers import Embedding, Dense, LSTM

# gl Jlos

from tensorflow.keras.optimizers import Adam, RMSprop

# ol zigar elai] dls e puyadl
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# dssyiall odlaledl @gl @b clac] go

def create_model(embed_dim = 32, hidden_unit = 16, dropout_rate = 0.2,
optimizers = RMSprop, learning_rate = 0.001):

# Sladud Zigal e xuyadll
model = Sequential()
# aodl da@b

model.add(Embedding(input_dim = max_words, output_dim = embed_dim,
input_length = max_len))

# LSTM
model.add(LSTM(units = hidden_unit ,dropout=dropout_rate))

# 5,53 da bl

model.add(Dense(units = 3, activation = 'softmax'))

# zisadl ely

model.compile(loss = 'sparse_categorical_crossentropy', optimizer

= optimizers(learning_rate = learning_rate), metrics = ['accuracy'])
# zisall jasle dclb

print(model.summary())

return model
:Olads W o Cally Gludud duuac dSub g 3905 lidlue Joi (o pasiuws

Embedding Jionill ddih :_Jgill dduhll 7.8.1

a9 el Loo dense word encoding <lelSl o iSo juoyi adoid dadall 03 assiuw

O @b (Sg>0 Sy (50 Ldls> 8) input_length ddgb (s3I ¢ ledidl Jog=i b el didoc

output_dim Jlswdl (oo eudll o gloi LI (Lidlio 8 5000 LI 1 ) input_dim Jlswll
doud 32 Yo

LSTM éuilill adunll 7.8.2

8pleo o dropout Joleall ealuws .dadall 03g) dasall Cilasgll sac Units g8yioll Joloall 3353

0329 <3l Ll (Slgde JS by diinall Olasgll Jutind BLAD poy Cam oyl S8 dSull

e lawd jzi s o Ing gy doladl duvas)l sl 2oz Lle %100 duwiy dSuuid] xoies 3 day,lall
(o @81) diunss Jolo s3Il Guoliiall 5305 JoT oo bl 6 duodl 18T bleil Lle jgiall
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Dense dillill adaihlil 7.8.3

JSCidl usdg (g0 2 b3l 1.l 0 :Lsdl> 6 3) dadall 03g) Z x5l @ UNits Jolaall 33ox)

T390l Gaxde SJLI
Model: "sequential 12"
Layer (type) Qutput Shape Param #
rbedding 12 (Embedding)  (lene, 50, 32)  1coee0
l1stm_12 (LSTM) (None, 16) 3136

dense_12 (Dense) (None, 3) 51

Total params: 163,187
Trainable params: 163,187
Non-trainable params: @

Llini 23gail igng ddilall auolenll Gulen 7.9

O 838l Bl rd) £ opinall lebamo (30 @83lall GMlolan Bplnay Lol elas Z901) Jpuosll Sel
) 53531 dloloallg Z3g0i) daSlall cudloleall
lae—og idlg) wuyaidl Jud (\Clusu_ll duoj)lg> Wilslac] Lo thyperparameters dsilall dolaoll @
. (duo))lexdl gonuno
aSaidl gl Jote st el z3g-aill Lgalany idl codalaall o iparameters codslaoll
Aasll
a8 Ao oy wollhall (liedl d g Lagawd Z3g-aill clol Lle daslall codoloall 8yles ddac )38
ole Hol8 e zigwi Ll Hliass Hlilly overfitting Lausasill byd dS_iwg underfitting Lawasill
LeopslST (o Ll 835 9l )Sad) B33z lidnge ge Cagiuaill (o (Seiy ) Il sl dliol aposs
(OedSinall Giile Jo> Juaddl (o 2jell Oguns>
w83gllg liwall (o byl plaid 48lS > lo s Z3geid) HeSu B besic Gananil dlb dSdw ygks
13si2i 5181 Z3eail Jozu Gamasndl B muouai Sl .dxgl) diuge @8 920 3usS 5Ll d (HeSa LIy

215 5l G 4 59848 2l bl Ojnty Z39eill poihy Loaic sghatd yaganill by dSiie Lol
.regularization dyguwil alasuiwl Z3geil aubes (o b dousuad (Sed Sillg
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eliodl <83l (e dlac gy)line Bpise dpall pogaill (8 yeliwell Judo

OLd (ILlg Lsrs>Y Ao oo calizi Llioll Lgasd ol daslall codoleoll plee b dlSuivall (oS
B8332 0)35 Wby degazo JS o dalie @u8 upzd o Gliall eudll 03g) Jouosl) 8au>oll ddy)hall

09 Laale licgy o 8 aaiziw g daslall codleleall @ygat) Gylall (ro a2l Scikit-Learn ,sg

38T 9031 2dsS

ghliinll pudill gn Lauill éayll 7.9.1

gl azall sl g o Sl Conds ol el Lna] 5 Lgoini anivs (ol Lyl e

:grid search with cross validation
Lo @Sadll Ol S 2o @ o9 diSadll eadll pams oo grid s il (oSl ol o

o Libge .dailall codoloall 83358 0ub degazo auidt) dossiuoll dayyhll gog :gblaiall qudill
L 0S8 il UL (o padss Loo eudill lilog cuyaid) ULy Ll UL euwds
SUly e’ K-Fold cilygladl (o 330 3c 2o gblaioll euudill pxsiw «)ysill lgolxsiwl
Tl 0y pedi 8o JS 9 80 K ily Lo 1S pgdi @3 oy Dbigladl (o Ksae LIl )il
o2 iladl claBl Golio HeSy «dilal o8 K dygladl WLy &o daygds @3 (og digl> K-T bily go
bl JS) Uasdl bhuwgio

foh oS gblaioll euusill 2o Suidl Coudl Wlghs pasdi (Sl
daslall coMolaall (yo @S slael .1

daslall cololaall aud OluSy JS sdes .2

il (o S5 JS) zoges slis] 3

fbliiall agaill alsmiuwl z3g0ill euds .4

L83l 1581 95 Oolaall pud uSyi Hlusl .5

ey JSy pgdy Scikit-Learn 6 GridSearchCV 38l oY Wilshsdl 030 dowyu pgss () «&udalb
Adle Wlawlge 93 Lgwls Lle deludl Glg> bl Hay (§)iwy 28 8)auill duais ol dasdo s

from sklearn.model_selection import GridSearchCV

from keras.wrappers.scikit_learn import KerasClassifier

# asdyzall odlaleall ALYl el lus
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model = KerasClassifier(build_fn = create_model, epochs = 25,
batch_size=128)

# dedyuall oMaleall @Saall @il asy

embed_dim = [32, 64]

hidden_unit = [16, 32, 64]
dropout_rate = [0.2]

optimizers = [Adam, RMSprop]
learning_rate = [0.01, 0.001, 0.0001]
epochs = [10, 15, 25 ]

[128, 256]

batch_size

param_grid dict(embed_dim = embed_dim, hidden_unit = hidden_unit,
dropout_rate = dropout_rate,

learning_rate = learning_rate, optimizers =
optimizers, epochs = epochs, batch_size = batch_size)

# el Lol jlasy zigadll el

grid = GridSearchCV(estimator = model, param_grid = param_grid, cv =
3)

grid_result = grid.fit(X_train, y_train)

results = pd.DataFrame()

results['means'] = grid_result.cv_results_['mean_test_score']
results['stds'] = grid_result.cv_results_['std_test_score']
results['params'] = grid_result.cv_results_['params']

print("Best: %f using %s" % (grid_result.best_score_,
grid_result.best_params_))

# ol Las

results.to_csv(r'gridsearchcv_results.csv', index = False, header =
True)

results.sort_values(by='means', ascending =
False).reset_index(drop=True)

:d2d,iall oNoleol) eud)l Juadl daylull 8xapidl 2 )5 s

Best: 0.898588 using {'batch_size': 256, 'dropout_rate': 0.2,
'embed_dim': 32, 'epochs': 10, 'hidden_unit': 64, 'learning_rate':
0.001, 'optimizers': <class 'keras.optimizer_v2.adam.Adam'>}
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.gridsearchcv_results.csv caloll 8 ddiodl wdelesdl Gluws Zls basss

‘esdll 03 duleos Sl
# dedyull odlaleall Byles pils 8ely8
results = pd.read_csv('gridsearchcv_results.csv')
results.sort_values(by="means', ascending =
False).reset_index(drop=True)
print (results)

205l sy
means stds params

{'batch_size": 256, 'dropout_rate": 0.2, 'embed_dim" 32, 'epochs’: 10, *hidden_unit’: 64, 'learning_rate":

0 0898388 0004178 0.001, 'optimizers": <class 'keras.optimizer_v2.adam.Adam'>}

{'batch_size": 128, 'dropout_rate" 0.2, 'embed_dim': 32, 'epochs": 10, *hidden_unit": 64, 'learning_rate":

[ 0.001, ‘optimizers": <class 'keras.optimizer_v2.adam.Adam'>}

{'batch_size": 256, 'dropout_rate": 0.2, 'embed_dim'": 64, 'epochs’: 10, *hidden_unit": 64, 'learning_rate":

2 0897553 0000789 0.001, ‘optimizers": <class 'keras.optimizer v2.adam.Adam'>}

{'batch_size": 128, 'dropout_rate": 0.2, 'embed dim'": 32, 'epochs’: 10, *hidden_unit’: 32, 'learning_rate":

2T T e 0.001, 'optimizers": <class ‘keras.optimizer_v2.adam.Adam'>}

{'batch_size" 128, 'dropout_rate" 0.2, 'embed_dim': 64, 'epochs” 10, *hidden_unit": 32, 'learning_rate":

4 0896883 0002410 0.01, 'optimizers": <class 'keras.optimizer_v2.adam.Adam’>}

wganll Jljgi ubwa 7.9.2

Olaygil sac Lle Labas (Wlagy2il (o %73) degall dudnsll il Wlagy2il sac ol Jasd i (Sed
OS50 sz gall Al g pledl ZLs Calsil L] (5361 38 Low (%613) sxylall lagysilly (%13) duledl

B3 dgauall 030 o Gilgall Gab e U3 LN

Hlgig 83uellg ddlully dusgaldl olagyedl sac dJUI 8yaudll O Cuws

# ol oliel olus
posCount=0
negCount=0

neuCount=0

# sulally dludly devgall @layedl sae wlus
for index, row in tweets.iterrows():
if row['polarity']=='negative':
negCount=negCount+1
elif row['polarity']=="'positive':

posCount=posCount+1
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else:

Loyall Goguaill Lo seliall Julos

neuCount=neuCount+1

print(negCount,

neuCount, posCount)

total=posCount+ negCount+ neuCount

# o Ol

weight_for_0
weight_for_1
weight_for_2
print(weight_

class_weight

(1 / negCount) * (total / 3.0)
(1 / neuCount) * (total /7 3.0)
(1 / posCount) * (total / 3.0)

for_0, weight_for_1, weight_for_2)

{0: weight_for_0, 1: weight_for_1, 2:weight_for_2}

(i gall Olayaill ;2081 Oigll o> 3) Gh o oljs8l 030 delds 35U (yeS

2.4954429456799123 2.504573728503476 0.45454545454545453

Lilpill pleill gagni clii 7.9.3

screate_model daluwdl dIsl go Caiuanll slid scikit o KerasClassifier dlal pasiws

from keras.wrappers.scikit_learn import KerasClassifier

# alayl dedyuall odloledl @b pe zigadl eladl

model = KerasClassifier(build_fn = create_model,

# zigadl oMales
dropout_rate = 0.2,
embed_dim = 32,
hidden_unit = 64,
optimizers = Adam,
learning_rate = 0.001,
# oyl oMales
epochs=10,
batch_size=256,

# peddl olly &
validation_split = 0.1)
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# Copadl olly 2o zigadl daidla

# DMl Bgaall dilga po

model_prediction = model.fit(X_train, y_train,
class_weight=class_weight)

il 8pacinll L8 Lot Jas3) eusdilly oyl by (e JS) accuracy @l Gioie euny 31 (S

Accuracy

H(euditl) sl Obly o %10 iy Lslazs |

# zigadl @By dylea
# prdidly copadl
fig, ax = plt.subplots(figsize = (10, 4))

ax.plot(model_prediction.history['accuracy'], label = 'train
accuracy')

ax.plot(model_prediction.history['val_accuracy'], label = 'val
accuracy')

ax.set_title('Model Accuracy')
ax.set_xlabel('Epoch")
ax.set_ylabel('Accuracy')
ax.legend(loc = 'upper left')
plt.show()

I JSid] Gioial) 90

Model Accuracy

0.95 1 — train accuracy
val accuracy

0.90 1
0.85 1
0.80 1
0.75 1
0.70 1
0.65 1

0.60 1

0.55

Epoch

110



oelibodl 83l (e dulac )lire Spiac

Loyall Goguaill Lo seliall Julos

chill guuldn ulwa 7.9.4

.Precision d8.1Jl .Accuracy dswall) ol Jiluo 8 ddgyeall cls3l Guulio wlws I3 jSed

Bl uolie

from sklearn.metrics

# Bul wuldbe

from sklearn.metrics

from sklearn.metrics

# f1

from sklearn.metrics

# syl ddghan

from sklearn.metrics

# syl olls woss

i Byanid] plasiwl eleiall Z3gaill (F1 Luldall Recall HS3iwsl

import

import

import

import

import

accuracy_score

precision_score

recall_score

f1_score

confusion_matrix

y_pred = model.predict(X_test)

# ool juolis Olus

accuracy = accuracy_score(y_test, y_pred)

precision=precision_score(y_test, y_pred , average='weighted')

recall= recall_score(y_test, y_pred, zero_division=1,

average='weighted")

f1= f1_score(y_test, y_pred, zero_division=1,

average='weighted")

print('Model Accuracy on Test Data:', accuracy*100)

print('Model Precision on Test Data:', precision*100)

print('Model Recall on Test Data:', recall*100)

print('Model F1 on Test Data:', f1*100)

confusion_matrix(y_test, y_pred)
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H(auanll 839> Gisy oo Guwliall guas g Las)l Jas3) Z5Ladl eSS

Model Accuracy on Test Data: 90.1144387630874
Model Precision on Test Data: 90.90281584915091
Model Recall on Test Data: 90.1144387630874
Model F1 on Test Data: 90.32645671662543

array([[ 366, 129, 241,
[ 53, 444, 62],
[ 20, 118, 2891]], dtype=int64)

:seaborn d&uSell alaxiwl zusgl JSuin confusion matrix GLs)y3l ddgauns auw) (Sal

import seaborn as sns

sns.set(style = 'whitegrid")

fig, ax = plt.subplots(figsize = (8,6))

sns.heatmap(confusion_matrix(y_true = y_test, y_pred = y_pred), fmt =
'g', annot = True)

ax.xaxis.set_label position('top")
ax.xaxis.set_ticks_position('top")

ax.set_xlabel('Prediction', fontsize = 14)
ax.set_xticklabels(['negative (0)', 'neutral (1)', 'positive (2)'])
ax.set_ylabel('Actual', fontsize = 14)
ax.set_yticklabels(['negative (0)', 'neutral (1)', 'positive (2)'])
plt.show()
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Prediction
negative (0) neutral {1) positive (2)
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positive (2)

Al L8 Lo (o ST 3929 A L doasiwdll (53531 <ls3l Gunlio Loy Oluus HSel
:(Micro, Macro, Weighted)

# oo o uSh Wl 8 elbYl Luplis

print('\nAccuracy: {:.2f}\n'.format(accuracy_score(y_test, y_pred)))

print('Micro Precision: {:.2f}'.format(precision_score(y_test, y_pred,
average='micro')))

print('Micro Recall: {:.2f}'.format(recall_score(y_test, y_pred,
average='micro')))

print('Micro F1-score: {:.2f}\n'.format(f1_score(y_test, y_pred,
average='micro')))

print('Macro Precision: {:.2f}'.format(precision_score(y_test, y_pred,
average='macro')))

print('Macro Recall: {:.2f}'.format(recall_score(y_test, y_pred,
average='macro')))

print('Macro F1-score: {:.2f}\n'.format(f1_score(y_test, y_pred,
average="'macro')))

print(‘'Weighted Precision: {:.2f}'.format(precision_score(y_test,
y_pred, average='weighted')))
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print(‘'Weighted Recall: {:.2f}'.format(recall_score(y_test, y_pred,
average='weighted')))

print('Weighted F1-score: {:.2f}'.format(f1_score(y_test, y_pred,
average='weighted')))

# ool 48
from sklearn.metrics import classification_report
print('\nClassification Report\n')

print(classification_report(y_test, y_pred, target_names=['Class 1',
"Class 2', 'Class 3']))

H(Caiad)l 835> Lig Lo uwliall geex £ 5] bi>3) Glag) los

Accuracy: 0.88

Micro Precision: 0.88
Micro Recall: 0.88

Micro F1-score: 0.88

Macro Precision: 0.79
Macro Recall: 0.83

Macro F1-score: 0.80
Weighted Precision: 0.90
Weighted Recall: 0.88

Weighted F1-score: 0.89

Classification Report

precision recall f1-score support

Class 1 0.79 0.75 0.77 519
Class 2 0.59 0.82 0.69 559
Class 3 0.98 0.92 0.95 3029
accuracy 0.88 4107
macro avg 0.79 0.83 0.80 4107
weighted avg 0.90 0.88 0.89 4107
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o duzy )b dmed Gl pany 8Ll el dlme ddiye dogs pluwg wle il wlo Jgwdl 8juwg digsedl 7 U Sy Jres axis

rresults.csv cale (8 bl aa>g lgariuaig sava> didlgine lxn)yei degaxo Hlus Lul (Ses

# Ll deganme al
text_clean = tweets['tweet _clean']

text_train, text_test = train_test_split(text_clean, test_size = 0.2,
random_state = 0)

result_test = pd.DataFrame(data = zip(text_test, y_pred), columns =
['text', 'polarity'])

polarity_decode = {0 : 'Negative', 1 : 'Neutral', 2 : 'Positive'}
result_test['polarity'] = result_test['polarity'].map(polarity_decode)
pd.set_option('max_colwidth', 300)

# il bas
result_test.to_csv("results.csv")

result_test
Mo zLidl (4583

w58 Jby o550 opmw Jay Sl &) Neutral
d>lpwll digay go Juolgill zLiisVl SlEgl dsymalg dilazl (SloVl o yguaill ju=al  Positive

Positive

1ol posid) U Jezl pgw) woymall
&il) olray ol jaslly whsll jozlly Ml 1o jac e &, glas 4 a2g  Positive
liz aziiye Geuilly DlsBllg aclhall jlewl awll oS Liazg gias e 8L G=iwi  Neutral

dandall 7.10
S3ylng Ly dizge Ll dnpall poguaill Casiaid ales 23905 sl Olghas Juadll 136 6 Ly

OULdl degose Lle g3 s 39 ko)l 132 (0 Google Colab gége (o sols JLall dyyzd Sl

Jradll gy dolsJl 8y8g:0ll
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sadiall Oluojlgs alasiwl Ligusl] yzio sdlac &jod

idaojyle=l Z >

(K Wsae Gall) aliall ast Il Joall jolis o pois JS dsop)londl Sawd

:dzloll

28lgll 38108 Gilgsine JSuin Joall deail (o £l K 3ol duojylosl Hliss
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I Gaglanl] Jliall e W3gass wlghs dol (o2 dohlsall J>lre pes)

D = { (5,3), (10,15), (15,12),
(60,78), (55,52), (80,91) }

(24,10),

AWl dpinad] poliall degas Lnad oSy

(30,45), (85,70), (71,80),

(k=2) (nasiie L) lgapnds 3y Ll poyang

181 Il sgdizall Spe Gl yuaially Jo3l spdiel 3SyaS Jo3l maisll dio Ll

cl1(x) 5, cl1(y)=3

c2(x)

10 , c2(y)=15
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N yuaisdl aidy 523Spall (o JS o ULl polic (o maic JS (241831 d8lurall) 223 31 Comn

o H9Sa )83l 5S4l
Siand)l sgdinll a8l dSlunoll a,g.x.,,‘.l.'é;ll dSLunoll seciall
aJ| SWlsHall e Jodl jSHall o

C1 13 0 (5,3) 1
c2 0 13 (10,15) 2
c2 5.83 13.45 (15,12) 3
c2 14.86 20.24 (24,10) 4
c2 36 48.87 (30,45) 5
c2 93 104.35 (85,70) 6
C2 89 101.41 (71,80) 7
c2 80 93 (60,78) 8
c2 58 70 (55,52) 9
c2 103.32 115.52 (80,91) 10

ole Juamid Gosgiiall $3Spe O3 s

c1(x) =5, cl(y)=3

c2(x) (10 + 15 + 24 + 30 + 8 + 71 + 60 + 55 + 80) / 9

47.77

50.33

c2(y) (15 + 12 + 10 + 45 + 70 + 80 + 78 + 52 + 91) / 9

‘ole Juami) ddasll e

siaandll sgiill  Daadsl ddlunall  DadERl dSluroll

| SWSall g JoBlispall e P
1 63.79 0 (5,3) 1
C1 51.71 13 (10,15) 2
1 50.42 13.45 (15,12) 3
C1 46.81 20.24 (24,10) 4
c2 18.55 48.87 (30,45) 5
c2 42.1 104.35 (85,70) 6
c2 37.68 101.41 (71,80) 7
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siaandl sgiill  Aaasl ddlunell  DaudEPl dSluroll

a) WWSall g JoBl jSpall e
c2 30.25 93 (60,78) 8
c2 7.42 70 (55,52) 9
c2 51.89 115.52 (80,91) 10

ke Juamid (gl Grgdiall $3Sp0 (B s

cl(x) = (5, 10, 15, 24) / 4 = 13.5
cl(y) = (3, 15, 12, 10) /7 4 = 10.0
c2(x) = (30 + 85 + 71 + 60 + 55 + 80) / 6 = 63.5
c2(y) = (45 + 70 + 80 + 78 + 52 +91) / 6 = 69.33

‘oke uasi ()5l b0 dudasll aus

sind)l sgiin)l  DaasBl dlumoll  dranEPl ddlunall

a) GWSall g JoBl jSpall e
(o 88.44 11.01 (5,3) 1
1 76.24 6.1 (10,15) 2
C1 75.09 2.5 (15,12) 3
C1 71.27 10.5 (24,10) 4
C1 41.4 38.69 (30,45) 5
c2 21.51 93.33 (85,70) 6
c2 13.04 90.58 (71,80) 7
c2 9.34 82.37 (60,78) 8
c2 19.3 59.04 (55,52) 9
c2 27.23 104.8 (80,91) 10

ioke Juais (sl (ossdiall (S350 O3 i

c1(x) 16.8

(5, 10, 15, 24, 30) / 5

17.0

cl(y) (3, 15, 12, 10, 45) / 5
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c2(x)

(85 + 71 + 60 + 55 + 80) / 5

70.2

c2(y) (70 + 80 + 78 + 52 + 91) / 5 74.2

28l 3Shhall iy )il Gagy oo pais ST aluw] pugiy N6 diasll 342]

Ll 0308 Gomidd Ol cazg .3.8 5ol Hely &) dumoy din Juadll 13s Ol 34 zlisg
deslhisl Ol cliv) dus i3l Ol ¢huing il il A2l a0 deoyull

CEVSHIETR N IEREE ST S vprey Ul Shdadll v paud
Lo e un 2l 3539 dumordl el o Spsio NS e > (0 Bebatass Lo ulelas bl
Lgoumuaiy duzopdl Whapill ) las | bude Jgus

0 OSai Ol Jod Lislakey blaisy Jac d>luo sLisd ellsg woluill pasy cuniid 3ol gLiss
Lol pglal

1380 du] J>29 licg pinas LA 13532 130w ¢uinid

mkdir clustering

cd clustering
:dusliod] ddl sl I o8l Jaid
python -m venv clustering
iduslyied] &l i Linux o8 QLI 303l @5 (o
source clustering/bin/activate
il yol (eSad Windows b Lol
"clustering/Scripts/activate.bat"

M=o o requirements. txt cale clis] Jd> (o oyl OluSall (o 83330 Olylawo| pasiws
ieg!aUa;w(?ﬂlgubb“o§bLuhﬂauﬂlgnhdH;mgiagmg.&9yLAH

QJL+ﬁQﬂL¥JJJJdU59.&gun)kuu3|ghy559‘uogxﬂﬂ))ap(gé requirements. txt aloll Zuias
eilylawolg gy Ll
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https://docs.python.org/3/library/venv.html
https://pypi.org/project/pip/

oelbaodl slS3l (e duloc gl By 8adisll Oloj)los alaiiwl Ligyis] o sdoc &2

jupyter==1.0.0
numpy==1.21.5
scikit-learn==1.0.1
scipy==1.7.3
pandas==1.3.5
matplotlib==3.5.1

;W1 3L OlaSall 03 s @b (pogaill jymo (o Z sy caloll Lle Wb Ll il bhass
(clustering) $ pip install -r requirements.txt

1380 il ddac JloiS| 3y Jupyter Notebook dueydl colyacill jyme J8id
(clustering) $ jupyter notebook

Mo Clust puoly ddundy ypmall J515 08 133a Lo &l o

ouleill Jlinll 344ii 8.4.1

matplotlib duSell alasiwb lgewys @badl oesledl Jliall bl slash Jof Tas

# aa8y))l desa

import numpy as np

# payl 4Se

import matplotlib.pyplot as plt

# ol eludl

X = np.array([[5,3],
[10,15],
[15,12],
[24,10],
[30,45]7,
[85,70],
[71,80],
[60,78],
[55,52],
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[80,911,1)
# syl
plt.scatter(X[:,0],X[:,1])
plt.show()

20 1

10 20 30 40 50 &0 70 80

ny_iigigﬁhﬁ.sklearn.clusterSgéudI&gSogyaKMeansgjuﬂlﬂgsiwI&QUH&gqﬂdlo+j

e KMeans dw))lgs> it day,lall 315 gl audliadl 3ac 2250 &o caall lae (o (Model Z3g05)

Q&Q.“adeCJQA#ﬁ)}ixﬂ|QnEAqA%§Uﬂ|i+gﬂgi”pés.b9umﬂ|@ébﬂ”)bqggAyaﬂhDUQg
au8liell 3She delib Lo

# KMeans

from sklearn.cluster import KMeans
# Qall o oy clid]

# Oglhall Bl sac auass

kmeans = KMeans(n_clusters=2)

# ol ze dadall

kmeans.fit(X)

# Shall deldb
print(kmeans.cluster_centers_)

# lall olaw dcldb

print(kmeans.labels_)
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2ol 0

[[70.2 74.2] [16.8 17. 1]
[T1T1110000 0]

;W 8yl (s eS predict

# gl
print(kmeans.predict([[10,10]]1))

o 25l 09S) Cu
[1]
AW 8paidl ad WS juno ol 3STho &o oyl bolss quoy Laut (S

# Sl 2o @yl
plt.scatter(X[:,0],X[:,1], c=kmeans.labels_, cmap='rainbow")
plt.scatter(X[:,0], X[:,1], c=kmeans.labels_, cmap='rainbow")

plt.scatter(kmeans.cluster_centers_[:,0] ,kmeans.cluster_centers_[:,1]
, color="'black")

25l 0o,
.

a0 - .

B

]
m.
]
B
_qD.
20 -
™ "‘
L

ol ®
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0 ULl Jpass A1 ol dys5 Ll Babic Loy dywlwdl Lillus dallee) 31 Jaws

.pandas duSall o Wbl Hbl L9 lgewsgg shopping-data.csv caldll

# olbldl ] desSa

import pandas as pd

# o oUll Jeass

customer_data =

# oULI dungy slebl

customer_data.head()

CustomerlD Annual Income (k$)

0 1 15
1 2 15
2 3 16
3 4 16
4 5 17

pd.read_csv('shopping-data.csv')

:oblul JSlgl yghas

Spending Score (1-100)
39

81

6

77

40

Eomiinid 5 - onblisdl Ol ddas 8 Jo 3 (S ULl ] o pgll e8) Wl 8rapill 9 O3
(8,1 13g) Bisuasd 2048 8>3 (by23) dures]) Ggluns as8liall 33e 20 KMeans Cawall (o laleio 53505

# ool @By Sl

data = customer_data.iloc[:,

# sl zigadl clad)
kmeans =

1:3].values

KMeans(n_clusters=5)
# olll go dasMall
kmeans.fit(data)

# Shal dcldb
print(kmeans.cluster_centers_)
# olawdl dcldb

print(kmeans.labels_)
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[[88.2 17.11428571] [55.2962963 49.51851852] [25.72727273
79.36363636] [86.53846154 82.12820513] [26.30434783 20.91304348]]

[42424242424242424242424242424242424

2424242414211 1111111111111111111111
tr1T1T11111111111111111111111111111111
tT1T1111111111111111303130303130303603
03130303030303030303030303030303030
303030303030303030303030 3]

AW 8ya,idl Alasiuwl jShall 2o bladl @y ol o3l Sl

# syl
plt.scatter(datal[:,0],data[:,1], c=kmeans.labels_, cmap='rainbow")
plt.scatter(datal[:,0], data[:,1], c=kmeans.labels_, cmap='rainbow")

plt.scatter(kmeans.cluster_centers_[:,0] ,kmeans.cluster_centers_[:,1]
, color='black")

plt.show()
o) oo
100 1
a0 - . .
60 o o
.
w0 e e e > .
l-I‘ % .
§ o %
20 1 »
. * L
g of ‘. ’.I .
. | N ve o’
20 a0 &0 B0 00 120 140

I 11 == mm 6 - = II yﬂm 1 - mm 8.5
(8adill ddac (o Luolw3l Caagll 50) Ll Lo zliiwl Gl JSuidl dilasy W (Sl

iyl GLaiBly daaspall il 993 L b (shyamall Ll blas) Guadl el 6 bl o
cade daslally Lgs mgdlagiml calgll Hib)l ao 350
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2iinall GLaslg ddasiall Clgyl 955 LI ed (chuasdl ULl blas) Hludl Glel b 5Ll »
Ao Blaxanil Odas 0gdlagiwls cgr Llall Colgll Uil eo s350

Blaidly d2a5yall Calgydl 993 Lyl ed (dezcwaidl UL bLas) Guadl Jawl o oSyl e
a3 Sl Lo dizgunid] Gxhlb pgrdzr zloll (LI o 350 sl

BLaidly daasmiall Cilgytl 593 Sl e (chasdl UL bLas) sl Jawl b oSl
0a50 3g20lg Bl (o iUl dclsd £ 15 3 . abioll

Jowgiall (LaiRly bhwgiall Jsadl Oleol (LI es (L)1 bl blas) Jawell o oSl
(3l Sl e WS S @336 Of L3 LT ogdlagiunl (ySad

oo Joleall 13e cunsdg Silhouette Coefficient geaall Jolooll alasiuwb dasiell Z0l6 euudd (ol
‘b LS X bl aic Joi

__(b—qa)
Scx_max(a,b)

X paill 48 39>g0ll dgéisll Guds 9 839>g0ll poliedl Hwg X Hw Olwall Glawg o a  »
X dgdic (o duydll sudliall (9 83g>g0ll yoliadl wg X G Ollwell Glawg o b e

a=avg —

\ X
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‘doleall 132 Jo> b b dlasdo ()Sed

1 oo d doud lgwlg T oo d dagd Juadl o

.8Lell 6 overlapping <Slys a>g I 0 doysll JNI

X )bl 5T sgiic a2y 3] Hbls 398ic 28 X paisll 3929 Gle Al dogdll Joi

:gzsi lgio JSJ Joloall doud lawg ULl (o degoxal silhouette _score Jolaodl 90
silhouette _ score= Average (SC, ;, x)

Z&AU“&#HJJ|O+SlASSklearn.metriCS¢y>JABMJHAQ;;LA>(}HM¢J¢ﬁQé

from sklearn.metrics import silhouette_score

cluster_labels kmeans.fit_predict(data)

# Joledl olus

silhouette_avg silhouette_score(data, cluster_labels)

print(silhouette_avg)

o0 Lililg WLl g & Jo3I J55 Gloles silhouette score Jooloall luns dbyylal (oS
Aol Fit predict diyhll slesiwl o @5l axdball lowws

Wi b ZWI oS,y

0.553931997444648

eyl OUld cawliall Gliodl auBliall sac 3w Silhouette Coefficient Jolaall alasiwl (el
Jooloall dpabact dogd Glagl (s3I sasll HlLis| @ (yog 3x8Lsll 3a2) dalie @xd go Jolooll Olusy g

;W 8yaidl (yuss LoS

# &Sadll el degase
range_n_clusters = [2, 3, 4, 5, 6, 7]
for n_clusters in range_n_clusters:

clusterer = KMeans(n_clusters=n_clusters)

cluster_labels clusterer.fit_predict(data)

# Joledl olus

silhouette_avg silhouette_score(data, cluster_labels)
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For
For
For
For
For

For

print(
"For n =",

n_clusters,

"silhouette_score is :

silhouette_avg,

)

n = 2 silhouette_score
n = 3 silhouette_score
n = 4 silhouette_score
n = 5 silhouette_score
n = 6 silhouette_score
n = 7 silhouette_score

is :
is :
is :
is :
is :

is :

n
!

sadiall Oluojlgs alasiwl Ligusl] yzio sdlac &jod

:3u8li2ll 332) dlaise doud JS J21 o Jolaoll xghal Las

o O O O o o

.2968969162503008
.46761358158775435
.4931963109249047
.553931997444648
.5376203956398481
.5270287298101395

Audlic dunas b ddioll dagall ol las Gl

oy Gb e oSl 3 liall s c sLoud A dilse dapb 5d65 lgih LLSH Sluoj,lg2l jlies

:dendrogram yasdl lguasy go sudlill @os byoud

Hdgojyledl Yo

£lad 00 Xi G {XT, X2, . . ., XN} :dead))l dad¥l (o degamo e Bluc Ly sl Olly

idaoj)lo3l 25>

.dendrogram gasdl lguaey go 3.8l @os 8y *

rdzdlaoll

gsic 8 Ul polic o yaic JS 2ids duojlsalllag

1au>g 39iic Il Bguog oy Lo deojylgadl 5)S5 o

Lyszluqyégg&o¢239&&kTU§Tépa o
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Single Linkage by wul o)l dla_uoll dayyhall lglaunl (o «(pdgdic )8l sl (@b sac d>g
0 O (o 40luns 320l Lo dgdic G d8lunall iuky LaS (dgdic (uy d8Lumall s il

(dgdil (pis

O bl o @ (09 Luardanll UL go &liSall Luojlgall ol Losd padeius

adoc Jugni) (8y—ill) drodaill UL blas duowsd oy d iyl & Wl by il (o)
dalially 830 L]l

#10 ,... ,2,1 : oleudl

labels = range(1, 11)
plt.subplots_adjust(bottom=0.1)
plt.scatter(X[:,0],X[:,1])

# LE i
for label, x, y in zip(labels, X[:, 0], X[:, 1]1):
plt.annotate(
label,
xXy=(x, y), xytext=(-3, 3),
textcoords='offset points', ha='right', va='bottom')

plt.show()

NP U ISIAY
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15
L ]
7
80 - B .
B
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: 2031 8liall sac slsul Jai (e dendrogram zesll sysud euy) dopdl yéially gl fas

# a0l oLl

from scipy.cluster.hierarchy import dendrogram, linkage

# bl byl jlesd

linked = linkage(X, 'single')
# 10, 2,1t olawdl
labellist = range(1, 11)

# dendrogram
dendrogram(linked,
orientation="top',

labels=1labellist,

distance_sort="descending',

show_leaf_counts=True)

plt.show()

tosiic g (Sdll aubliall sae O Guad il Aol el By (ke
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35 1

25 1

20 1

]5_

9 5 8 7 10 6 3 rl 4 1
22 Gl Bgluo ablidl sac cdb go AgglomerativeClustering dlsl o3l gessiws

from sklearn.cluster import AgglomerativeClustering

#oALS sadsll

cluster = AgglomerativeClustering(n_clusters=2)

# oLl ge daidlall

cluster.fit_predict(X)
maic JS deic Olpaws gl Gillg
array([1, 1, 1, 1, 0, 0, 0, 0, 0, 0], dtype=int64)
1a8lis)l sy Lyl (S

PR
plt.scatter(X[:,0],X[:,1], c=cluster.labels_, cmap='rainbow")
plt.show()

oleb3l Koo
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20 1

:@ilas 8yaud Alasiuwly U Alwe L O3 Jéis

# byl ¢o
linked = linkage(data, 'ward")

# dendrogram

dendrogram(linked,
orientation="top',
distance_sort="descending',

show_leaf_counts=True)

# syl
plt.title("Customer Dendograms")
plt.show()

1Sl ol Byouin dinles (HSed
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Customer Dendograms

400 4 I

350 -

300 4

250 l

200

150

5 5 Cawliall 38Lall 33 o opusd Gl
dJWl dpauill o AgglomerativeClustering dlal gesiws

cluster = AgglomerativeClustering(n_clusters=5, affinity='euclidean',
linkage="ward")

cluster.fit_predict(data)
# oyl
plt.scatter(datal[:,0], data[:,1], c=cluster.labels_, cmap='rainbow")

plt.show()
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(53195 ,1591) Cagauall 03a (o ST of 35lg) 3yaall Gasuill Caruas @ oy daslull
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Jto Carinaill Ao 8 dogall jut yo03l o dcgamo Ll Lgilaisly cale JSuin wnlagyzill jpais
A& yuc9 EMOjis dyyueill jo0)llg Hashtags agwgllg Links laslg)ll

:.. ‘,.. sllulxwlkﬁgudulwlﬁ

A
1 tweet topic

@sssdddnnn333 @ MohammedAlDeaye 4l ligas o you LS () pa Laand 0his (s o)l

2 i o I D (o8 B Jle-.. hittps://t.co/vOAhSaCk8e Sports
RT @Alhilal_FC: §J QW Lgadl Ll
#) U x - sladl

#3L0Y I3
3 | @salem_d29 https://t.co/wpwilLcdVjo Sports
RT @fahadaljehani: cadadb sl COE dasiall (o niSJI
4 sl _ellatt J adlal d6all At @salem_dlg Lowdlly 3psball § 3,4l Cariue29... Sports
RT @aboaljorya: @AhmedAllshehri cuds G
5 01,4 Jldl edl €D Business
RT @salem_d29: Jlss! deg luass e UM jaeomr Jind ol (g ¢ o Y (§)as ¢ aldasdl
B |19¢opallgogladl § L) mgassg egiaBgg caedll.., Sports
7 ool Do slul dis JU 312009 Jurmiens 1! Bnall $3gr <l Ll Technology

waR) 345 b e s yogaill Go had dagall BlalSIl Lle Jouall Ll Aol dalsall ags
Lgde dgalll el

Al Aol slio L) (Sl

"toto@ le35n LBLY) Ro (>l D ag JS . diyasdl Ll Oladll ol Ui

AUl Oldesll Mo agdiw

Ll dloxdl 25U 0980 el jo0,llg pawslly kulgyll 03> .1

"33 GBSy Ro >luo 9 pey JS Ldiandl LIl Lladl ol i

1ds) Ll dasl 756 )9Sy ilaysts plgaiwdl wilhlily Juolsalls dalisall pudydl wolyls] 8i> .2
"e350 G518y 2o Loluo 9 pey JS dsyasdl W] oloill ol Ui

:dsy Ll Aol 276U (5980 1paill 8 83)lg)l Ale)3l Lad> .3

"33 GBSy 2o 1>luo ag JS diyaadl L)l wla il ol BT
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elidodl Al (e didac gyyline Syuine dwyell egilanyes e sloiedb Wluasill carual

Lasiloo (8 3355 39 Loguaill b 1S 5)Si Ll BlalSIl Lag Stop words Cadgidl lalS o3> .4
&)Ll dlosdl 25U 9Sud ayucg (... cod (UT) yilaxallg (... o] w(p0) 2l Loy=1S
" 818y luo pgy ddyasdl Olaall Coi

06 ealul Las (£ 3.>) 8a>lg dalS L)l dgliniall HLalSIl £ o)l T stemming OlalSil gy3i .5
waedl lgan) go dgliniall lalSIl ddyllaog «oguaill 6 dalinall dS)l OlalSIl sac Golail

U 09568 (221) 1ehyiiinall €32l Guadi (sl w95y v@aly 25h) g3l lalSl e, e
iyl dlasll

" L.9L9) CL“O A (> g_)LQ:..) wl !

Ll 030 pomdi Ol iamag 3.8 Hlacol 9eils dsll dumey & Juadll s Olyiud 3zl
dushisl Ol slivy duolisdl Ol Giidg wapadl Cuxti) PP a3l yao dxmopdl

ol Aol Jusindg dyyad 13> duto g0 Ao pd| Olyadldl )r>o pdsiws
S 8535 o] Oy bl 0 b 5 Juk5 5 50 bt e el oy 91 el
lgss dumopsl Ohyasil o] ke Jguu Lao oy

00 (S Oi J—9 Lislalay blaisM Joc d>Lwo ;l_uu..)?{ g wlbeddl pasy Caw il §9i Cl—"‘-’
Lixolipy pglal

1380 ] 5259 licgpinay Lol 135> 13)so ¢

mkdir arc

cd arc
1duslyisdl dudl cli) QW w3l 3as
python -m venv arc
:duolyiodl Al i) Linux GusSiw b Gl xo31 @f (o
source arc/bin/activate
ol yol (59Sud WiINdOWs j9aug (56 Lol

"arc/Scripts/activate.bat"
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https://academy.hsoub.com/devops/linux/%D9%83%D9%8A%D9%81%D9%8A%D8%A9-%D8%AA%D9%87%D9%8A%D8%A6%D8%A9-%D8%AA%D8%B7%D8%A8%D9%8A%D9%82-%D8%A7%D9%84%D9%85%D9%81%D9%83%D8%B1%D8%A9-jupyter-notebook-%D9%84%D9%84%D8%B9%D9%85%D9%84-%D9%85%D8%B9-%D9%84%D8%BA%D8%A9-%D8%A7%D9%84%D8%A8%D8%B1%D9%85%D8%AC%D8%A9-python-3-r388/
https://docs.python.org/3/library/venv.html
https://pypi.org/project/pip/

elidodl Al (e didac gyyline Syuine dwyell egilanyes e sloiedb Wluasill carual

M=o o requirements. txt cale el Jd5> (o oyl OlaSall (o 83330 Olylawo| pasiws

L]zl Gl Ohluoly ldhiall Caloll 130 33duws < g iroll

guL+ﬁQdL»3>aJeU39.iJUH)Luuglgﬁyzﬁg‘uogguﬂ))zptgérequirements.txt._ihﬂlaiﬁ
‘lgihlauols gy il

absl-py==1.0.0
asttokens==2.0.5
astunparse==1.6.3
backcall==0.2.0
cachetools==5.1.0
certifi==2021.10.8
charset-normalizer==2.0.12
click==8.1.3
colorama==0.4.4
cycler==0.11.0
debugpy==1.6.0
decorator==5.1.1
entrypoints==0.4
executing==0.8.3
flatbuffers==1.12
fonttools==4.33.3
gast==0.4.0
google-auth==2.6.6
google-auth-oauthlib==0.4.6
google-pasta==0.2.0
grpcio==1.46.1
h5py==3.6.0

idna==3.3
imbalanced-learn==0.9.1
imblearn==0.0
importlib-metadata==4.11.3
ipykernel==6.13.0
ipython==8.3.0
jedi==0.18.1
joblib==1.1.0
jupyter-client==7.3.1
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elidodl Al (e didac gyyline Syuine dwyell egilanyes e sloiedb Wluasill carual

jupyter-core==4.10.0
keras==2.6.0
Keras-Applications==1.0.8
Keras-Preprocessing==1.1.2
kiwisolver==1.4.2
libclang==14.0.1
Markdown==3.3.7
matplotlib==3.5.2
matplotlib-inline==0.1.3
nest-asyncio==1.5.5
nltk==3.7

numpy==1.22.3
oauthlib==3.2.0
opt-einsum==3.3.0
packaging==21.3
pandas==1.4.2
parso==0.8.3
pickleshare==0.7.5
Pillow==9.1.1
prompt-toolkit==3.0.29
protobuf==3.20.1
psutil==5.9.0
pure-eval==0.2.2
PyArabic==0.6.14
pyasn1==0.4.8
pyasn1-modules==0.2.8
Pygments==2.12.0
pyparsing==3.0.9
python-dateutil==2.8.2
pytz==2022.1
#pywin32==304
pyzmq==22.3.0
regex==2022.4.24
requests==2.27.1
requests-oauthlib==1.3.1

rsa==4.8
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scikit-learn==1.1.0
scipy==1.8.0

seaborn==0.11.2

six==1.16.0

sklearn==0.0
snowballstemmer==2.2.0
stack-data==0.2.0
tensorboard==2.9.0
tensorboard-data-server==0.6.1
tensorboard-plugin-wit==1.8.1
tensorflow==2.9.0
tensorflow-estimator==2.9.0
tensorflow-io-gcs-filesystem==0.26.0
termcolor==1.1.0
threadpoolctl==3.1.0
tornado==6.1

tqdm==4.64.0
traitlets==5.2.1.post0
typing-extensions==4.2.0
urllib3==1.26.9
wcwidth==0.2.5
Werkzeug==2.1.2

wrapt==1.14.1

zipp==3.8.0

;W1 3L OlaSall 03 s @b (pogaill jymo (o Zxsdg caloll Lle Wb Ll sl bhass
(arc) $ pip install -r requirements.txt

Licgyine Lle Joodl cod (pjal> Guoj Ol 03g) Lo s

11380 il ddoc JaiS] 3y Jupyter Notebook dsopdl olyauill jymo Jdiid
(arc) $ jupyter notebook

Sio 8 usl 4ty pymell S5l 18 1z Bl i o5
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alilull Junai 9.5.1

dSe oo DataFrame UL (o yUb| ous tweets.csv calall (o Wl Joams Jof 13
Loy oy @5 (o9 Pandas
import pandas as pd
# ULl o bl fas hasdy wlayedl 8ely8

tweets = pd.read_csv('tweets.csv',encoding = "utf-8")

# obldl ] e Lledl il Hlgh)
tweets.head()

:lagyail Jilgl L) xgha

tweet topic

0 @sssdddnnn333 @MohammedAlDeaye b siic iz Lu)le... Sports
1 RT @Alhilal_FC: §F Wl bguid! dylag\n# gl ... Sports
2 RT @fahadaljehani: ¢ pol> ZulS dsiadl (o sl Sports
3 RT @aboaljorya: @AhmedAllshehri wuic @e\n,=wll ... Business
4 RT @salem_d29: ;Jg . oy V 5y « dldazl ... Sports

:dl8R)l OLld) 3aacBlg Laganll sac ddyeal) shape JSuidl duols alasviwl (S
print('Data size:', tweets.shape)
Wl HeSo
Data size: (25334, 4)

Jagnill dugill dallenll 9.5.2

Aol 4 893S dymaadnall Lalll dalaa) N1tk aSall Laydgi (il lossdl Gamy Gy Lad pxdiws
s LaS . sogaill o tokens ilasgll zhixiwly (dalS 700 Llg>) dyall dalll Cadedl ilals

.snowballstemmer duSo (yo dwyll OledSII g Ao

po—wollg dyyuill joo)ll e 9) 2l P LaS
1g93>9 bulg)llg
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https://academy.hsoub.com/programming/general/%D8%A7%D9%84%D8%AA%D8%B9%D8%A7%D8%A8%D9%8A%D8%B1-%D8%A7%D9%84%D9%86%D9%85%D8%B7%D9%8A%D8%A9-%D9%81%D9%8A-%D8%A7%D9%84%D8%A8%D8%B1%D9%85%D8%AC%D8%A9-r1374/

,_,cl.;.la.;o A 8 e ddoc &))L;w dyiinc du ]l (o.@,,vb.)).q.: e dleie 3l Wluasuill Caguas

# odwad Judludl  deSe

import string

# deladl yoledl doSe

import re

# dedl ol ik dSo

import nltk

#nltk.download( 'punkt')
#nltk.download('stopwords"')

# gl oldS  acse

from nltk.corpus import stopwords

# ol zlsel 450

from nltk.tokenize import word_tokenize
# ondll gloall desa

from snowballstemmer import stemmer

ar_stemmer = stemmer("arabic")

# odoll e Byl Bis Wls
def remove_chars(text, del_chars):
translator = str.maketrans('', '', del_chars)

return text.translate(translator)

# 5y,Sall Gyloall Bis Al
def remove_repeating_char(text):

return re.sub(r'(.)\1{2,}', r'\1', text)

# oluyedl wdas dls
def clean_tweet(tweet):
stop_words = stopwords.words('arabic")
# dyuedl joayl byla
emoj = re.compile("["
u"\UOOO1F600-\UO001F64F"
u"\UOO01F300-\UOOO1F5FF"
u"\UOOO1F680-\UOOO1F6FF"
u"\UOOO1FT1EO-\UOOOTF1FF"
u"\U00002500-\UOO002BEF"
u"\U00002702-\U000027B0"
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u"\U00002702-\U000027B0"

u"\U000024C2-\U0001F251"

u"\U0001f926-\U0001f937"

u"\U00010000-\UOOTOFFFff"

u"\u2640-\u2642"

u"\u2600-\u2B55"

u"\u200d"

u"\u23cf"

u"\u23e9"

u"\u231a"

u"\ufeOf"

u"\u3030"

"1+", re.UNICODE)

tweet = str(tweet)

tweet = re.sub("@[A\s]+","", tweet)

tweet = re.sub("RT","", tweet)

# lylgyl Bis

tweet = re.sub(r"(?:\@|http?\://|https?\://|www)\S+", "", tweet)

# dyuedl joa)ll bis
tweet = re.sub(emoj, '', tweet)
# wsedl ol Lis

tweet = ' '.join(word for word in tweet.split() if word not in

stop_words)

# oohlayl Bis #

tweet = tweet.replace("#", "").replace("_", " ")
# Pl_‘éﬂ! Ol
tweet = re.sub(r'[0-9]+"', "', tweet)

# dapWl e Bylall Bis

# dgyell adydl ol

arabic_punctuations = "' CEx =t [+~ L9 /L] [N () <>t
# Gyl @ dydl oledle

english_punctuations = string.punctuation

# &3Sy dusell pdydl olodle ey

punctuations_list = arabic_punctuations + english_punctuations
tweet = remove_chars(tweet, punctuations_list)

# 5,,Sdl Bylall Bis
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tweet = remove_repeating_char(tweet)
# okl suedl ghadl ol

tweet = tweet.replace('\n', ' ')

# ludly cpadl e 351 wlelall Bis

tweet = tweet.strip(' ')

return tweet

def tokenizingText(text):
tokens_list = word_tokenize(text)

return tokens_list

# gl oldS Bis Wl
def filteringText(tokens_list):
# odgye)l W@gdl olalS dals
listStopwords = set(stopwords.words('arabic'))
filtered = []
for txt in tokens_list:
if txt not in listStopwords:
filtered.append(txt)
tokens_list = filtered

return tokens_list

# il dls
def stemmingText(tokens_list):
tokens_list = [ar_stemmer.stemWord(word) for word in tokens_list]

return tokens_list

#3@&0@]&@@@@43&[3

def toSentence(words_list):

sentence = '.join(word for word in words_list)

return sentence
:i@bu“Lﬁ9J|C)ﬁ
d_uyell (0.4_9)4_” Olodeg pl_'é)‘xlg pg_nglg bolglg duyueill jo oyl B35 clean_tweet dIsJl o

d88lgall deollaill yoleill alasuwly &g Gail (o dyplSidly
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B30yl LSS Lo 28 illg 8))Sell Lé)lxall L33 remove_repeating _char dlal

tokens Olssgll (o dasld Ll adl 8325 Lle Josi tokenizingText dlall

Olasgll dadld (o Cadgill lalS Ladi FilteringText dll

Aol Slasgll 46 lalS g3 Lle Jass stemmingText Al
:day Ll Jlgadl (o dlls JS cle il douis I JLadl ud

# Jla

text= "odga BBy g0 blo 9 poy JS 0 amasdl JI ol (o Uil @toto "
print(text)

text=clean_tweet(text)

print(text)

tokens_list=tokenizingText(text)

print(tokens_list)

tokens_list=filteringText(tokens_list)

print(tokens_list)

tokens_list=stemmingText(tokens_list)

print(tokens_list)
il @ vesa

toto@ ls 350 LBy go oluo I gy JS . diyasdl LIl Llad)l ol Ul
350 818y Lluo pgy diyasdl Oladll Lol
['s¥50','G8l8)" , lus' , aey' , dasasdl ' Oladll''eol']
['G35) ol 'agy' ,dasall ' Olbdll', ' oi']
['GL)" 'Tluo' 'pe)’ / (G2ax" DY o]
g wlsoedl ca daiwn §QT pg-83 idlg process_tweet dlal e 2o ol dJUl draudl o)25

Al cleaswb ¢l 39 Wla =9 W Wla oyl J g5 @3 (pog Clean_tweet d Jlall clesiwb

stemmingText dlal gb e Olasgll i ijig .tokenizingText
1ol oz Gle dg¥l dallanll Al 34435 o (oo

# oluysdl dsdles Wl
def process_tweet(tweet):
# eyl G as

tweet=clean_tweet(tweet)
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# olasg I Jasxd
tweet=tokenizingText(tweet)
# il
tweet=stemmingText(tweet)

return tweet

# olayadl) ddo¥l dsdledl

tweets['tweet'] = tweets['tweet'].apply(process_tweet)

sl 33e 9950 Ol Liczay Wjlgio Bgaiayg )yl ULy y9s3 Caguaill Dlwo))les plago Cdlais
w9 )bl o juSYl sacell (83 casall Ll caiaddl jlisid Liss Liyds dygluwsio cawo JS (o wblull
Cdgiuall Slacl £ o3 dinlao Jol 13] axtall (rog sl bl

:aganall slacl Jiad byl puy doyll eyl liSe dlil dymoydl 8yaill 8 pxiwms

# payl ol

import matplotlib.pyplot as plt

import seaborn as sns

# cuyll o>

plt.figure(figsize=(12, 6))

#odo JS sae oy

sns.countplot(data=tweets, y='topic');
plt.title('Topics Distribution', fontsize=18)
plt.show()

b3l Lle Wgaall oy)lgs aae asldl JSuidl
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Topics Distribution

Sports

Business

TEchnology

8 Social
B

Palitics

News

Ecanomy

4000 5000
count
d 5Sell e RandomOverSampler cai ol d JUI 6yay Gl Q8 pasi s

o La))Sig saell dlJall Cogaall (o dilgire yawl )Lasl pgdy Sillg imblearn.over_sampling

L_JL)LU.H 4.('.9A>uo

# Dilgdl dcSo syl

from imblearn.over_sampling import RandomOverSampler
# wall ye B elud)

oversample = RandomOverSampler()

# Sloae shu sy

tweets = tweets.sample(frac=1)

# 3ol sl aJgs

tweets, Y = oversample.fit_resample(tweets, tweets.topic)

:&55lg0)l 22y Logawall slacl quw) sy

# Boaall slacl @uy Balel

# &jlgall asy

plt.figure(figsize=(12, 6))
sns.countplot(data=tweets, y='topic');

plt.title('Topics Distribution After OverSampling', fontsize=18)

plt.show()

tJe S JSuin Wganall ()lgs sl JSuidl G
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Topics Distribution After OverSampling

Social

Business

Politics

Sports

topic

News

Echnology

Econcmy

0 1000 2000 3000 4000 5000
count

waganll finji 9.7
LabelEncoder cainall alasiwl &Il 8ol agds (lg) codsa0S Loguaill A8l @los Ly Juds 3

2831 alasiwl Ldgawall juoyid sklearn.preprocessing dusoll (o
lg) Jolaall ropdly Cagauall clawwl dylgill 6 guba

from sklearn.preprocessing import LabelEncoder

# baall 3y

le_topics = LabelEncoder()

tweets['topic'] = tweets[['topic']].apply(le_topics.fit_transform)
classes = le_topics.classes_ # oqanll

n_classes = len(classes) # (ooanll suc

print("No. of classes:", n_classes)
print("Classes:", classes)
print("Coding: ", le_topics.transform(classes))

Wl Hea

No. of classes: 7

Classes: ['Business' 'Economy' 'News' 'Politics' 'Social' 'Sports'
'Technology']

Coding: [0 1 2 3 4 5 6]
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5208 duod)y dadl L] zlisd s (lg) dsaeS Logaill 31 aled iy Judi 3
1ol Elad Ll tweet_preprocessed 8325 JSJ Guaidl g laddl Jog>ad dJUl 8xa il pasuiuws

from keras.preprocessing.text import Tokenizer
from keras_preprocessing.sequence import pad_sequences
# dadlaall wlsyadl o oladl Jax oSy

sentences = tweets['tweet'].apply(toSentence)
print(sentences[6])

# 559 pladl ol el oSl sae

# pascude

max_words = 5000

# B3 glaa) alac¥l ohll

max_len = 50

# o il e madl

# G Al oldSl sae a2

#  layly e slazedl

tokenizer = Tokenizer(num_words=max_words )
# olayadl pead gimal dadle
tokenizer.fit_on_texts(sentences)

# By e dl I adl Jugev

S = tokenizer.texts_to_sequences(sentences)
print(S[0])

# dxa¥l Jlgbl aog

X = pad_sequences(S, maxlen=max_len)
print(X[0])

X.shape

G Lay blais3l qiw oidl pelacl lalSUl sae 3353 max_words ysioll ol syauid] (o 323
(S8l 5laall 13 dalSl o3l duirall) Woyilgs s> 55 05 (pog wossadll S 158 dalS US g3 (i)
QJL@ﬂlggﬂle&BLﬂthyomaX_leﬂ)gﬁA“J&z;9‘maX_WOFdS(}o)ﬁiigyﬂlQﬂbCJngldaeiu
13] Lol .max_len )l Gglune dlghb guual i £ ledl) jlawl Calas max_len go Ji sai Bélgs oS 1316
max_len Ll Golue dgb guuad) dis I85> glais) uSl dgb oS

Olayeill J—ox> yog—ai tokenizer ¢j >all ooy Fit_on_texts A Jlal pg—85 L aiw
max_words Sgoluy ol 3uST ilgidl ol HlalSIL blaisRlg lalSIl yilgs ol L;T sentences.values
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el SNl e ddac ) line Syine dppell @gilanyes Lle sleicdl Wlpasill caruas

Alopo JS b ol Crgy iyl Byapidl o gubas

dodlaoll a2y 6 agysill £ Lads Mo Uyis|

ol Joud il quuad eulac 30199 pgi ol 31535 el 99 @lle Agi Ay (§91s poy S0
2831 o o L) uaill Gl g leidl Jagxi donis oS5

[1839, 1375, 2751, 315, 975, 1420, 1839, 3945, 436, 794, 919, 445,
1290, 312, 258]

2l Giledl byl ¢ Ll (%) Jslall 34595 drlac aag

[ 0 0 0 0 0 0 0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0 0 0 0 0 0

0 0 0 0 0 0 1839 1375 2751 315 975 1420 1839

436 794 919 445 1290 312 258]

$3dlg (UL, Ub| (o 10pic sensll sliwl g Joi z 5l £ lad Olws al byamill o yes
o rsiiall Gl gl odyll jrapill Syon

%209 oyl ddas) Lgio %80 L)l dsliall ULl euwdd) train_test split dlal pxdows
153 Guwlie Olusg )Lis3l dlas]

# o glas Ao

y = tweets['topic']

# ylasly ey Ul obldl e 405

from sklearn.model_selection import train_test_split
#oylasly e U bl e

X_train, X_test, y_train, y_test = train_test_split(X, y, test_size =
0.2, random_state = 0)

print(X_train.shape, y_train.shape)

print(X_test.shape, y_test.shape)
thbibt*Q)xdjaﬁﬂb(J>J|iz&ipyx>&bbu“&ﬂqﬁdhgégﬂﬂ

(29388, 50) (29388,)
(7348, 50) (7348,)
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E,.c.lilcuoil cSAl e ddec 8)Lim dydoc du,=ll (a@,vl.»)su e sleie 3l Oluasaidl Cavuas

I3l el JSlure) dumac lSwb sl 1855 Gl Haial liSe eal oo Keras dusell e

ONoleoll @ oz clhnc| g o create_model pj&.'i.” T3gai o dls e zupail AUl 8yauildl (o))
ddlanl Laud dedyioll

# o lududl zigadl (e
from keras.models import Sequential
# doyWl oladall

from keras.layers import Embedding, Dense, LSTM

# ol Jlos

from tensorflow.keras.optimizers import Adam, RMSprop

# et ziges elas] Al e ayadl
# dsdyuall oMaleall dol @b clac| go
def create_model(embed_dim = 32, hidden_unit = 16, dropout_rate = 0.2,
optimizers = RMSprop, learning_rate = 0.001):
# o Lud zigsd e sl
model = Sequential()
# weadl b

model.add(Embedding(input_dim = max_words, output_dim = embed_dim,
input_length = MAX_LENGTH))

# LSTM
model.add(LSTM(units = hidden_unit ,dropout=dropout_rate))

# 5,53 dadll

model.add(Dense(units = len(classes), activation = 'softmax'))

# zigall ely

model.compile(loss = 'sparse_categorical_crossentropy', optimizer

= optimizers(learning_rate = learning_rate), metrics = ['accuracy'])
# zisall jasle dclb
print(model.summary())

return model

Suoaill L iom Slads N o cally Glowdus duac dub g 3g0) lidlue Jo1 (o pxsow
.Dense da:S)l dauallg (saall dhgb 8,13 Cil3 dSud) LSTM daubg Embedding

153



el SNl e ddac ) line Syine dwyell egilanyes e sloiedb Wluasill carual

Embedding JLonill ddih :_Jgill ddihll 9.10.1

Oannd 09 ealw) Leo dense word encoding elelSl o iSo juoyi adoid dadall 03 aasiuw

Ood @i Sg>0 (S3lg (50 Lidls> 8) input_length adgb (s3I ¢ leidl Jagad wdbi .eleil ddac

output_dim Jlswll (oo eudll o gloi LI (Lidlio 8 5000 LI 1 ) input_dim Jlswll
dagd 32 o

Long Short-Term sanll dligh Apala <ila @4 :auilill ddihll 9.10.2

Memory

dpleo o dropout Joleall ealus .dadall 03g) damall cilasgll sac units géyiall Joloall 3353

039 vyl eLidl GSlgdine JSin dsbiall Olasgll Jugains Bl aghy > oyl Jds dSull

e lgwmdi iz 23 (1o 3g g dioladl dusasll sl 2oz Gle %100 duwis dSuuidl xoies 3 day,lal
(o @B1) digunss Jolod s3I Goleiiall 5305 JoT o bl 6 duodl ST bleil Lle jgiall

Dense aatiall :aillill aduhll 9.10.3

saide LI JSLidl Guds (Logamall sac Lill> 8 7) daudall 03g) Z il eoe> UNits Joleall 3353

‘T390l
Layer (type) Qutput Shape Param #
embedding 5 (Embedding) (None, 56, 32) 160060
1stm_5 (LSTM) (None, 64) 24832
dense_5 (Dense) (None, 7) 455

Total params: 185,287
Trainable params: 185,287

Non-trainable params: 8
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oelibodl Sl (e dlac goylire Bpise dnyall 0gilan)ei Lle sloieBl Oluasddl Capuss

00 Gl 3l o) £ grsinall Olidnss (389 daslall didlolas Syleay liel ples Z3g0d) Jawosll S
) ()53 dloleally Z3gai) daSlall coNaleoll
lage—sg idlg) wuyadl Jud (ois.iiﬂ duoj)lg> Wlbslac] Lo thyperparameters dalall doleall @
(dwo))lgxdl goouan
aSaidl gl Jote st el Z3g-aill Lgalan il codelaall oo ;parameters codslaoll o
Aasl|

a8 S o Oy wollhall el d g Loww3 Z3g-0il chol Lle da5lall codloleall 8yles duloc )65
ole Hol8 e zigwi Ll pliass Hlilly overfitting Lausasill byd dS_iwg underfitting Lawasill
JLial 8392l (,Sad) Bagaz Dilsage 2o Caginaill o oSty O Wby il dliol araws
08l Jo> Jsadill Go 3pel) Ggwus dgoplSl o
(eatlSadnal
«03gllg lipall byl el A81S dy> 12y Z3sail) 955 3 lodic papasil A8 A yebs
weu—asill A8 Zusuai (Sed .« dagl) diues eud g0 Bias-variance tradeoff )uS jLsil d ()9S Ll
oyl ULy s gieoil pody oasic s ghid Gauasxil by dSuiw bl I3ubed it z3gaidl Jozu
plasiwb z3g—eill 34895 (o 32l dounad Sl ($3 g S (b GILdb ] g S8

.regularization &gl

OLd (ILlg Lsx>Y Ao oo calizi Llioll Lgasd ol daslall codoleoll ulee (b dlSuivall (oS

83327 (g3 Olily degame JS go daline 046 i o8 Gliall il 03g) Jpuool) 83,55l iyl

095 Lade Licgy s (8 daiziw oIy daslall codloleall mgis) @ylall (po aasll Scikit-Learn ,éq,)

ST )90l bl o

Z i) "golaioll el go (Swidl sl 8yd Juad L] 892l (1S
dadyiall dloleal) @)l Juad llus déyb
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https://academy.hsoub.com/programming/artificial-intelligence/%D8%AA%D8%B9%D9%84%D9%85-%D8%A7%D9%84%D8%A2%D9%84%D8%A9-%D8%A7%D9%84%D8%AA%D8%AD%D8%AF%D9%8A%D8%A7%D8%AA-%D8%A7%D9%84%D8%B1%D8%A6%D9%8A%D8%B3%D9%8A%D8%A9-%D9%88%D9%83%D9%8A%D9%81%D9%8A%D8%A9-%D8%A7%D9%84%D8%AA%D9%88%D8%B3%D8%B9-%D9%81%D9%8A-%D8%A7%D9%84%D9%85%D8%AC%D8%A7%D9%84-r1010/

E,.c.l;lcuoXl cSAl e ddec &))Lu.m dydoc du,=ll (a@,vl.»}su e sleie 3l Oluasaidl Cavuas

Lilgill pleill 23gni cliy 9.11.1

:create_model dayluwll dlal g0 ool clid scikit o KerasClassifier dlal pascuws

from keras.wrappers.scikit_learn import KerasClassifier

# Ll dedyull odlaleall @b po zigadl cludl

model = KerasClassifier(build_fn = create_model,
# zigadl oMales
dropout_rate = 0.2,
embed_dim = 32,
hidden_unit = 64,
optimizers = Adam,
learning_rate = 0.001,
# oyl odlales
epochs=10,
batch_size=256,
# eoddl olly &
validation_split = 0.1)

# oyl olly ge zigadl daidla

model_prediction = model.fit(X_train, y_train)

iyl Bpanii)] 6 Uil 1a>3) emsdilly oyl bl (e JSJ accuracy d8all sioio auoy o3l (S
sl oyl Sbly o %10 o Lbslass|

# zigadl @By dylea
# adidly coyadl
fig, ax = plt.subplots(figsize = (10, 4))

ax.plot(model_prediction.history['accuracy'], label = 'train
accuracy')

ax.plot(model_prediction.history['val_accuracy'], label = 'val
accuracy')

ax.set_title('Model Accuracy')
ax.set_xlabel('Epoch")
ax.set_ylabel('Accuracy")
ax.legend(loc = 'upper left')
plt.show()
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oelibodl 83l (e dulac )lire Spiac

dnyall 0gilan)ei Lle sloieBl Oluasddl Capuss

I JSaidl okl (S0

Model Accuracy

— train accuracy
val accuracy
0.9 4
0.5
iy
g
o
2 07
06 4

Epoch

clhill guuldo abwa 9.11.2

.Precision a8l .Accuracy douall) ol Jilue o8 ddgreoall cho¥l Guulis wlws 31 Sk

# oY uglie

# dsuall olide

from sklearn.metrics
# @l Lelde

from sklearn.metrics
# i)l ulidbe

from sklearn.metrics
# 1

from sklearn.metrics
# S5yl Bghan

from sklearn.metrics

# Lyl olbly woss

W 8yanind] plasuiwl elaiall Z3geill (F1 Lwlidell Recall )Ssiwsl

import

import

import

import

import

accuracy_score

precision_score

recall_score

f1_score

confusion_matrix

y_pred = model.predict(X_test)

# ol uolde Olus

accuracy = accuracy_score(y_test, y_pred)

precision=precision_score(y_test, y_pred , average='weighted')

recall= recall_score(y_test, y_pred, zero_division=1,

average='weighted")

f1= f1_score(y_test, y_pred, zero_division=1, average='weighted")
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E,,c.l;lcuoﬁ»l sl e ddoc g)line dyuine

print('Model Accuracy on Test Data:', accuracy*100)

print('Model Precision on Test Data:', precision*100)

print('Model Recall on Test Data:', recall*100)
print('Model F1 on Test Data:', f1*100)

confusion_matrix(y_test, y_pred)

Model Accuracy on Test Data: 90.90

Model Precision on Test Data: 90.88

Model Recall on Test Data: 90.90

Model F1 on Test Data: 90.86

array([[ 964, 22, 24, 57, 16, 12, 191,
[ 18, 1029, 26, 20, 15, 9, 81,
[ 13, 18, 1033, 19, 5, 8, 3],
[ 45, 19, 52, 871, 59, 12, 1017,
[ 11, 25, 18, 38, 990, 11, 3],
[ 3, 10, 13, 3, 15, 986, 3],
[ 4, 10, 8, 2, 0, 8, 1063]], dtype=int64)

dnyall 0gilan)ei Lle sloieBl Oluasddl Capuss

@l 0S5

ol 839> iy oo Guwliall o> @i £ Las)l a3

:seaborn duSall plasiwl @4391 JSwiw confusion matrix )3l ddgeunn puw) Sl

# Al ddgsae )
import seaborn as sns

sns.set(style = 'whitegrid')

fig, ax = plt.subplots(figsize = (8,6))

sns.heatmap(confusion_matrix(y_true = y_test, y_pred = y_pred), fmt

'g', annot = True)

ax.xaxis.set_label position('top')
ax.xaxis.set_ticks_position('top")
ax.set_xlabel('Prediction', fontsize = 14)
ax.set_ylabel('Actual', fontsize = 14)
plt.show()
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elidodl Al (e didac gyyline Syuine dwyell egilanyes e sloiedb Wluasill carual

Ul lalasall gkl Low

Prediction
- 1000
[ ]
— — 800
™
- 600
(i)
§ i
— 400
=t
o 200
(V=]

Aol L9 Ca o (o 3T 3920 A L8 doaxiwdll (353 b3l Guulis yay Ol (S
:(Micro, Macro, Weighted)

print('\nAccuracy: {:.2f}\n'.format(accuracy_score(y_test, y_pred)))

print('Micro Precision: {:.2f}'.format(precision_score(y_test, y_pred,
average='micro')))

print('Micro Recall: {:.2f}'.format(recall_score(y_test, y_pred,
average='micro')))

print('Micro F1-score: {:.2f}\n'.format(f1_score(y_test, y_pred,
average='micro')))

print(‘'Macro Precision: {:.2f}'.format(precision_score(y_test, y_pred,
average='macro')))

print('Macro Recall: {:.2f}'.format(recall_score(y_test, y_pred,
average='macro')))
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print('Macro F1-score: {:.2f}\n'.format(f1_score(y_test, y_pred,
average='macro')))

print(‘'Weighted Precision: {:.2f}'.format(precision_score(y_test,
y_pred, average='weighted')))

print(‘'Weighted Recall: {:.2f}'.format(recall_score(y_test, y_pred,
average='weighted')))

print('Weighted F1-score: {:.2f}'.format(f1_score(y_test, y_pred,
average='weighted')))

# ool 58
from sklearn.metrics import classification_report
print('\nClassification Report\n')

print(classification_report(y_test, y_pred, target_names=classes))
W @I Glas)y Lewo

Accuracy: 0.91

Micro Precision: 0.91
Micro Recall: 0.91

Micro F1-score: 0.91

Macro Precision: 0.91
Macro Recall: 0.91

Macro F1-score: 0.91
Weighted Precision: 0.91
Weighted Recall: 0.91

Weighted F1-score: 0.91

Classification Report

precision recall f1-score support

Business 0.90 0.84 0.87 1057
Economy 0.91 0.92 0.92 1058
News 0.88 0.93 0.91 1071
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Politics 0.86 0.86 0.86 1021
Social 0.94 0.89 0.92 1060
Sports 0.93 0.97 0.95 1060

Technology 0.94 0.96 0.95 1021
accuracy 0.91 7348
macro avg 0.91 0.91 0.91 7348
weighted avg 0.91 0.91 0.91 7348

aiwaall 839> iy oo Guwldell guax g Las)l a3

83100)85 Wlasuas (§9g clldg Lolsubll Casuai 3 (Sl

L2 dua) dudw classify tweet dlal 53 )9Sud 83>l 830)5 Caruan AU 8)auill pgéi
tokenizer.texts_to_sequencespLAﬁL)LJaUId49>3&JL>9&;L#A.uaﬂl§9zséyamteéigi
.pad_sequences dlyl clesiwlb clig dsslll duad)ll dg=iall Job 3u>g5 @3 (o9

# 3yl oal dls
def classify_tweet(tweet):
# ddar ) ol glas Jiood
tweet = toSentence(tweet)
# oglan 8 daall gog
ar=[1]
ar.append(tweet)
# B e dl )l edl Juged
seq = tokenizer.texts_to_sequences(ar)
# dadyl gl Jsb sog
pseq = pad_sequences(seq, maxlen=max_len)
# zigadl gl dls clewcial
pred = model.predict(pseq)

return pred

Cals ol o) Lasidl ewl Al Joleo (H9Sag «pasub Caguan classify person dll agas
Hlbl L9 Gasddl Wlagyes Jwesd Ll ;lgi Il Josei 3] (S d x>Vl g0 pwdl Guai Josg d5lagyei
df bl
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# sl o dls

dnyall 0gilan)ei Lle sloieBl Oluasddl Capuss

(b Classify person gasddl Caguad dls oS sl

def classify_person(person_name):

# sl olids Juasd

# olly sl 8

path = person_name + '.csv'

df = pd.read_csv(path)

# sl esels clud]

# odo JS e olagdl

classes_count=dict()

# 0 il @b elac

for i in range(len(classes)):
key=classes[i]
classes_count[key]=0

# sayadl okl sYl asdl

min_tweet_len=5

total=0
for _, row in df.iterrows():
tweet=row[ 'tweet']
# sayedl e las
processed_tweet=process_tweet(tweet)
if len(processed_tweet)>min_tweet_len:
# sayedl bpas
c= classify_tweet(processed_tweet)
# ooy oo dall aul sl
topic=le_topics.inverse_transform(c)[0]
# 38lgall aall 1 @l
classes_count[topic]=classes_count[topic]+1

total=total+1

# saal 889 Bgaall iy
# Wl

sorted_classes = sorted(classes_count,

key=classes_count.get,reverse=True)
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# gl Luseldl
sorted _classes _cleaned = {}
min_display=total/25
# o0l saell old Boaall laal
for w in sorted _classes:
if classes_count[w]>min_display:

sorted _classes _cleaned[w] = classes_count[w]

# okl sl

print(sorted_classes_cleaned)

n=0

for key, value in sorted_classes_cleaned.items():

n=n+value

print(person_name, "is classified as :")
for key, value in sorted_classes_cleaned.items():

print(key, "(", "{:.2f}".format((value/n)*100) , "%)")

# ool slacl ydad @y

sorted_classes_cleaned.keys()

x
1

sorted _classes_cleaned.values()

<
1

import matplotlib.pyplot as plt
# pie
plt.figure(figsize=(9,9));
plt.title(person_name, fontdict = {'fontsize':20})
plt.pie(y, labels = x,autopct="%1.1f%%")
plt.show()

# o

classify_person("salem")

oall pewl dslian (950 $adlg classes _count Gugolall dJlull L,u.u.) ddy bl 8pa il (o 239
.(uugoUﬂ|p+§Lﬁﬂ()&équl&A+§§9i9iu£)gﬁuﬁ”|lﬁk}oCJLM)QU|JA£()§QQUQLQ&9

8pssall Oyl Jos 3) Hlacdl us 3551 sagysill o3l Johall min_tweet len uéioll 33sd
iy dlolao Whlie (el Lle (5985 i iles 13>
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bayysil) Aol dsdleall A1 83)85 JS Jal (o weaiwdy pasddl Wlaysd Lle &Il 9o
.classify tweet doluwll Casuwaidl dls @3 process_tweet

el e Jouasdl inverse_transform dlsdl gesiws 13y (ol ju0)i) 08) carinadl &L HeSo
0 oweeldll L9 (§91gall Caall dac aj @ Caall

sesiall DIl pasiawdy el Gus isd @ Gadl lagyeill IS saell total ysiell Cansy
D2l (399 (reverse=True Joleoll) WHls yweeldll cuiyid sorted

1S Lasdll gaw Hlghb| pac oagy elldg total/25 daysll sio min_display ysiell 09 guas
&bnig 135lg5 )i SYl Lagaall sorted_classes_cleaned Guwgolall 9 st &uAig (d5l0y25 9 yilgil
el lagyan) Ggtall il Jiod 8y4dad iy gl

o glidl gSs

salem

Social

Folitics

Economy

anuill 9.13

5 Lpall Lalll egilagyas 599 ol ¥l ol alas 2390 sliy lshs Juadll 130 (8 lusye
Loy Gl 3l b duyell Gogaill go Joleill Lo @aclugg duyell saimall 6 032 Lold JUlio

o Egpinall Olalo JolS J3is Luis 3 bl 130 (e Google Colab gdgs oo MolS Jliall dsmi (ySe

RUSTVES oS oo bl 3
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https://academy.hsoub.com/applications/core/interface/file/attachment.php?id=110320
https://colab.research.google.com/drive/1OEUxkUXUEqfkoW2JLriPQPT0t0ZAFV6b

hil)i Wdhindiwlg jain dleyn Jiai.10

ailaii

= liall Olao$ 13> dagall Jlwall o sz Lioll laps b bl s clgd COliSiwl Al 325
Loo Loyl dewliall clyddl recommendations <laogs )lgbl sclgall oie slool Zowuy 3] (g st
09Sawd (593 A daluall 2o B dalul 5323 bl plame of Lidye of o yotall olagee 530 b aalusy
wBlaall dolgs (8 3-8 Low A daldl sy oy (925 JSI B daluadl iy doogs )lgh] cawoliall (o
sziall Z)l 83459 Henll )

chyidl SLSy> (e LNkl baslyall sclgd sloud A3 alei oluds alaimiwl Joadll 13 b Loye
ool &Ll

wujaill alily 10.1

Sy of bl Gle dolially doysll duxin 31 &5l Olaas solio 353 chidl Ollac Sy padiws
o> deaydlST (o Ll 130 (e Lghyis

a0 JS Som o 10000 Llg> Som $illg (590l Groceries.csv Calall 6 bl 0in 3G

:J JSidl G LoS oo 3Ll sl bl Gl @l (o degamo Sl a>lg (Goud dyye il

A A | B | C | D

‘1 |citrus fruit semi-finished bread margarine ready soups

2 |tropical fruit yogurt coffee

3 whole milk

4 pip fruit yogurt cream cheese  meat spreads

5 |other vegetables  whole milk condensed milk long life bakery product
6 'whole milk butter yogurt rice

7 rolls/buns



https://academy.hsoub.com/applications/core/interface/file/attachment.php?id=103934
https://www.kaggle.com/datasets/irfanasrullah/groceries
https://academy.hsoub.com/entrepreneurship/ecommerce/%D8%A3%D9%86%D9%88%D8%A7%D8%B9-%D8%A7%D9%84%D9%85%D8%AA%D8%A7%D8%AC%D8%B1-%D8%A7%D9%84%D8%A5%D9%84%D9%83%D8%AA%D8%B1%D9%88%D9%86%D9%8A%D8%A9-%D9%88%D9%86%D9%85%D8%A7%D8%B0%D8%AC-%D8%A5%D9%8A%D8%B1%D8%A7%D8%AF%D8%A7%D8%AA%D9%87%D8%A7-r733/
https://academy.hsoub.com/entrepreneurship/ecommerce/%D8%A3%D9%86%D9%88%D8%A7%D8%B9-%D8%A7%D9%84%D9%85%D8%AA%D8%A7%D8%AC%D8%B1-%D8%A7%D9%84%D8%A5%D9%84%D9%83%D8%AA%D8%B1%D9%88%D9%86%D9%8A%D8%A9-%D9%88%D9%86%D9%85%D8%A7%D8%B0%D8%AC-%D8%A5%D9%8A%D8%B1%D8%A7%D8%AF%D8%A7%D8%AA%D9%87%D8%A7-r733/

oelibusdl 53l (e ddac gy)line Syine Gliio ayhyi BldSiwly o Dloae Juloi

hulfill aclgd Jc cudiill (A Alpwull 10.2
dophall aelgd e il dlune 6 duuolwdl Capledl pasy Gl lagd yoy2
hulfill aclgd Jec wudiill 10.2.1
:oh WS bl selgd (e bl e e
Jitems yolisll (o degaze oo chal JS ally (transactions wlely>3 (o degozo Lya) o yoya

dcgoxo &0 rwoliall (o dij> degoxn jogb w correlations Ol e sl wglhall (H9SH
Uousgi i I JSuill asd ool dsi

Ulelpp Ul dcgono bulpill aclgd

Iteml, item2, item3

item2, itemd )

Item1, item5
Item6, item7 . -
Item2, item3, itemd, item7 oc wuaiill
Item2, item3, itemd, items bylyill aclgs
Item2, item4, item5
Item2, item3, itemd4
Item4, item5

Item2 — ltem3
Item2 — ltem3
ltem2, ltem3 — ltem4

(Oleha] 5 Sem Sills sardail G Jliadl Gl Lagd paiiw

Transaction s>l

Bread,Milk > >

Bread, Diaper, Juice, Eggs VA Hmac Jogd Hu>

Milk, Diaper, Juice, Coke 3S Hwac bgd >

Bread, Milk, Diaper, Juice ymac Jbgd icauds Gus

Bread, Milk, Diaper, Coke 39S bgd ul> >
w3l Cayyledl ol 3gi Glas)

itemset jnlic acgnan .|
9935 LaS (asl> us «Jlabl by 8) {Milk , Bread , Diaper } io yuoliall o dcgams g

Jaic K Sgo3 yuolic degoxn Lle A3l k-itemset

166



oelibodl Sl (e dlac goylire Bpise Slariio bly CaliSiuwly oo Wlaso Julos

joliell gn dcgnanl support count pcall aac .

wodeidl Lllin 9 peadl sac )60 )Lo Olely>3l (9 ol (o degoxs (ygb) Xilgi Wil 3¢ g9
Ll yolisll degamal

sc({Milk, Bread, Diaper}) = 2
juliell o acgoanl support pcall .2

oasdaill Lo (8 ecadl 33ce 95y Mio «lshaBl (8 soliall (o degano yoakt) dgiall duwuill g
SAl daylw juoliell degomal

s({Milk, Bread, Diaper}) = (2/5)*100 = 40%
minimum support pcall wiadllaall .
elgdll e il Dloj)len) 03355 (Lo duws of 08) 1s%2 O 0Sa) Eeall Gupad Lisl 3> gog

£ Ll gl (6 Liolazal yuam 1igd (aaipe aeall OIS Lals &l izey puoliall dyanl Glos aesll Jia}
el 3 Bl

frequent itemset Ajilgin jnlic dcgnan .0
el Lol asdl Solusy ol yuST degamoll @es S 13) 8xilgio lail juolic degamo (e Jobs
association rule hulpi dacld .g
Sl o claidl ag
{Xy => {v}
Nio (Syidine polic gdally (S>3 3) poliall (o Wilcgazo o Y o X Cusg
{Milk, Diaper} => {Bread}

association rule support hilpi dacldl peall .j

Y 5 X 925 il Olelyo 3l dui S lao Y g X puoliall £ laind ecall 9o X=>Y lulys sacla) peall (ysS)
(IS Olela Bl s o Lo

_ Transactions containing both X and Y
Total number of transactions

Support ({ X |>{Y})
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association rule confidence hulyi daclé _a Gdill .2
2ab3 ol (L831) Jlais! Lilae ST X Sgm chz] 08 Y poliall degazo sgh) Glbyidl Jlais 3l gag
X poliall ($9>3 Goud dipe 8 Y poliall degazo

_ Transactions containing both X and Y
Transactions containing X

Confidence({ X |=2{Y})

030 ()% %40 Ggluws §iludll Jliall 6 {Milk, Diaper, Bread} molial dcgonal peall (ysSy dio
AJSI Aozl Oleha 3l 66 Guire Lazdl lgasy 2o iyl jolisll
Ol 8S,) dalizoll 3 clodll (1o degoxo adgs {Milk, Diaper, Bread} &l uolisll 030 (o (Sl

Ol 03 (aclgall & oz Ll Juamid diSaall @yl JSo Giadly §ludl Cylall Lle poliall 03 ¢ i
(ool Wlio (o dguusall) Al dio3l (s oS Calisee @85 Jolao sacld JSI (yeS

{Milk, Diaper} => {Bread} (s=0.4, c=0.67)
{Milk, Bread} => {Diaper} (s=0.4, c= 0.67)
{Diaper, Bread} => {Milk} (s=0.4, c=0.67)
{Bread} => {Milk, Diaper} (s=0.4, c=0.50)
{Diaper} => {Milk, Bread} (s=0.4, c=0.5)
{Milk} => {Diaper, Bread} (s=0.4, c=0.5)

e iy 03 $i5 all Lyl g8 Zhiniiol 4uasS Juadll 130 (6 5y

Ll 030 pomdid Ol iamag 3.8 Hlacol 9els dsll dumey & Juadll s Olyiud 3 gl
dushisl Ol slivy duolisdl Ol Giidg wapadl Cuxti) PIp a3l yao dxmopdl

ol Aol Jusindg dyyaid 13> duto g0 Ao pd| Olyaddl )ro pdsiws

&Ll 389 Lumopdl il (o dystao WS Jusid Uil (po gebaisi s> (dulelas dayyhny 43I olay
Lgousuaiy oyl Wlyapill )l liude Jgus oo vdeyun

rob5 5o oS Ol Jib Lilaley BlaimN Jac dolue cliid clldg ol pasy Cai) Yol iz
1380 4] J> 259 Licgpinay Lo 13532 13z £yins Liolip

mkdir asoc

cd asoc
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https://docs.python.org/3/library/venv.html
https://pypi.org/project/pip/

oelibodl Sl (e dlac goylire Bpise Slariio bly CaliSiuwly oo Wlaso Julos

(sl dsll clisyd I po¥l Aaid
python -m venv asoc
iduslyied] &l i Linux 8 QI o3l @5 (o
source asoc/bin/activate
:hiudl yol (989 WINAOWS joaig 9 Lol
"asoc/Scripts/activate.bat”

e oo requirements. txt cale bl Jd5 o doyMl OlaSall (o 8330 Ol)lauwo| pasuiuws
l@A!CU>¢w(?ﬂ|CDbLho?bLDMHQQQ‘gﬁhﬂHlQJiaiwgntgyhA“

QJL+ﬁQﬂL»JJdeU59.iJU“)kuua|g§yé$9‘uogmn“))zp(eé requirements. txt caloll Zuias
HLgihyluoly gy il

asttokens==2.0.5
backcall==0.2.0
colorama==0.4.4
cycler==0.11.0
debugpy==1.6.0
decorator==5.1.1
entrypoints==0.4
executing==0.8.3
fonttools==4.33.3
ipykernel==6.13.0
ipython==8.4.0
jedi==0.18.1
joblib==1.1.0
jupyter-client==7.3.1
jupyter-core==4.10.0
kiwisolver==1.4.2
matplotlib==3.5.2
matplotlib-inline==0.1.3
mlxtend==0.20.0
nest-asyncio==1.5.5

numpy==1.22.4
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packaging==21.3
pandas==1.4.2
parso==0.8.3
pickleshare==0.7.5
Pillow==9.1.1
prompt-toolkit==3.0.29
psutil==5.9.1
pure-eval==0.2.2
Pygments==2.12.0
pyparsing==3.0.9
python-dateutil==2.8.2
pytz==2022.1
pywin32==304
pyzmq==23.0.0
scikit-learn==1.1.1
scipy==1.8.1
seaborn==0.11.2
six==1.16.0
stack-data==0.2.0
threadpoolctl==3.1.0
tornado==6.1
traitlets==5.2.2.post1
wcwidth==0.2.5

;W 3e3b OlaSall 03 s @b (gogaill jymo (o Zxsdg caloll Lle Wb Ll sl bhass
(asoc) $ pip install -r requirements.txt

Licgyine Lle Joodl cod (njal> Guoj Ol 03g) L s

11380 il ddoc JaiS] 3y Jupyter Notebook dsopdl olyauill jymo Jdiid
(asoc) $ jupyter notebook

Sio a5C pab iy yynall J513 8 1332 o i o3
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hulfill aclgdi aulgi 10.4.1

oyl laSall Gle 8y 23l Caagy @ludl JUiall ol sclgd sdgs Uil 8yau il (o6 o pss
Lgolaiiwl dig

rolic (o dbgiuan o0 lgio wmaic JS (ysSa Carmag Al dgiuan b Jgl (@bl Jliall Oilcha] guds

..\.>|9 ;|).>!

03529 axe Jl> L6 False of 38lgall cly>3l FOW Cauo 8 paiall 3929 Jl> w6 True Lol

3 Ul Joogld mixtend.preprocessing dusSall (o TransactionEncoder cauall aasduws

# ol

transactions = [['Bread', 'Milk'],
['Bread', 'Diaper', 'Juice', 'Eggs'],
['Milk', 'Diaper', 'Juice', 'Coke' 7],
['Bread', 'Milk', 'Diaper', 'Juice'],

['Bread', 'Milk', 'Diaper', 'Coke']]

# Olely>dl 3y 4eSh

from mlxtend.preprocessing import TransactionEncoder

# Lol o oy clad|

te = TransactionEncoder ()

# bl 2o 3ayall daidla

te_model = te.fit(transactions)

# ool Jigs
rows=te_model.transform(transactions)

# ol bl deSe slycal

import pandas as pd

# ol obly bl el

df = pd.DataFrame(rows, columns=te_model.columns_)

print(df)
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Bread Coke Diaper Eggs Juice Milk

@ True False False False False True
1 True False True True True False
2 False True True False True True
3 True False True False True  True
4 True True True False False True

{Bread, Milk} :Js3I chy>3l 8ley ULl Hlb] o Jo3l Canall )i dio La>d

oidlg mlxtend. frequent_patterns dusSell (o apriori ddlal ddlll dyapddl (9 e diws
Soluwy min_support eeald) Gu=e sl o> (599 A Gludl HULWI )b 6 8yilgiall juolie)l Cauxd
Wlie 9 %40

8xilginll poliell degoxo ((pigec S5 Trequent_itemsets by )lb| dlall ode (gudas &b HeS0
dcgozo JS Job sy Ll OBl b3 303> Ogmmo gac Cauas .SUPPOrt acallg itemsets

Jdength yolic

# 5ylguall yolall sbul dse)yles duSe

from mlxtend.frequent_patterns import apriori

# oacall Jo¥l ol wasd g Byilguall Olegasall A

frequent_itemsets = apriori(df, min_support=0.4, use_colnames=True)
# yolall olegans Jlgbl wlus

frequent_itemsets['length'] =
frequent_itemsets['itemsets'].apply(lambda x: len(x))

print(frequent_itemsets)

:8yilgi0)l jolill Clegamo (o degaxo JS Jsbg acs delall yqlal
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support itemsets length
e 9.8 (Bread) 1
1 0.4 (Coke) 1
2 0.8 (Diaper) 1
3 0.6 (Juice) 1
a4 0.8 (Milk) 1
5 9.6 (Bread, Diaper) 2
6 0.4 (Bread, Juice) 2
7 9.6 (Milk, Bread) 2
8 0.4 (Coke, Diaper) 2
9 8.4 (Milk, Coke) 2
1e 0.6 (Juice, Diaper) 2
11 9.6 (Milk, Diaper) 2
12 0.4 (Milk, Juice) 2
13 .4 (Bread, Diaper, Juice) 3
14 ©.4 (Milk, Bread, Diaper) 3
15 9.4 (Milk, Coke, Diaper) 3
16 @.4 (Milk, Juice, Diaper) 3

(lwdl frequent_itemsets §yilgiall poliadl Bl )bl alasiwl kulydl acled sdgi 31 Sl

AW Byaidl Guss LaS

Al asd ge mlxtend. frequent_patterns daSall o association_rules dlal paascws

(Wlio 6 %60 doydll 35W) min_threshold dal a3l

# byl acled sl &wjyles &Se
from mlxtend.frequent_patterns import association_rules
#oaall Jo¥l aodl gasd 2o acladll wgs

rules =
association_rules(frequent_itemsets,metric="confidence",min_threshold=
0.6)

# il Jolea gy Ll ooyl
rules = rules.sort_values(['confidence'], ascending =[False])

print(rules)

illl byl sclyd G JS e

173



oelbaodl slS3l (e duloc gl By Slariio bly CaliSiuwly oo Wlaso Julos

antecedents consequents antecedent support consequent support support confidence
13  (Bread, Juice) (Diaper) 8.4 9.8 e.4 1.eee000
23 (Milk, Juice) (Diaper) 8.4 0.8 6.4  1.000000
22 (Coke)  (Milk, Diaper) 0.4 0.6 0.4 1.0e0000
21 (Coke, Diaper) (Milk) 0.4 0.8 e.4  1.eee000
5 (Coke) (Diaper) 9.4 2.8 0.4 1.eee000
6 (Coke) (Milk) 8.4 0.8 8.4  1.e00008
7 (Juice) (Diaper) 8.6 9.8 8.6 1.ee0000
19 (Milk, Coke) (Diaper) 0.4 9.8 6.4 1.ee0000
10 (Diaper) (Milk) 0.8 0.8 8.6  ©.750000
1 (Diaper) (Bread) 0.8 0.8 e.6 ©.756000
2] (Bread) (Diaper) 0.8 8.8 8.6 ©.756000
9 (Milk) (Diaper) 0.8 0.8 8.6  ©.750000
8 (Diaper) (Juice) 8.8 9.6 8.6 8.750000
4 (Bread) (Milk) 8.8 0.8 6.6  ©.750000
3 (Milk) (Bread) 0.8 0.8 ©.6  ©.750000
11 (Juice) (Milk) 9.6 0.8 8.4  0.666667
12 (Bread, Diaper) (Juice) 0.6 8.6 8.4 9.666667
14 (Juice, Diaper) (Bread) 8.6 9.8 e.4 ©.666667
15 (Juice) (Bread, Diaper) 8.6 9.6 8.4 8.666667
16 (Milk, Bread) (Diaper) 0.6 9.8 6.4 8.666667
17  (Milk, Diaper) (Bread) 9.6 0.8 e.4 ©.666667
18 (Bread, Diaper) (Milk) 9.6 0.8 8.4  0.666667
20 (Milk, Diaper) (Coke) 8.6 8.4 0.4 ©.666667
2 (Juice) (Bread) 9.6 0.8 8.4  0.666657
24 (Milk, Diaper) (Juice) 0.6 9.6 6.4 8.666667
25 (Juice, Diaper) (Milk) 0.6 0.8 0.4 9.666667
26 (Juice)  (Milk, Diaper) 9.6 0.6 8.4  0.666667

d_ Sell o parallel coordinates d_yjlgiadl ldla >3 @ w)y plas wl HSed

Ay lwdl selgél) dumus gl 8aaline ey pandas.plotting

from matplotlib import pyplot as plt

from pandas.plotting import parallel_coordinates
# ool I acledll Jigs dls

def rules_to_coordinates(rules):

rules['antecedent'] = rules['antecedents'].apply(lambda
antecedent: list(antecedent)[0])

rules['consequent'] = rules['consequents'].apply(lambda
consequent: list(consequent)[0])

rules['rule'] = rules.index

return rules[['antecedent', 'consequent', 'rule']]
# ilsuall oldlasdl adgi
coords = rules_to_coordinates(rules)
# ilsul oldlasyl quy sJgs
plt.figure(figsize=(4,8))
parallel_coordinates(coords, 'rule')

plt.grid(True)
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plt.show()

WU Sl el 99

Juice -

Coke 4

/

Milk 1

Diaper -

Bread -

antecedent consequent

831 b=l lgs g ruansll dgzl G0 pmaisl] G Jas @y clldg ol Olbl)l eyl G
Bread j sl (o J—S &0 Milk cod>dl o5y Ao il dg=dl (o 2o b Ghall ) 53| 5 aiel)
.Diaper bgallg

Ainll dlily Jinai 10.4.2
o0 DataFrame ULl (e 5Ubl (pems Groceries.csv calall (o yaiall Uilo Joreoi Sgi

oy yo e @5 (o9 Pandas duse
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# yoall olly S

df = pd.read_csv('Groceries.csv', header=None)

df.head()
:Caloll Cagans Jilol L) xglay
0 1 2 3 4 5 6 7 8 9
semi- read
0 citrus fruit  finished  margarine Y NaN NaN NaN NaN NaN NaN
bread >oUps
1 Uoﬁﬁﬁi yogurt coffee NaN NaN NaN NaN NaN NaN NaN
2 whole milk NaN NaN NaN NaN NaN NaN NaN NaN NaN
3 pip fruit yogurt Jﬁ:;g spggj; NaN NaN NaN NaN NaN NaN
long life
e etzg;:sr W::l:E m”de”n“:‘;i bakery NaN NaN NaN NaN NaN NaN
9 product

g59|.u.u..o ).J& o JS L>9 ).;oLc.SLH RRY ua Q,U.')g NaN CLC.)LQ O).u.Sp..LQ J9>9 1o

s S 99-Ss ddgiuan oo illy Willy>3l ddgauan uinid o e lall eudll Al 8yaidl (b Loims

' ULl bl (o Anls Lo solic (o ddgauas lgio

# odeylall el Bis

# ddg8an clidlg

transactions = df.T.apply(lambda x: x.dropna().tolist()).tolist()
print(transactions[1:10]))

:&;Jh”cukb?gl&éyman‘3oL)9§I&Mh2H}¢ﬂbﬂljio%JtdldSJde*é

[['tropical fruit', 'yogurt', 'coffee'], ['whole milk'], ['pip fruit', 'yogurt', ‘'cream cheese ', 'meat spreads'], ['other vegetables',
'whole milk', 'condensed milk', 'long life bakery product'], ['whole milk', 'butter', 'yogurt', 'rice', 'abrasive cleaner'], ['rolls/buns'],
['other vegetables', 'UHT-milk', 'rolls/buns', 'bottled beer', 'liquor (appetizer)'], ['pot plants'], [‘'whole milk', 'cereals']]

:Olelz 3l Oblo bl Lle Jguand) Oleha Bl 3oy adlil yapidl (6 pxiuws

# Gall o oy clad|

te = TransactionEncoder ()

# olldl ge 3ayall daide

te_model = te.fit(transactions)

# ol Jigod
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rows=te_model.transform(transactions)
# oldyayl obly bl el
df = pd.DataFrame(rows, columns=te_model.columns_)

print(df.shape)
(9835, 169)

9 b8 Lalise joaic 169 35 > icey Loo 13g-ac 169 g0 il cubilul )b sx0cl sac i ba>3
£y>] 9835 lasac LI lehy> 3l

99 A WLULI )Ub| 8 8yilgsiall yuoliedl causs Gillg apriori dlsl dJUl 8 auidl 8 (e i
8yilgiall yolioll adgi ) dde o> Guw)yxd @3) ¢8) %0.5 Sgluww min_support ecall (2o Uj.si 2>
(G 39350 Wasac bylyi aclgs) Jouogll Lim Jslydl aclgdg

8)3lg—iall yoliwll dcgomn 1 pignc S5 frequent_itemsets bl Hlb] Al oie (Gudad &b (s
JS length Jsb sy 5l bl H bR 393> guuss 3908 Lol .support ecallg itemsets
olic degowo
# el Jo¥ aodl pasd 2e Byilgtdl wilegasall aJgs
frequent_itemsets = apriori(df, min_support=0.005, use_colnames=True)

# yolall olegana Jlgbl wlus

frequent_itemsets['length'] =
frequent_itemsets['itemsets'].apply(lambda x: len(x))

print(frequent_itemsets)

o0 Lalsb Zohing ecall Lis8l aol) daindll byilgiall poliall (o degamo 1007 Losd o aSlidl oy
W 8yquall kil 4 g 1 s3c
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support itemsets length
e ©.0808033 (Instant food products) 1
1 8.033452 (UHT-milk) 1
2 ©.817692 (baking powder) 1
3 8.0952466 (beef) 1
4 ©.033249 (berries) 1
986 ©.005186 (other vegetables, root vegetables, whole milk... 4
987 ©.007829 (other vegetables, root vegetables, yogurt, wh... 4
998 ©.007626 (other vegetables, tropical fruit, yogurt, who.. 4
999 ©.085592 (other vegetables, yogurt, whole milk, whipped.. 4
le0@ ©.e85694 (tropical fruit, root vegetables, whole milk, 4

[1e@l rows x 3 columns]

AW Bya il s LaS galudl 8yilgiall poliall bl bl alasawl bayhal aclgd adgi 531 (Sl

e a2 dde Lo Gy e8)) %55 daill Lio3l asdl yass go association rules dlall pasuiws

(aclgdll (o Algiasne degamal Loy i byl aclgd adgi) rdgloe

# ol S el e ge aclolll g

rules =
association_rules(frequent_itemsets,metric="confidence",min_threshold=
0.55)

# sl Jolea 399 %SJ)'\;:JI oy
rules = rules.sort_values(['confidence'], ascending =[False])

print(rules)

(82218 50 Llg>) doilil lyl aclgd I Sl oy

antecedents consequents antecedent support consequent support support confidence

(tropical fruit, root vegetables, yogurt) (whole milk) ©.08088134 0.255516 ©.005694 ©.700000
(other vegetables, root vegetables, pip fruit) (whole milk) 6.008134 9.255516 ©.005491 ©.675000
(butter, whipped/sour cream) (whole milk) 8.010168 9.255516 ©.806711 0.660008

(pip fruit, whipped/sour cream) (whole milk) ©.009253 ©9.255516 ©.005999 ©.648352

(butter, yogurt) (whole milk) ©.914642 ©.255516 ©.009354 ©.638889

(butter, root vegetables) (whole milk) 0.012913 ©.255516 ©.008236 08.637795

(tropical fruit, curd) (whole milk) ©.910269 @.255516 ©.e06587 ©.633663

(root vegetables, citrus fruit, whole milk) (other vegetables) 8.909151 0.193493 @.88579% ©.633333
(other vegetables, yogurt, pip fruit) (whole milk) 6.008134 9.255516 ©.005084 ©.625000
(domestic eggs, pip fruit) (whole milk) ©.008643 ©.255516 ©.005389 0.623529

(tropical fruit, butter) (whole milk) ©.0099%64 ©.255516 ©.006202 ©0.622449

(margarine, domestic eggs) (whole milk) ©.008338 9.255516 ©.ee5186 9.621951

rdiyldl sclgill duoudgs 83l muwy) djlgiall lslao Bl w) plasiwl Sl

from pandas.plotting import parallel_coordinates

# ool U acledll Jygss dls

def rules_to _coordinates(rules):
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rules['antecedent'] = rules['antecedents'].apply(lambda
antecedent: list(antecedent)[0])

rules['consequent'] = rules['consequents'].apply(lambda
consequent: list(consequent)[0])

rules['rule'] = rules.index
return rules[['antecedent', 'consequent', 'rule']]
# &jlouall oldlaidl adgs
coords = rules_to_coordinates(rules)
# Qjlendl ol euy adgs
plt.figure(figsize=(4,8))
parallel_coordinates(coords, 'rule')
plt.legend([])
plt.grid(True)
plt.show()

DWW Sl el 99

brown bread A

bottled beer 4

@usage |

curd

citrus fruit
yogurt 1
ralls/buns -
bottled water -
margarine
domestic eggs -
root vegetables -

pip fruit 4

butter 4

other vegetables 1

= -..:'\

whole milk /

tropical fruit 4

antecedent onsequent
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anlall 10.5
aoliall L8 yoliall Slae cw kbl aclgd skl el Wilghs Jundll 1o (5 lusye

o AlolS £ ginall Olale Jyjii Gini 39 bl 13 e Google Colab g8ge (e YolS Jltall dipzd Sl

g deasslST o Julyl 130
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https://archive.ics.uci.edu/ml/datasets/iris
https://stat.ethz.ch/R-manual/R-devel/library/datasets/html/mtcars.html
https://academy.hsoub.com/programming/artificial-intelligence/%D8%A7%D9%84%D9%85%D9%81%D8%A7%D9%87%D9%8A%D9%85-%D8%A7%D9%84%D8%A3%D8%B3%D8%A7%D8%B3%D9%8A%D8%A9-%D9%84%D8%AA%D8%B9%D9%84%D9%85-%D8%A7%D9%84%D8%A2%D9%84%D8%A9-r1009/
https://ar.wikipedia.org/wiki/%D9%86%D8%AC%D9%85%D8%A9_%D8%A7%D9%84%D8%B7%D8%A7%D9%82%D8%A9
https://www1.nyc.gov/html/gbee/html/plan/ll84_scores.shtml
https://github.com/WillKoehrsen/machine-learning-project-walkthrough
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lgusye 0 o Pandas &use ;e DataFrame bl e bl o ULl Juesi Jol

import pandas as pd

import numpy as np

data =
pd.read_csv('data/Energy_and_Water_Data_Disclosure_for_Local_Law_84_20
17__Data_for_Calendar_Year_2016_.csv')

# obll sl e Sl ciadl sl
data.head()

gl W gl
ard
Weather
Largest Weather -
Property Number Weather Normalized ' ormalized
of Metered Metered ENERGY . p ; Site
Use Year Buildin Site EUI Normalized Site
" gs Occupancy Areas Areas STAR - S Natural
Type - Built (kBtuift) Site EUI  Electricity
Gross - Self- (Energy) (Water) Score (KBtu/f?) Intensity Gas
Floor reported KWhiftz) , Intensity
Aren (1) ( ) (therms/ft?)
Mot Whole Mot Mot Mot
Available 1963 2 100 Builing Available Available 2028 303.1 378 pvailable
Mot Whaole Whole
Available 1969 12 100 Building  Building 85 2295 22858 248 24
Mot 1924 1 100 Not Mot Mot Mot Mot Not Not
Available Available Available Awvailable Available Available Available Available
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E=| Energy_and_Water_Data_Disclosure for_Local_Law_84_2017_Data_for_Calendar_Year_2016_.csv
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https://towardsdatascience.com/a-complete-machine-learning-walk-through-in-python-part-one-c62152f39420
https://www.energystar.gov/buildings/benchmark/analyze_benchmarking_results
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b & o> 223 Pandas duSe (3 wllig object Lo P (Lad) 13gac S ¢Jg) sg0al (uiss Lle el
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:dataframe. info wbldl )] déyyb

# dLa8lll gt \q,gcjlg 3aacyl Oy dules

data.info()

Ul HeSag
<class 'pandas.core.frame.DataFrame'>
RangeIndex: 11746 entries, @ to 11745
Data columns (total 60 columns):
Order 11746 non-null inte4d
Property Id 11746 non-null int64
Property Name 11746 non-null object
Parent Property Id 11746 non-null object
Parent Property Name 11746 non-null object
BEL - 18 digits 11735 non-null object
NYC Borough, Block and Lot (BBL) self-reported 11746 non-null object
NYC Building Identification Number (BIN) 11746 non-null object
Address 1 (self-reported) 11746 nen-null object
Address 2 11746 non-null object
Postal Code 11746 non-null object
Street Number 11622 non-null object
Street Name 11624 non-null object
Borough 11628 non-null object
DOF Gross Floor Area 11628 non-null float64
Primary Property Type - Self Selected 11746 non-null object
List of All Property Use Types at Property 11746 non-null object
Largest Property Use Type 11746 non-null object
Largest Property Use Type - Gross Floor Area (ft2) 11746 non-null object
2nd Largest Property Use Type 11746 non-null object
2nd Largest Property Use - Gross Floor Area (ft?) 11746 non-null object
3rd Largest Property Use Type 11746 non-null object
3rd Largest Property Use Type - Gross Floor Area (ft?) 11746 non-null object
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http://www.nyc.gov/html/gbee/downloads/misc/nyc_benchmarking_disclosure_data_definitions_2017.pdf
https://www1.nyc.gov/site/buildings/business/compliance-instructions.page
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# aosll el gl

data = data.replace({'Not Available': np.nan})

# 13gac ldgac Baacll e ygsall
for col in list(data.columns):
# &8y 65 ol o LI BaacHl HLas

if ('ft?2' in col or 'kBtu' in col or 'Metric Tons C02e' in col or
"kWh' in

col or 'therms' in col or 'gal' in col or 'Score' in col):
# oo )l obldl ba Jiess
data[col] = data[col].astype(float)
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https://stackoverflow.com/questions/26266362/how-to-count-the-nan-values-in-a-column-in-pandas-dataframe/39734251#39734251
https://stackoverflow.com/questions/26266362/how-to-count-the-nan-values-in-a-column-in-pandas-dataframe/39734251#39734251
https://github.com/WillKoehrsen/machine-learning-project-walkthrough/blo
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Your selected dataframe has 68 columns.
There are 46 columns that have missing values.

Missing Values % of Total Values

Fuel Oil #1 Use (kBtu) 11737 999

Diesel #2 Use (kBtu) 11730 999

Address 2 11539 952

Fuel Oil #5 & 6 Use (kBtu) 11152 949

District Steam Use (kBtu) 10610 92.0

Fuel Oil #4 Use (kBtu) 10423 58.6

3rd Largest Property Use Type - Gross Floor Area (ft2) 10262 87.4
3rd Largest Property Use Type 10262 87.4

Fuel Qil #2 Use (kBtu) 9165 78.0

2nd Largest Property Use Type 8005 68.2

2nd Largest Property Use - Gross Floor Area (ft?) 8005 638.2
Metered Areas (Water) 4609 392
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https://github.com/WillKoehrsen/machine-learning-project-walkthrough/blob/master/Machine%20Learning%20Project%20Part%201.ipynb
https://ar.wikipedia.org/wiki/%D8%A7%D9%86%D8%AD%D8%B1%D8%A7%D9%81_%D8%B1%D8%A8%D9%8A%D8%B9%D9%8A
https://discuss.analyticsvidhya.com/t/what-should-be-the-allowed-percentage-of-missing-values/2456
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import matplotlib.pyplot as plt

# Bl dans Jelea gyl ySdl zyall

plt.style.use('fivethirtyeight"')
plt.hist(data['score'].dropna(), bins = 100, edgecolor = 'k')
plt.xlabel('Score'); plt.ylabel('Number of Buildings')
plt.title('Energy Star Score Distribution')
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https://ar.wikipedia.org/wiki/%D9%85%D8%AF%D8%B1%D8%AC_%D8%AA%D9%83%D8%B1%D8%A7%D8%B1%D9%8A
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# 03 10 o yST W Ll @l e dails elad)

types = data.dropna(subset=['score'])

types types['Largest Property Use Type'].value_counts()

types = list(types[types.values > 100].index)

# oLl d8 389 Jaleall gyigd @y
figsize(12, 10)

# oy S )

for b_type in types:
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https://towardsdatascience.com/histograms-and-density-plots-in-python-f6bda88f5ac0
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# ool s las

subset = data[data['lLargest Property Use Type'] == b_type]

# slall Jolea &L hilade awy
sns.kdeplot(subset['score'].dropna(),

False, alpha = 0.8);

label = b_type, shade

# bbsal g

plt.xlabel('Energy Star Score', size
= 20);

20); plt.ylabel('Density', size

plt.title('Density Plot of Energy Star Scores by Building Type', size
= 28);
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Density Plot of Energy Star Scores by Building Type
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https://hackernoon.com/what-is-one-hot-encoding-why-and-when-do-you-have-to-use-it-e3c6186d008f
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Density Plot of Energy Star Scores by Borough
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https://ar.wikipedia.org/wiki/%D9%85%D8%B9%D8%A7%D9%85%D9%84_%D8%A7%D9%84%D8%A7%D8%B1%D8%AA%D8%A8%D8%A7%D8%B7_%D9%84%D8%A8%D9%8A%D8%B1%D8%B3%D9%88%D9%86
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# Laclad ey oblidl gux @b sbw

correlations_data = data.corr()['score'].sort_values()

Owedl Gle) dpluBly (mwse canlis o luull Gle) dudaadl dslll blsy 31 osle Gl JSiadl oud
(syb cunlis

Site EUL (kBtu/ft?) -0.723864 DOF Gross Floor Area 9.013001
Weather Normalized Site EUI (kBtu/ft?) -0.713993 PropErTyPGFA - SEIF'RiportEd (‘Ftl)Fl A £2 e
Weather Normalized Source EUI (kBtu/ft?) “§.GI554) [rratsk Propenty Sisk Jave:= Kirne: Fisoe fees 55, SRR
Source EUI (kBtu/ft?) -0.641037 Community Board 9.056612
Weather Normalized Site Electricity Intensity (kWh/ft?) -9.358394 Council District 0.061639
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Energy Star Score vs Site EUI
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# sl Saacl wuass

plot_data = features[['score',6 'Site EUI (kBtu/ft?)',
'Weather Normalized Source EUI (kBtu/ft2)',
'log_Total GHG Emissions (Metric Tons C02e)']]

# oLy el LW Jlacial
plot_data = plot_data.replace({np.inf: np.nan, -np.inf: np.nan})
# Saacl daud Bolel
plot_data = plot_data.rename(columns = {'Site EUI (kBtu/ft?)': 'Site
EUT",

'Weather Normalized Source
EUI (kBtu/ft2)': 'Weather Norm EUI',
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https://towardsdatascience.com/visualizing-data-with-pair-plots-in-python-f228cf529166
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'log_Total GHG Emissions (Metric
Tons C02e)': 'log GHG Emissions'})

# L8yl 2 bl Bis

plot_data = plot_data.dropna()

# psae e bl Jeles Olus @l
def corr_func(x, y, **kwargs):
r = np.corrcoef(x, y)[0][1]
ax = plt.gca()
ax.annotate("r = {:.2f}".format(r),
xy=(.2, .8), xycoords=ax.transAxes,

size = 20)

# il S5 ela)

grid = sns.PairGrid(data = plot_data, size = 3)

# yoall bisall g LY
grid.map_upper(plt.scatter, color = 'red', alpha

0.6)

# é)bi’).” C).\A.H 9 _)hii”
grid.map_diag(plt.hist, color = 'red', edgecolor = 'black')

# By bliydl bhis g Jawdl
grid.map_lower (corr_func)

grid.map_lower(sns.kdeplot, cmap = plt.cm.Reds)

# sl S glgsll
plt.suptitle('Pairs Plot of Energy Data', size = 36, y = 1.02)

U Ollabsall Lo Juosisd
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Pairs Plot of Energy Data
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o) a3 ales JSluro dadlea) apdl gl lgio unliall )Ll Cuumg lisall dwaid ddos waiss
:osiagall Guils Cayyan dof
UL o 83935 Oljwo clin] o Zhiwl ddac g :Feature engineering Oljuoll dwsin  *
dasdll &330 bl Jio (Laub Olhysiall Gle cdygmill Gasy chal el apliuy 28 (dsliall dunlwdl
sl 5803 .z 3geill (b alasiwdl Abls zuuad) drgiall lyssiall oy of lg) Gaadall einylegll of
83032 Olie cliws] duloc il Lle Lgac ilyall dwaig)
O30 Cu (ZIg0il) il Wl oll )Ll ddoc gag :Feature selection ljuall jlusl ¢
83032l UL Joad¥l prosill Gle Z3g-0il xelud S Lo gll 2o dbasiyall yué liwall 83le
Lloe Lgil Lle ple JSiiny Oligall ) Liisd 3 il oS egalls Z0il) 8 23905 Lle Joraxly
Jnad dagoll Oliall Lle cliydly Caagll go dlagyall jué Oljall i3>
2oz eai OB ol e 3Stl 303 130 v Lgoidss Ll bl (o Jaas d31 plei 3905 elan
&8935 Ol (azy Bg Jiinid 0325 Lisls doumall ULl Z3gail S35 @) 13lg bl ol dalgll liuall
Gl elen o dio
:ob Loy Olieall dwaid dlsyo b licg puivay jzid
(ASdall alasiwl £ g5 8jung LiSudl ol 81un) 3519 5w a0y plasviuwl dygiall Wlyusioall juo)i @

Aped)ll Dlyusioll ekl iyl 8L5] -

93 3 3] .z3geul L9 categorical variables ($gi8 yu2io (uousi oyl 138 plasawl a3k
0 3lg BiSo clidl £45 S 131 T aladuial oz 3l o lxSo cbidl & 95 b &3 el2s dunj)lg>

8 Lpod)ll Wl all Gle &bl glgill Gasy bl e dadl 8332 Ol BLo] ealus Ol Kol
ol @5l Oluylaadl Gog « ULl oms 839250l dddasll yue ilddall eles Ll z3g0il baclus
JLonos d6ysall gl dpyandl e Bole aouss (ally wpmpball pinplesll ol dismo diira (po Boill of opnydll y3nll

dadyll Oliwoll guosd el eiylégll Licgpire (8 Caraig «lunall

Owigiall piall ) Lisy @ Lg) audall @iy Leglll 3293 @3 (o9 duad)ll Wiliuall AU 8ol HLins
o)l Jaus Pandas dusall alaiuwl 5S) 3g2dl (o xeiSIl cdlaiy 130 o 93w 38 . JS o of Ladiong
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https://hackernoon.com/what-is-one-hot-encoding-why-and-when-do-you-have-to-use-it-e3c6186d008f
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# ol bl &us

features = data.copy()

# Lady))l daacyl Lasl

numeric_subset = data.select_dtypes('number")

# 48yl saacM el @uplegl Bagus Buacl clud)
for col in numeric_subset.columns:
# Bl Jolee sgac ol
if col == 'score':
next
else:

numeric_subset['log_' + col] = np.log(numeric_subset[col])

# gl Baacyl HLus]

categorical_subset = data[['Borough', 'Largest Property Use Type']]

# 3le soly juay

categorical_subset pd.get_dummies(categorical_subset)

# Gl Jasll gyl Log
# buy sgae clisd T e sganll dad sl

features = pd.concat([numeric_subset, categorical_subset], axis = 1)
030 JS H9-S3 (J Cu> (8)u0) _)9_0;110&‘0(_,1_5.0110000@)ﬁjili,§_\JQ95.5.uJ&.?ch&AJ|o;\b.\9_}
.angggsjsdIAJ&éuﬂlhpﬂga;;gﬂl&gA;(?923+¢ocubydl
Jljall jlisl 11.5.1

b hsall G 3 Bae )1SS Jouas iy Las déidg 8oy pasdl lgasy go Oliall (o 232l by
Weather Normalized Site EUI cLsygSJl 40US 80 go Site EUI d5lall &5US 8yo Laslys io LI
0.997 13> &le Lolys dowdse
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Weather Norm EUI vs Site EUI, R = 0.9968
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ke aclw) Lao (collinear o) BuS lgrasy 2o dalyiall Wiljuell Bsle oo
oty Lasll lguan) 2o lisall Gy bLHI ) s xiss oo oyl )8 ple o 395 e Jouanl
gl o iliwall bls)l LI

a3 Joole alasiwl (Sa) s «Dliwall Gu dadasdl Js il Sode Glusd @bl (o 332l 33
oyl yiall Wliall slsud bLs)3l Joles § gyinall 130 9 pasiwiw variance inflation factor ;i
e Joandl liSay > 0.6 (o 15T Lagin bLsy3l Jaoe LS 13] (e JS J2l (o 8340 L8309
LAyl
o0 AT ey o)1 xS vyl o 39asdl 32y Crppisl Az dasd Lo 0.6 basiall dosdll of Ja>d
Jra83l )lisd Odglong )lad Bae oy bo Wleg Gy Ja>

Tiumg Bang 3gac 64 Lus) Las Wil Las| dlsyo asg Byl

# a8yl ye qdl old daacyl Bis
features = features.dropna(axis=1, how = 'all")

print(features.shape)
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WU HeSae

(11319, 65)

s 3358 o 031 Oluall dwsisg OLiSzwIl UL Judxig cobiludl Cagdais dlsyo lugil ol sy
LS 13) Lowd @Sl paduind Guasd (e 8Hle gty (Z3gaill sly dulosy cadl Jub Baseline il Guolw3l
3 ol Uguiio il z3g05 s

3l sl Lasl UL &amsally Coxgl) median lawg3l dadll slaicl jlasidl Jiluo b Sl
Jsos)l Jamw (030 ilac 9g 059123 alatl] z3gai)

L yall b wgio Lusdy $3Jlg .mean absolute error i MAE (g_Lholl UnsJl bhuwgie pxsiuws
gLl 5Sad 40l 3] g 8lall 6 Guplaall o aaall 3 zei duiranll auilly Z3sadl 5465 (p dalaell dogdlly
andilly 7yl BBy Jaw @l lasdl buwsio Olws of Ll @8Lal Lags aols Golide slaicl dousas

Hlisdl degamog )il degazo Loo Guicgamo Gl OULl punds camy polwdl b Ol Jib

o Al Cus Lgio elaid z3soil) lgod sl il UL d conmo g iadysidl dcgoxo  *
(Ll> 8 d8lall Joloo) Cosgll dasdll LI 48Ls] iljall dcgano

20 wyaall Z3gaill yin Cus eleill z3e0s b:laS @bl dcgamall 03 Axiiws Hisdl degaxe
L) o Las «obludl 030 6 Lys) Cigyeall Olendl g0 Z3gaill Glg> Ojlei @3 (reg «woliludl 03
lholl Uasdl bhugio doud Olusy

)Lu.>)U %309 K_A’)JJ.U %70 uJ! LLI 2

# LW %309 ol %70 Jl @bl apuds
X, X_test, y, y_test = train_test_split(features, targets,
test _size = 0.3,

random_state = 42)
ool by Olws 31 Se)

# Sl UasJl buwgia Glus> s
def mae(y_true, y_pred):
return np.mean(abs(y_true - y_pred))

baseline_guess = np.median(y)
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print('The baseline guess is a score of %0.2f' % baseline_guess)

print("Baseline Performance on the test set: MAE = %0.4f" %
mae(y_test, baseline_guess))

oy Sillg

The baseline guess is a score of 66.00

Baseline Performance on the test set: MAE = 24.5164

ozl dlge dic 209 %25 diiro o lasdl O igy Law

rod Lo J2as dlSuinell 39355 a2y 31 eles dlans dadlaa) Lol sl lghasdl o3l Gl busd ysiwl

o liall Al ULl iy Caskais .1

UL Ll el Caxgy bl GalaSiwl Jud=s .2

il Z3g05 8 alasiwl) Olall o dcgame pghs .3

@) of alatll Z3g05 Jouty b Zawurpa Sl Golo3l s 30355 dslac Ly dylgdl (oo
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Bl Goyeg ZIgeil sl duasS (o249 <Jul

couall i gy A3 alai L6 dpina> Alune 34a5 Olghas Judui Juadll o euwdll 130 (8 (6,23
lgale ol &,a,55 Zopuoll dgzlgo lgiSa) Lill Whgsuall eol Lle

308 ol OUL Cadais oy (31 eles e 6 Lol @M Olghasl Juadll (o (§aaw Lowd Lispuid
31 Golwdl s 3am Busly lunall dwliall Oliall Hlisl gy o) GolinSiw3l Julodl clyz] @
dadg aledl Z g0 £l afbiw

030 ijlas Lo g 3y ey Alaniwl dalize elei z5lai 83 clis] Goye el 1aa b il
Busly .oliel JSuin i)l Zz3g0il) dsslall codeleall Bplesg Jous AWl @b (g «lgie Juaddl HLasd z3ledl

Bydgiall s L3l Ul aladiwl Gilgill Zz3gail @agis dudsS
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https://github.com/WillKoehrsen/machine-learning-project-walkthrough/blob/master/Machine%20Learning%20Project%20Part%201.ipynb
https://scikit-learn.org/stable/

el SNl e ddac ) line Syine ygag divael dlall Ul Judso

ole 31531l g0 )99 diyaal Energy Star Score Ly 2303 by a9y Ll H835
Logybnoll ALl oS 13 g0 - Aol cl3g Usyends dublég aslull 48,
ol lusye S laoidl puc dogs bnai (o T eles dlue

9 (Raiiy O 8yiSI OUjlgall 6 Logi 3 S
Jiod )Lisd Glac lgio a2l ymiaw

Gsuso J2o31 Z390i)l 8p0 Jumiuamall (50 (553 455 Jiko &3l s ol S

JLs w99 (linear regression GlasJl)lassdl z3ges Jio yumnaill J8 bopun 3905 dyymis Sl ~
U”U)lﬂ” (WJPJJS‘“'UPQ-“J)AJD L_>JLL” IS ”L)-L*j .|= )_‘Si C_)LA_J . ‘cugm)-‘-cwé wls
Jinterpretability yuuwadl dblg accuracy dsall

@ Linear Regression
@ Decision Tree

Interpretability @ K-Nearest Neighbors
@ Random Forest

@ Support Vector Machines

@ Neural Nets

Accuracy
AU dosd] Z 3ol O piuw
Linear Regression sl )lassdl e
K-Nearest Neighbors Regression Lzl w8l jlasil  »
.Random Forest Regression dslgdiwell dlall Hlassl ¢
.Gradient Boosted Regression gL jigall jlasidl o

.Support Vector Machine Regression acall dg=io AT )lassl @
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https://www.quora.com/How-much-of-deep-learning-research-is-empirical-versus-theoretical
https://docs.microsoft.com/en-us/azure/machine-learning/algorithm-cheat-sheet
https://academy.hsoub.com/programming/artificial-intelligence/%D8%A7%D9%84%D9%85%D9%81%D8%A7%D9%87%D9%8A%D9%85-%D8%A7%D9%84%D8%A3%D8%B3%D8%A7%D8%B3%D9%8A%D8%A9-%D9%84%D8%AA%D8%B9%D9%84%D9%85-%D8%A7%D9%84%D8%A2%D9%84%D8%A9-r1009/
https://www1.nyc.gov/html/gbee/html/plan/ll84_scores.shtml
https://www.energystar.gov/buildings/benchmark/analyze_benchmarking_results

E,,c.l;lcuoﬁ»l sl e ddoc g)line dyuine

Jygag divanel dSlall by Jud=s

Do z3all B39-all (Sols Laarsisy Lainer s 55y Jh 23ladll 3g) il Lkl 09 o9 o)
sl Jioll Jyuolizl

&>xallg

olisdlg

andlill pyéll ulwisl 11.8.1

ozl axd 3o %50 duadll exdll 33c Lgud jolois (idl 8 oSl ULl Cagais dloyo o6 Lisis

a8l 0sd 3929 Josi 3 aleidl Oluoj)les graz 3 dsiiall dadlill gl co o3I lide (pp2ipmwg

import pandas as pd

import numpy as np

# olly sl 3 Wadsy ol 8elys

train_features =

test_features =

train_labels

test_labels

W Byaniind] plasiwl UL JS Loy 3ol fad

pd.read_csv('data/training_features.csv')

pd.read_csv('data/testing_features.csv')

= pd.read_csv('data/training_labels.csv')

= pd.read_csv('data/testing_labels.csv')

Training Feature Size: (6622, 64)
Testing Feature Size: (2839, 64)
Training Labels Size: (6622, 1)
Testing Labels Size: (2839, 1)
. .2 .
BUICAV P
vveamer .
Number Nunv_\:‘?“t::‘; Normalized Intev:asger Iog_Dg:c‘t log_Water
of site EUI Site Site (n?l Community Census Emissions MENSIY  goroigh staten
Year F— _ _
Built B“""'s"'gs Occupancy  ymoum)  Electricity Nawral  yyaper  Latitude  Longitude Board  Tract  (Metric (Al Water lsland
- Self- . Gas SOUFCES]
reported Int.ensnmy Intensity sourcesﬂ) Tons (gallft?)
(ki) S (@alt) cO2e)
1950 1 100 1260 5.2 12 99.41 NaN NalN NaN  NaN 6088818  4.599253 0
1926 1 100 954 a7 0.9 NaN 40.835496 -73.867745 30  161.0 5384036 NalN 0
1954 1 100 404 3.8 0.3 NaN 40.663206 -73.949459 9.0 3290 5.017280 NalN 0
1992 1 100 157.1 169 11 NaN 40.622968 -74.078742 10 27.0 6510853 NalN 1
1927 1 100 623 35 0.0 2865 40782421 -73.972622 70 1650 6123589 3.355153 0
1929 1 %0 529 97 0.2 480 40725136 -74.004438 20 370 5516649 1.568616 0
1942 1 100 6.8 3.0 06 67.14 40537833 -73.973045 120 4900 5426271  4.206780 0
1938 1 100 78.4 57 NalN 30.73 40776035 -73.964418 80 1420 6067035 3.425239 0
1959 1 100 3.0 34 0.5 41.96 NaN NalN NaN  NaN 6170447 3736717 0
1941 1 100 a8 43 0.8 86.86 NaN NaN NaN  NaN 5680855  4.464528 0
1922 1 100 55.4 45 0.0 NaN 40.762510 -73.970085 50 112030  1.335001 NalN 0
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https://www.oreilly.com/library/view/hands-on-machine-learning/9781491962282/
http://faculty.marshall.usc.edu/gareth-james/
https://academy.hsoub.com/programming/artificial-intelligence/%D8%A7%D9%84%D9%85%D9%81%D8%A7%D9%87%D9%8A%D9%85-%D8%A7%D9%84%D8%A3%D8%B3%D8%A7%D8%B3%D9%8A%D8%A9-%D9%84%D8%AA%D8%B9%D9%84%D9%85-%D8%A7%D9%84%D8%A2%D9%84%D8%A9-r1009/
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a8l dosd S dblun Jowiwwiw Ling sl dosd Jiei NaN "Lad) cuud" doud JS of Ja>d
lasgas) median lowgdl doyslly

doud)l | diusaslyiwl sbew| g0 Imputer Jaosdl (o LJWI Byt iadl 9 ¢ uini

@ Geg cimputer. it deedall U Gub e cuyadl Ol alasiwl I3 sy U539 Jawgdl

J—e=>dl L5 alasiwb )L us3lg coya sl Ol o J—S 8 d a8l @udll ¢ o) doasi i

Lu»ggl&__Agﬂb(J;+L_4w5)L_4i>2|ch_JLQg?é&__JaéLdlpgﬂ|QTL1_4>2.imputer.transform
oyl bl

)Lz 3 ULy Oyl &8 (8 £ 9 80)l iz Olwadl (6 déyjlall 030 pasiuws
130T gyl bily go HLas 3l Ll laliss 3 gy

# gl dadll dolyial ge Olusdl 5 elag]

imputer = Imputer(strategy='median')

# padl olie ge docdall

imputer.fit(train_features)

# )Loﬂb u.)).p.” ubLu % V\S L‘)Lao
X = imputer.transform(train_features)

X_test = imputer.transform(test_features)

Missing values in training features: O

Missing values in testing features: 0

Lasd Lads Sl Hong digine dsini> @18 la) Wliso Lo Jgazdl LIl Al Bapill 3,855 (o5

aljtall praai 11.8.2
ddoc o9 Byall pud Jlo }w il deolell dly>31 Data processing liwall pusoiy iz
S Z3laidl Gasy Hls (dalie lxo Lo lgagd & jgiiw Il «dalixe lasgy d3le 3l ljgall (3
support ecadl d gxio AT Z3g05 Jio «aud)l 030 3 louy Aol (o ddlusdl Cuwsd Gl Gl Lagwdg
TI905 Jio «ODliuall puxsd 8y9)ualb Z3ledl yasy ot 3 laiw (Ol L'J)éi T3gaig Vector machine
33)9)_,45 bohaxll 03 ()5SGg .random forest dilginall Glal Z3g90ig linear regression Glasll )lasidl

dalisall pladll Z5las &jlgel &l sic Jlg>¥l geaz 3

Gyb dulaol dtoudl @8yol) 8390l WliSay 2

Al eedll Jlawiwd 551
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https://stats.stackexchange.com/questions/121886/when-should-i-apply-feature-scaling-for-my-data
https://www.kaggle.com/dansbecker/data-leakage
http://scikit-learn.org/stable/
https://www.hilarispublisher.com/open-access/a-comparison-of-six-methods-for-missing-data-imputation-2155-6180-1000224.pdf
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8ol dosd )2 ol Zxdny 830 (55 dasd S U= o [1-01 Jlnall Wl 8300 ST 048 €] T 0 S5
35 (Baall Jlo) Braall dayd yuol (o Biuall dagd Llel Z )b 75l Lle dowdll @F (g «dagdll 030 (yo
.standardization au>gill ol Normalization &gwilb Gl ddesll 03

oo MinMaxScaler (LSl pasiws Lisl 3] «dlgg Laub diylull dolusdl ddasll dxoy W (Sl
.imputer J scaler Jlasiwl go §:ludl Olwsdl $xaui euoddl 8raub Gilads oy $illg Scikit-Learn
LaS ;L 31 Uil Lawd Loy ULl JoSU Ccansig dadd il bl alasiwly 35 Wl Lle 3S8iw
.Uihuo&

#1 0 Jdl g gl HIS clad)

scaler = MinMaxScaler(feature_range=(0, 1))

# oyl obly 20 dacMall
scaler.fit(X)

# slasdly coyadl wlly e JS Jagss
X = scaler.transform(X)

X_test = scaler.transform(X_test)

T o0 Lalac dasdg 0 o ()0 doud 8xaill 030 34035 a2y 8o JSJ ()9S5

Lilac HUise>g0 Lagid 13u> Oluall euxsd dulacg diadlill eud)l Olwis! ddac (o JS 089 Guusian)
AT eles £ gpirn (ST o0
Scikit-Learn plaaiwl alill plei ailni d14ii 11.8.3

OULl cagdais J>lho Lisgil O 32 Baon Bool iill lgolasiunl 03 (09 Lga) g Z3laill sLi] 323
JSJ 3 >g0 clin ddyybg jlion (4595 Ll 3990 Lillg (gl 9 Scikit-Learn duSoll posauws .laslaclg

Ay Z3ladl o agdl Apbisy Zawm Los «eleill ke

dw)aig Gradient Boosted Regression z,adb jieall )lasidl Zz3g0i clis] Al dJUl 8yapil Ol

predict gudl QU plaxiwb o)lusl @3 (og (1t docdoll LU plasiwl

from sklearn.ensemble import GradientBoostingRegressor

gradient_boosted = GradientBoostingRegressor()
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# eyl wbly 20 ESQAJJ] daeMa

gradient_boosted.fit(X, y)

predictions = gradient_boosted.predict(X_test)

# zigadl o

mae = np.mean(abs(predictions - y_test))

print('Gradient Boosted Performance on the test set: MAE = %0.4f' %
mae)

T 09S) S
Gradient Boosted Performance on the test set: MAE = 10.0132

<L GILidlg Jaad 13519 law 350 (HLaslg )iy slin]) duwlwdl ldesl (o ddac JS o ba>3
B yaizol] 23kl 25l LI JSuidl sl 8xauiidl 58 glhall Z 300l quol jusi aS) Z3ledl dudy

Model Comparison on Test MAE

Gradient Boosted
Random Forest
Support Vector Machine

K-Nearest Neighbors

Linear Regression

(=]
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Mean Absolute Error

b wgin o lgeuas 1g% Litluo 8 gadnil) duls A3 el z3les guos ol JSuidl b Al8, 81 i

bwodl dadll alasizwl o Sillg (24.5 g0g) Litluo) 3354l Golwll s (o y2uol Glas Uas a4d
(@8Ua)l daso Jolso) Lasgll

Ol z3g9-0i MAE=10.013 j5g20ll Hlasidl Z3s 0 oo J-S) gl UnsJl bawgio wyLas k>3

T 2590 &l Lowwd z3laidl oy Aol dlspall 030 58 dlgall 5S35 % 38 .MAE=10.014 dSlg.insll
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3pleo gT 099 Z3ladl odolea) dislyiddl ausll LiSys LisY support vector machine acadl dg=io
s ol

O Gl 3l ) £ grinall Dliago §-8g da5lall didlolas ylans liol Z3s i Jswsll (1S
) 5)5>31 doleally Z3g0i) ds5lall codoleall
L2y Lilg) o)yl Jud pISL'iJl duoj)yle> wilbslac] o thyperparameters dilall Oslolao)l  »
L)l Z3g05 L9 Hlaud3l sac ol Hhuzdl )8l 23505 O Ol 33 Jio (d0))lexl ganmas
Alginall
Z3g03 Oligl oo eyl sLisl z3s0il Lgalan il codloleall o parameters sloleall
hsll sl
4B S o Oy s lhall Hle il dga) Loww3 Z3g-0ill chol Lle da5lall codoleall 8yles duloc yi65
Lle Hald e Zigi LI olsgs ollllg coverfitting Lausasidl b)yd dskiwg underfitting auasil
Jmiad Gl 83g-2l (Salg Bagaz Dlihse g0 suidll (o (Sei &) IWls «yaill dliol aposs
oelSinall Gaile Jo> Jmadil (o 33l Ooas deayslSi (o
w83gllg Oliwall G byl plaid 48lS > Oloys Z3geid) HeSo B lesic Gamanil dlb dSiw sk
I3sa23 i STz 390l Jom papasil A gumuai Sed Bagll diy2o @ub 925 35 bl 4 0eSy Iy
$3Mlg S (L GILL A 9eSud vyl DLy Z3gaidl K3 Lodic panaxill bb)d dSuiin gl loiw
.regularization &guwidl alasiwl Z3g0il 34823 (o 3ol dousual (HSed
385 GILilbg w5y 538 dluo o calisg Lliall Lgasd b daslall codoleall splas (8 dSuivall (oS
B332 0)35 WUl degazo JS o daline eu8 Cuyad 0 Glinll eudll 03g) Jouosl) 8au>gll diyjhall
J—io dewlio Wloj)les> plaxiwb Sliodl eusll Jgogll Epistasis ju o J—io OHgpisSIl Jolsu
JLilbg d85lall codoleall i) Gylall (ro 2a2ll basdl yuusd Scikit-Learn 300y 31 sl Clusj)lgsl

ST 503 3udel ()95 lgde Licg i (9 Saigiw

ghldinll pudill go ilgdell dadl 11.9.1

gblaiall a1l & o Lilgsirall Codly Lliall pudll Lol 8 lgosini s Lill dayall es

:random search with cross validation i

205
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https://scikit-learn.org/stable/modules/generated/sklearn.ensemble.GradientBoostingRegressor.html#sklearn.ensemble.GradientBoostingRegressor
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# aouass oglladl Bylusdl 2l

loss = ['1ls', 'lad', '"huber']

# dasscwal Lal bl sae

n_estimators = [100, 500, 900, 1100, 1500]

# 5o U eyl Gasll

max_depth = [2, 3, 5, 10, 15]

# a8y I j20Yl dzell sac

min_samples_leaf = [1, 2, 4, 6, 8]

# obade pedd jaodl el sae

min_samples_split = [2, 4, 6, 10]

# obade peudd dosduiwall Olill @acdl sasll

max_features = ['auto', 'sqrt', 'log2', None]

# o codl @l olaledl it cayyes

hyperparameter_grid = {'loss': loss,
'n_estimators': n_estimators,
'max_depth': max_depth,
'min_samples_leaf': min_samples_leaf,
'min_samples_split': min_samples_split,
'max_features': max_features}

# sl odloleall Syles gigai elud)

model = GradientBoostingRegressor(random_state = 42)

# ablizdl eugidl] wlgl> 4 e o_}[s‘u&” Codl slacl

random_cv = RandomizedSearchCV(estimator=model,

param_distributions=hyperparameter_grid,
cv=4, n_iter=25,
scoring = 'neg_mean_absolute_error',
n_jobs = -1, verbose = 1,
return_train_score = True,
random_state=42)

# oyl olly go decMall

random_cv.fit(X, y)

:Jie3l Z3g0idl Loy Coull (o clgisdl agy RandomizedSearchCV (Sl cples
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# il o @Sas dSy Jo8l sl

random_cv.best_estimator_

GradientBoostingRegressor(loss="'lad', max_depth=5,
max_features=None,
min_samples_leaf=6,
min_samples_split=6,

n_estimators=500)
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https://github.com/WillKoehrsen/machine-learning-project-walkthrough/blob/master/Machine%20Learning%20Project%20Part%202.ipynb
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default_pred = default_model.predict(X_test)
final_pred = final_model.predict(X_test)

10.0118.
9.0446.

Default model performance on the test set: MAE

Final model performance on the test set: MAE

00 dago 9953 38 dud g Linyds %10 dewniy sh3l Guwnd Ll daslall dolaall 8plae ool
Lo it olinauas Sl cdgll aé) dxanbndl Olaball

e GO %timeit dyyocuwdl dogdeil alasiwl Z3g0il u)yds ddysiwn Sl Cdoll bylas (Sl
Jupyter Notebooks assiuwell yghill

%%timeit -n 1 -r 5

default_model.fit(X, y)
o 8painll 70U 9o

1.09 s + 153 ms per loop (mean = std. dev. of 5 runs, 1 loop each)
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%%timeit -n 1 -r 5

final_model.fit(X, y)
i 8801 250 05 e
12.1 s + 1.33 s per loop (mean = std. dev. of 5 runs, 1 loop each)
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https://github.com/WillKoehrsen/machine-learning-project-walkthrough
https://datascience.stackexchange.com/questions/22335/why-are-machine-learning-models-called-black-boxes
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import pandas as pd

# model ,ghall zigadl

importances = model.feature_importances_

# train_features Ul olls W)

feature_list = list(train_features.columns)
# olly sl 8 Lisall olaeal 2o
feature_results = pd.DataFrame({'feature': feature_list,

"importance': importances})
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https://stackoverflow.com/questions/15810339/how-are-feature-importances-in-randomforestclassifier-determined
https://papers.nips.cc/paper/2013/file/e3796ae838835da0b6f6ea37bcf8bcb7-Paper.pdf
https://www1.nyc.gov/html/gbee/html/plan/ll84_scores.shtml
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# odwal pSY yasll olial bl
feature_results = feature_results.sort_values('importance',
ascending = False).reset_index(drop=True)

feature_results.head(10)
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from sklearn import tree

# (105) symall zlySzal

single_tree = model.estimators_[105][0]

# i ale 8 Byl s>

tree.export_graphviz(single_tree, out_file = 'images/tree.dot',
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https://scikit-learn.org/stable/modules/generated/sklearn.tree.export_graphviz.html

oelbaodl slS3l (e duloc gl By ygros dinae) @Blall ULy Julos

feature_names = feature_list)
AWl emd dedeidl alasaiwl clldg pNg dsway 8)guall o) Graphviz (e dioleoll duswy pasauws

dot -Tpng images/tree.dot -o images/tree.png
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https://www.graphviz.org/
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from sklearn.ensemble import GradientBoostingRegressor

# 1Yl @l odeleall pe zisadl clud]

model = GradientBoostingRegressor(loss='lad', max_depth=5,
max_features=None,

Lzl B)9ll dezlyo Sl iST Jpoldd Gle Joax) 3
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https://www.oreilly.com/content/introduction-to-local-interpretable-model-agnostic-explanations-lime/
https://arxiv.org/pdf/1602.04938.pdf

oelbaodl slS3l (e duloc gl By ygros dinae) @Blall ULy Julos

min_samples_leaf=6,
min_samples_split=6,

n_estimators=800, random_state=42)
# zigall Llusly daide
model.fit(X, y)
model_pred = model.predict(X_test)

# ool sl

residuals = abs(model_pred - y_test)

# b s STzl

wrong = X_test[np.argmax(residuals), :]

print('Prediction: %0.4f' % np.argmax(residuals))

print(‘'Actual Value: %0.4f' % y_test[np.argmax(residuals)])
@l vy

Prediction: 12.8615
Actual Value: 100.0000

SUily oglicy boily uyaidl ULy ) &l codalaall 3yed 8o 2y 1S dlill 8yl uinis
Olyuall clowwly oyl

import lime

# oo S5 ela]
explainer = lime.lime_tabular.LimeTabularExplainer(training_data = X,

mode = 'regression',
training_labels = vy,
feature_names = feature_list)

exp = explainer.explain_instance(data_row = wrong,

predict_fn = model.predict)

exp.as_pyplot_figure();
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Explanation of Prediction

s s> o550 |
Weather Normalized Site Electricity Intensity (kW) <= 3.80 e

Largest Property Use Type_MNon-Refrigerated Warehouse <= 0.00 -
Property Id > 4409690 50
Year Built > 1964 00

65250.00 < DOF Gross Floor Area <= 91616.00

3.63 < log_Water Intensity (All Water Sources) (galft*) <= 3.85
log_Direct GHG Emissions (Metric Tons CO2e) > 6,10

37.33 < Water Intensity (All Water Sources) (gal/ft?) <= 46.75

Order > 11165.00

=40 =30 =20 -10 0 10
Effect on Prediction

oS Yo 9 past by go doiil) il il lisall Y ool 1l ol LoS JSuil ypunds (503
o yoant Jagydidl 99 (99-Sed Lifs Bisall dausd 5555 1S 13] Lol 2gll dagdll le Glal 385 Bpoll dangd
Ll 8y oll Lol 1cda gl agdll (yo 40 Glg > 2 ,b )1 95.90 (o »uST Lo Gilly Glodl Sruall dosd (Sa55
sl 030 JS 20> Juol> dilgill sl Losd 995 Eum (suiill 10 gaxid 3.80 G J3 lgiasd il
Adlullg duxgaoll

:show_in_notebook dayylall plasiwl legleall uaid (s>l 6k Lle Jguasdl Sl

# ologyall bl

exp.show_in_notebook()

sl

negative positive

Site EUI (kBtu/fi?) > _. Feature Value

2 Weather Normalized Site Electricity Intensity (KWh'ft) 320
828 i Largest Property Use Type Non-Refrigerated Warchouse 0.00

P Id = 44096
TOperty Property Id  4405603.00

259

Year Built = 1964.00 Year Built 1060 00
137 -
63250.00 < DOF Gross... DOF Gross Floor Area 67914.00
1.301

3.63 = log_Water Inte
1.10

log_Water Intensity (All Water Sources) (gal/ft%) 3.85
log_ Direct GHG Emis._. log_Direct GHG Emissions (Metric Tons CO2e) 6.18

064

‘Water Intensity (All Water Sources’ 46.75
37.33 < Water Intensity.. iy { ) ()
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Actual values = ['cat', 'dog', 'cat', 'dog', 'cat', 'cat', 'dog',
'cat', 'dog', 'cat']
(elatl Z 390 §ui5 83le lage i) Hguall uai) Al Olaguail Ll Caguai Z3g0 ol oxg

Predicted values = ['cat', 'cat', 'cat', 'dog',6 'cat', 'cat',6 'dog',
'dog', 'dog', 'dog'l]
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Accuracy aanll gulidn 12.1.2

(o LIS saell (o dovsuall Wilasuaill dus gag Accuracy douall Guliboe

Accuracy (TP + TN) / (TP + TN + FP + FN) * 100

bl Wlio (6 douall (S5

Accuracy (3 +4) /10 * 100 = 70%

Precision agall gulian 12.1.3

ol ddioN GISUI saell Lle dsgoll ddioN dousiadl Wlaguaill duws oo Precision ddall Gulibe

TP/(TP + FP) * 100

Precision

bl Wlio 6 @Bl (yeS

Precision 3/(3+1) * 100 = 75%

Recall jl93iwmll gulidn 12.1.4

Lz gall Aol GISI o)l Lle duzgall dlio) dogsuall Clauaill duw oo Recall ) Siwdl Guliéos
:(True Positive Rate zusuall >gall duws of Sensitivity duwluwadl Loyl Golidall 13e Leay)

Recall

TP / (TP + FN) * 100
bl Wlio G ,S3mwdl HeSy

Recall

3/(3+2) * 100 = 60%

F1 gulidnll 12.1.5

83>1g doud 9 HS3wlg A8l o Hjley ywlibo g9 F1 Hulidal

F1-Score (2 * Precision * Recall) / (Precision + Recall)

bl Wlio 6 F1 598y

F1-Score (2x75x60)/(75+60) = 66.66%
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Specificity aungnall 12.1.6

dJLull ddioN QIS sacell Lle dusgall d Lo dib sl eolasunil] duws 9o Specificity duoguwsll
:(False Positive Rate ¢ bl o> goll duwi Lol oolkdall 13 en)

FPR

FP / (FP + TN) * 100
3Ll Wlio (53 doguasll (oS5

FPR

1/(1+4) * 100 = 20%

Jgiil A claill guuldo bwa 12.1.7

8yl s LaS «ddyLadl GuwLaall oS Olus d580] (sl b sklearn.metrics d.uiSall 4943

AU dumo !
# ool zil el
from sklearn.metrics import confusion_matrix
from sklearn.metrics import accuracy_score
from sklearn.metrics import precision_score
from sklearn.metrics import recall_score
from sklearn.metrics import f1_score
# gaall
actual = ['cat', 'dog', 'cat', 'dog', 'cat', 'cat', 'dog', 'cat',
'dog', 'cat']
# sl
predicted = ['cat', 'cat',6 'cat', 'dog',6 'cat', 'cat', 'dog', 'dog',
'dog', 'dog'l]
# S5yl Bghan
cf_matrix = confusion_matrix(actual , predicted, labels=["dog", "cat"]

)

print ('Confusion Matrix :')
print (cf_matrix)

# oY ugléa

print ('Accuracy Score :{:.2f}'.format(accuracy_score(actual,
predicted)*100))

print ('Precision Score :{:.2f}'.format(precision_score(actual,
predicted, pos_label="'dog')*100))

print ('Recall Score :{:.2f}'.format(recall_score(actual, predicted,
pos_label="dog')*100))
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print ('F1 Score :{:.2f}'.format(f1_score(actual, predicted,
pos_label="dog')*100))

print ('Specificity :

{:.2f}"' . format(cf_matrix[0,1]/(cf_matrix[0,1]+cf_matrix[1,1])*100))

iyl 0280 A6 Loa ol nn L) 0551 oills A Jlgall o JS Aol bl (6 painias

sl oud daildg
dlal aogll

confusion_matrix J5) 3l dégarne Olws
accuracy_score uall Olws
precision_score 8ull Llws>
recall_score HB 3wl Olws
f1_score F1 Olws

Wle 25 (9SS

Confusion Matrix :

[[3 1]

[2 4]]
Accuracy Score :70.00
Precision Score :60.00
Recall Score :75.00
F1 Score :66.67

‘ol LS seaborn dusall plasiwl ¢lsydl d8gaan ew) Lyl (Sod

import seaborn as sns

sns.heatmap(cf_matrix, annot=True)

I JSaadl gt Lo
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ROC dulie il Judimall jailna 12.1.8

O i>dw 9o -Receiver Operating Characteristic )laisl- ROC ddusiidl Judiwall paibas

Blioe Coriual 3903 ()85 9 «ddlully dzgall Lgauall (o Juodll Gle €5)38 (8 Caruaill Z3gas bclas

)81 TPR ()53w31) donmuall duzgall Cdgauall duuui H9S5 ol STyl Ll yglill L) o O ez
iuall )81 FPR (duoguasll) dblal dgoll Ligaiall duwig s>lgl)

1 uadl Catiadl OIS sl Glel o Lyidl LalS &S dalize ROC Wluimie Il JSuidl Gasd

0.0 0.5 1.0
t,blall Lagall Jano

226



oelibodl 83l (e dulac )lire Spiac 431 s z3los )Lislg e

AUC siainll daidaalwnll 12.1.9

(a5lg)l (3o ydl) 1uST ROC isio i -Area Under the Curve )Laisl- AUC d>Lluall ilS LolS

(Bl Qe 8l Gusaall ol sy ells o) Juadl Caladll ols

Aoyl 8yau il uu_: LoS AUC il b dolunall Olwsg (990U 8 ROC Lo ey (Swd

t ! W) dJlil

# oyl duSe

from sklearn.preprocessing import LabelEncoder

# Lgaall

actual = ['cat', 'dog', 'cat', 'dog',6 ‘'cat', 'cat', 'dog', 'cat',
'dog', 'cat']

# gl

predicted = ['cat', 'cat', 'cat', 'dog', 'cat', 'cat', 'dog', 'dog',
|dog|, |dog|]

# Vgl jiays

le

LabelEncoder ()

# 2,5 Bosall juays
actual=le.fit_transform(actual)
# o85S ol uay

predicted = le.fit_transform(predicted)

# Aoyl uolddl dcse

from sklearn import metrics

# awyl 4:Sa

import matplotlib.pyplot as plt

fpr, tpr, _ = metrics.roc_curve(actual, predicted)

auc

= metrics.roc_auc_score(actual, predicted)

plt
plt
plt
plt

.plot(fpr,tpr,label="AUC="+str (auc))
.ylabel('True Positive Rate')
.xlabel('False Positive Rate')
.legend(loc=4)

plt.

show()

26,18 Cdgaall juoyi) sklearn.preprocessing &usall (o LabelEncoder Cauall alasiwl 1a>3

b3l Koo
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&bl Liagall Jaso
Lo 3> Cainadll Ol sisy Los 0.75 Ll Solus pisiall e doluroll (i 1a>3
Jlaaidl 23lai puidal 12.2

X (a8l 0 dcg0m0 of) dosd (o 1Enil Y drad) dosdy sl 00 lamidl Z3lai o gl b Joi 4335

:Olgindl T3 o 589 A3 JlacHl sac Lhass $illy LW Coyaidl Ol Jga Sio Lysl S

Age Failures
10 15
20 30
40 40
50 55
70 75
90 90

:Failures JUacllg Age yosll jomo Lle bladl oia S JSidl o

228



oelbaodl slS3l (e duloc gl By

cballl

el (po JS (8 diblund ks Blasuwol Hlasidl glgil ST oo linear regression oozl )lasidl 33
r I eudianall Mo diludl UL go GlasdlHlaoidl fit aesl of Sio S0 gl

E
:

o sl ebianall Jslee alasiwl Gludl Jgazdl aud (o JSI Predictions sucll Glus ool

229

o) bes )lasidl Zig0d



oelibodl 83l e dulac g)line Byuine 3| plai z3led ) Lislg @uuds

Predictions Age Failures
26 10 15
32 20 30
44 40 40
50 50 55
62 70 75
74 90 90

g «pubinnally duwlwdl bladl G ddluall Glwsy OLL pusiwall daido (a0 uld G3| Sl
I Jgazdl 5 oS il eud g dwlwdl @udll (o lBgall g.si ol Errors clbs 3 Olusy

Age Failures Predictions Errors
10 15 26 11
20 30 32 2
40 40 44 4
50 55 50 5-
70 75 62 13-
90 90 74 16-
Lyl lgyall 030 GIWI JSidl (usd
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Dlasdl el audi) A Qo lball pasiws
(RMSE J| paizag) Root Mean Square Error clas3l ey wlhwginad ewydl )izl e

(MAE )| paisag) Mean Absolute Error dallaoll dosdll clasYl luwgio

RMSE clhaill dleypn Glhunginl L eurll jaall 12.2.1

tellas W &Ll )Ll (o Galoal) Jgi guyill diac pasid

Failutres Predictions Errors Errors2
10 15 26 11 121
20 30 32 2 4
40 40 44 4 16
50 55 50 5- 25
70 75 62 13- 169
90 90 74 16- 256

B 09548 Gl bwgiall 325 13519 .89.5 sl las s3] ilayse husgio s @ (309
.Root Mean Square Error clas3l olayyo collawgial ooyl )3zl st RMSE Lwliéall daygd 9.9

(anall Go 4l A1) Juad! daddlall ol pisy 1368 Basuo sa2ll 13 oS LolS . gudally

MAE ddlhall doydll clhaill hungin 12.2.2

ALl )L dl (o Loz clasW dalhall dogdll 350 ol Lyl (S

Age Failutres Predictions Errors |Errors|
10 15 26 11 11
20 30 32 2 2
40 40 44 4 4
50 55 50 5- 5
70 75 62 13- 13
90 90 74 16- 16

a3l bwgio T MAE Goliio sy Wlie (16 8.5 1l Las «lg) (oluwsdl bawgiall i of (o9
.Mean Absolute Error dsllholl dausll
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from sklearn.metrics import mean_absolute_error
from sklearn.metrics import mean_squared_error
from math import sqrt

[15, 30, 40, 55, 75, 90]

[26, 32, 44, 50, 62, 74]

y_true

y_pred
print ('MAE :{:.2f}'.format(mean_absolute_error(y_true, y_pred)))

print ('RMSE :{:.2f}'.format(sqrt(mean_squared_error (y_true,
y_pred))))

M SIIETAY

RMSE :9.92
MAE :8.50

05 g ol Lade elaill dsojylgs> suais) dataset Ulull (o degono yidg5 cam «aloid Z g0 clid

Bl 2390 past

l3g dyai J¥> Loy @) il UL o degamo 4 )y Ol «Sal> Uiy «aleill 23505 pasdd

vasasill by 6 dSuine Ldas 8 elail Z3905 £ 989 dauid dayie 8)lias Euudl Guwlie Gle Wouaxd Bolas

el auagi Lle )3ls yué g 0g Jads dl oy adll ddiodl Lle s> JSuin elei z3gaill ol S .overfitting
Suz JSi 82> dliol 2o Jolaid)

SULI s’ Gilly eledl z50ai audi) dossiwall @bl bl (o Giloine)l euudill ddy b 323
%80 Jlg> d3Lc) training data cuyadl Ul Jo3l puudll geai iodlgudne JSuiy Guound L] d>lioll
testing data )Lu>3l Oliuw (%20 LJlg>) Gbuiell )53 uudlly (bl o

2Ll Z30-aill ap s @f Gog Jadd uyail HUily plasiwl eledl Z3s0i clig )3 Ll das
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Lazd a5 ally I oyl Brapitll a5 LaS iy pliall a3l Lo JS 0ol o sklearn &usall 505
ds bl iris —wgunll Lol Casiuas bl degomo e ellig Bayes ub caluas alasiwl casiual g3g05
Lgwai Sl (o

# olly degams

# gl Hlasl

from sklearn.datasets import load_iris

# oolasly copd Jl obldl e 405

from sklearn.model_selection import train_test_split
# ol bas dS

from sklearn.naive_bayes import GaussianNB
# il juplie olise

from sklearn.metrics import accuracy_score
from sklearn.metrics import precision_score
from sklearn.metrics import recall_score
from sklearn.metrics import f1_score

# oUll s

X, y = load_iris(return_X_y=True)

# ookl 0w Jl bl e

X_train, X_test, y_train, y_test = train_test_split(X, vy,
test_size=0.2)

# b das el

gnb = GaussianNB()

# copadl obly Lle daddall

# okl olly e sadly

y_pred = gnb.fit(X_train, y_train).predict(X_test)
# il juplis olus

# ookl olly &)la

# iodl 845 20
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print ('Accuracy Score :{:.2f}'.format(accuracy_score(y_test,
y_pred)*100))

print ('Precision Score :{:.2f}'.format(precision_score(y_test,
y_pred, average='macro')*100))

print ('Recall Score ::{:.2f}'.format(recall_score(y_test, y_pred,
average='macro')*100))

print ('F1 Score ::{:.2f}'.format(f1_score(y_test, y_pred,
average='macro')*100))

10 JS Lg) yya Llg train_test_split dllal ol Jas3

ONidly Judl (3o JS o9 Job) solic 4 (10 ddga1a0 Lgsd paic JS (190 Al ddgtunne X
(pwgll 8)05)

(38lgall 8yl Casias) dolol ddgaunn iy »

(o8l Sy %20) Sl bl oyl bl dghall duwdl itest_size e

iob L ayei

X o Wlgaine 8)lizall yaddl WUl :X_train e

X oo Wlgane 8yliall JLis3l Ly :X_test o

ol bl Weaw iy train e

s obly Weaw iy_test e

13l Guwlio eud digleo) drapddl 3uais (Sl

Accuracy Score :93.33
Precision Score :92.59
Recall Score :93.94

F1 Score :92.50

i*ap)dligq_idJA_yhjk}53¢sg4ﬂi>iu3upiL;sxq‘&gabb)bplpéég?g'ggﬂlosz(JiLJ!ouﬁilL,qq
80 JS )iz ULl o3e of 31) 5 Las31 lily (o dalie degamo Lle 8o JS 16 sz lglus of 3l
W @l Lol Byl uaia) 3 35 Gl o (Slgabee JSin
Accuracy Score :90.00

Precision Score :92.31

Recall Score :92.86
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F1 Score :91.65

Cross Validation method ghlainll piidill fc ploill 2ilai pual 12.4
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Oz0) Byay il 3405 JS Jol o lgawds HoSiuw euill Guglas @b Ol LS (i lgio Lawud adiiwi
Lodel Lusye LS daylul daylall

il OULl o assd Los (eudill) )L wibilyg cyaill by G bl euuds oo Ldge
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P985 i 80 JS 6 By K Ly Lo 1y Sy pg 5 @ (po9 Dlagladl o K 3ae Gl oy aill bl qunss
o 1 A gl Uil Ro dagedss @ (yog (i dygloll lae Lo lygladl JS) dygl> K-1 bl go z3g0ill g

(i21..K) OhLSal JS) eadidl Goldo bwgio s Gilgdl cls3l Lulidbo (sSy «lgil
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# olly degasao

# sl ol

from sklearn.datasets import load_iris

# ksl copd J bl gl 4:5e

from sklearn.model_selection import train_test_split
# b bias dS

from sklearn.naive_bayes import GaussianNB

from sklearn.model_selection import cross_val_score
from sklearn.metrics import accuracy_score
from sklearn.metrics import precision_score

from sklearn.metrics import recall_score
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from sklearn.metrics import f1_score
# oLl Jeass
X, y = load_iris(return_X_y=True)

# ookl g e ) obLl s

X_train, X_test, y_train, y_test = train_test_split(X, v,
test_size=0.2)

# nb duae el

gnb = GaussianNB()

# dall ulds olus

scores = cross_val_score(gnb, X, y, cv=5, scoring="accuracy")
print(scores)

# gl oles

meanScore = scores.mean()

print(meanScore * 100)
(850 JS 129) sl 56 S

[0.93333333 0.96666667 0.93333333 0.93333333 1. 1
95.33333333333334

Sra il 6 LO3s’ aleill Z3Lai (po dcgomo el daylull gblaiall ayeddl dayyb alaxiwl (S
models eleil Z3Loi (o dcgaxo Lgl yyos illg cv_comparison_classification il &Ll dumoydl
Z3gai JSJ 801 Lwlido yalal lily HUs] Al 03e axeig (v gkl sxeg (XY) LS cobilull

oo gblaiall aygadl dJ1s 3903 JS J2l (o ey 8)508)l Ziladl Lle dlall 6 for dal> jgas
oolibo dosd g o dailall (b yaic JS) douall wlibo axd dasld aue’ Lillg sklearn.model dusall
(b )Lzl dgl> Jo1 (o douall

Z3oaidl @uol dasl (3550 OB bl Ll 13035 13g0c Caudis «dilull dasla)l mean bowgio Cawo
douall Lolidio dasd (AcCUracy o oygiaalls) UL bl (6 axogll ylawl) dasdlgall dulsl 6 dagilly

# bl bl deSe

import pandas as pd

# ebliall agddl dcse

from sklearn.model_selection import cross_val_score

# ziladl 4o degane dylad dls
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def cv_comparison_classification(models, X, y, cv):
# el uplia obly sb| dng
cv_df = pd.DataFrame()

# zibdl e glyoull

J

# gbliuall el gad

for model in models:
# dol U9 dmall Lelde olus
acc = cross_val_score(model, X, y,scoring='accuracy', CvV=cV)
# zigadl dowall bwgia olus
acc_avg = round(acc.mean(), 4)
# ol Hlb] 3 dagdl als
cv_df[str(model)] = [ acc_avg]
cv_df.index = ['Accuracy']

return cv_df
carinail) Z3led &Y (o 4)lael) désyludl Al ddLl dasoydl 8xauidl 8 (e N
GaussianNB nb oo ¢
DecisionTreeClassifier )|l )il Cains
KNeighborsClassifier ;lyzdl )8l Caiaos

Lade aleill Z 3l 34aii) sklearn.datasets (o d>liall Guogull Hlo)l Casiuas colily pasiuws

# olly deganao

# gl sl

from sklearn.datasets import load_iris

# b Gas

from sklearn.naive_bayes import GaussianNB

# L8l §ys bos

from sklearn.tree import DecisionTreeClassifier
# ol o8l aias

from sklearn.neighbors import KNeighborsClassifier
# Ul Jeass

X, y = load_iris (return_X_y=True)

# ziladl olysis elad]

mlr_g = GaussianNB()

mlr_d = DecisionTreeClassifier()
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mlr_k = KNeighborsClassifier()

# Wl 8 zildl gog

models = [mlr_g, mlr_d, mlr_k]

# 6yladl Wl eleaz

comp_df = cv_comparison_classification(models, X, y, 4)
# Gylaall obLl HUs] slgh]

print(comp_df)

Lo Z3g-05 JS) douall Golidio dileey W zaws iy Il Ll sl diludl il 3udis yghss

GaussianhNB() DecisionTreeClassifier() KNeighborsClassifier()
Accuracy ©.9534 .96 ©.9667

Uino) Lgio Juad3 2390l ) Lis duauiSy dalisall plail z3le pusdi Guolio Juadll 130 8 lusye
OLSI 1o s lig lgadas Ll A1 eles z3les eusds Lle 15306 a4 (Sllg dixso

dossST o oo ol oo Google Colab g8go (yo Juadll dliol 2o dyzd (Sl

Q>
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